
Mantua Model Retail Price List Part No. Product Description Retail 

1 Mantua Boats 1.2 Mantua  Boats Large 
Part No. Product Description Retail Part No. Product Description Retail 
610 Santa Maria (Le Piccole) £39.99 734 Mississippi 1870 £429.00 
611 "Le Piccole2  Bounty New kit £39.99 737 Wasa man of war £795.00 
612 Cutty Sark "Le Piccole"  610mm £49.95 738 HMS Victory  1:78 scale  copper hull £475.00 
650 Vespucci  no 1 kit  1/84th £175.00 741 Amerigo Vespucci £799.00 
651 Vespucci no2  kit 1/84th £129.00 743 Anteo Harbour Tug £399.00 
652 Vespucci no3 kit 1/84th £185.00 747 San Felipe 1690 1:78 104 guns £679.00 
653 Vespucci no4 kit 1/84 £239.00 750 Royal Caroline 1:47  £329.00 
654 Vespucci no5 kit 1/84th £67.50 776 HMS Victory  1:98 scale £339.00 
655 Vespucci no6 kit 1/84th £55.00 778 La Couronne 1:98 1636 £349.00 
656 Vespucci n07 kit 1/84th £55.00 779 U.S.S. Constitution £325.00 
657 Vespucci  no8 kit 1/84th £59.00 782 HMS Victory  1:78 scale £425.00 
658 Vespucci no9 kit 1/84th (sail set) £99.00 787 Sovereign of the Seas, 1:78 £799.00 
680 Leonardo Da Vinci Swing bridge part 1 £34.99 789 Cutty Sark 1869 1:78 £420.00 
681 Leonardo Da Vinci Swing bridge part 2 £69.99 790 Dutch Whaler 1790 1:60 £299.00 
682 Leonardo Da Vinci Swing bridge part 3 £59.99 796 Soleil Royal, french first rate 1669 £795.00 
700 Police boat £47.00 798 Le Superbe,French third rate £379.00 
701 Capris £47.00 799 Amerigo Vespucci 1:100 £349.00 
702 Amalfi £47.00 
703 Kon-Tiki £149.00 1.3 Cannons & Weaponary 
704 Mincio Launch 450mm with motor £110.00 
710 18th Century main & Mizzen deck £39.00 Part No. Product Description Retail 
711 Wells Fargo Stage Coach £34.00 
712 American Covered Wagon £34.00 800 French 19C Caronade £49.95 
713 Pair of Horses for 712-711 £34.00 801 English 18C Caronade £49.95 
720 Victory kit 1/200 £129.95 802 Italian 15C Siege Cannon £39.95 
722 Lancia Armata Swedish £149.00 803 Italian 15C Falconet £39.95 
725 Titanic kit 1;200 scale ( hull only) No1 £275.00 804 French 18C Cannon £49.95 
726 Titanic Motor Kit No2 £125.00 805 Tuscan Mortar 1746 £49.95 
727 Titanic Fore & Aft Deck & Hull Decor No 3 £145.00 806 American 18C Cannon £49.00 
728 Titanic no4 Upper superstructure £325.00 807 French 36lb Naval Gun £59.00 
729 Titanic final fittings kit (5) £129.00 808 French 300m Seige Mortar £49.95 
730 R.C. Motor boat of Venice £279.00 809 Lavalette 18C Italian Cannon £39.95 
732 Le Madeline 1:50 £109.00 810 Double Ballista 16C Crossbow £59.95 
733 Britannia America cup £169.00 811 Spingarda Cannon 15C £39.95 
735 Fishing boat £105.00 812 Roman Catapult 10C £39.00 
736 Bruma cabin cruiser 1:43 £219.00 813 Norman Catapult 10C £64.00 
739 Working bilge pump £105.00 814 Byzantine Catapult 10C £64.00 
740 Between decks gun bay £159.00 815 Revolving Mace £64.00 
742 Open whaler 1850 £169.00 816 Roman Seige Tower £64.00 
744 Santa lucia smugglers boat £169.00 817 Roman Catapult £64.00 
745 Lynx baltimore schooner £169.00 
746 Victory bow section £199.95 1.4 Mantua Planes 
748 Armed Pinnace, British navy 1800 £169.00 
749 La Rose , 1835 1:47 schooner £169.00 Part No. Product Description Retail 
751 Victory long boat £169.00 
753 Trotamares motor schooner £219.00 10009 Gege free flight glider £22.95 
754 Gorch Fock 1:90 £319.00 10010 Carioca free flight glider £24.95 
755 Pinta Caravel of Columbus 1:50 £115.00 10052 Lunik 3 rubber power £22.95 
756 Nina Caravel of Columbus 1:50 £115.00 10121 Kosmo 4 with retracts £199.00 
757 Belgium Sail Trainer Ship 1:120 £179.00 10123 Kosmo 3 plane all wood  construction £119.00 
761 Santa Maria £27.00 10170000 Billy Plane £104.50 
764 HMS Victory  £29.00 10190 Go-Fly glider £129.99 
765 Cutty Sark £29.00 10350 Ginca  plane 3-4ch foam wings £79.00 
767 HMS Bounty £27.00 10351 Ginca  3-4ch with Pre-Fab fuselage foam  £94.95 
768 Black Falcon £115.00 10360 Gem 80 plane all wood construction £79.00 
769 Golden Star £95.00 10370 Mini Kosmo £84.95 
770 Roman Bireme 30BC £115.00 10380 Sia Marchetti SF 260 £179.95 
771 Albatros US Coastguard Cutter £145.00 10420 Eclips  plane 4ch pre-fab fuselage foam  £89.00 
773 Astrolabe French Corvette £239.00 10421 Eclips  plane 3ch Pre-Fab fuselage foam  £84.95 
774 Endeavour £195.00 10430 Rainbow plane 4ch Pre-Fab fuselage  £94.95 
775 Santa Maria 1492 £195.00 10450 Quo Vadis Plane 4ch moulded fuselage  £129.95 
777 HMS Shine 1712 Cutter £169.00 10470 Double sea plane 4ch foam wing £124.95 
780 Viking Ship £79.00 2021 Mini Kosmo Cowl £7.99 
781 Arm 82  £85.00 
783 HMS Shark , sloop £169.00 1.5  Aviomodelli Planes 
784 HMS Jamaica , sloop £169.00 
785 HMS Bounty £215.00 Part No. Product Description Retail 
786 HMS Peregrine , galley £219.00 70052 Grone  glider moulded fuselage foam wing £129.95 
791 Thermopylae 1:124 £95.00 70054 Super Rieti  Glider moulded fuselage  £169.00 
792 HMS President, frigate 1:50 £110.00 70058 Meteor 172  plane moulded fuselage foam £139.00 
793 HMS Racehorse , bomb ketch 1:47 £95.00 70061 Ariane Power glider moulded fuselage  £164.95 
794 Achilles 1812 pilot cutter 1:43 £95.00 70075 Cessna 177  plane moulded fuselage  £139.95 
795 French xebec 1:49 £95.00 70076 Cessna 177 mini cardinale moulded  £169.00 
797 Dutch gun boat 1830 £219.00 70077 Cessna Cardinale moulded fuselage foam £229.95 
 70080 Bipe Special  plane moulded fuselage  £169.00 
 70087 Tango  plane moulded fuselage foam wing £149.95 

24 January 2019 Page 4 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
70092 Calipso  Mk3 moulded fuselage foam  £175.00 31200 Wooden stock anchor 35x50mm  [E] £5.50 
70093 Fieseler Storch wood with  foam wing £199.00 31210 Wooden stock anchor 40x62mm  [E] £5.50 
70094 Cessna Skymaster wood with foam  £235.00 31219 Hall Anchor [C] £3.80 
70095 Piper Arrow wood with foam wing £219.95 31220 Hall anchor 35mm.  [C] £4.25 
70096 Cant- Zeta 3 engine plane wood with foam £295.00 31221 Hall anchor 40mm.  [C] £4.25 
70097 Fiesler Storch kit wood with build up wing £175.00 31222 Hall anchor 45mm.  [C] £4.25 
 31230 Hall anchor 28mm  [C] £4.25 
1.6 Mantua Boat Accessories 31232 Hall anchor 40mm  [C] £4.25 
 31233 Hall anchor 60mm  [C] £4.99 
Part No. Product Description Retail 31240 Cruiser Boat anchor  [C] £3.75 
 31241 Cruiser Boat anchor  [C] £3.49 
30130 Top lantern 6mm  [c] £3.69 31500 Wooden tops set  [A] £6.50 
30140 Top lantern 8mm C £3.69 31501 Wooden tops 20mm  [C] £2.75 
30150 Top lantern 10mm C £3.69 31502 Wooden tops 25mm  [C] £2.75 
30350 Cast lantern set La Couronne  [A] £49.95 31503 Wooden tops 35mm  [C] £2.75 
30351 Cast lantern set La Couronne  [a] £22.00 31504 Wooden tops 45mm  [C] £2.75 
30352 Lanterns for 720 Victory £7.99 31505 Wooden tops 50mm  [C] £2.75 
30360 Cylindrical lantern 20mm  [D] £9.25 31700 One ball stanchion 2x12mm  [E] £3.95 
30370 Cylindrical lantern 37mm  [D] £9.25 31780 Two ball stanchion 2x10mm  [E] £5.50 
30380 Conical lantern 20mm  [D] £9.25 31790 Two ball stanchion 2x15mm  [E] £5.95 
30390 Conical lantern 37mm  [D] £9.25 31800 Two ball stanchion 2x20mm  [E] £6.25 
30470 Brass barrel 15mm (10)  [E] £5.50 31810 Two ball stanchion 2x25mm  [E] £6.95 
30471 Dummy barrel 12mm (10)  [E] £4.25 31960 Walnut ladder 12x60mm  [E] £4.10 
30472 Dummy barrel 8mm (10)  [E] £4.25 31970 Walnut ladder 15x60mm  [E] £4.10 
30480 Brass barrel 20mm (5)  [E] £5.50 31980 Walnut ladder 18x60mm  [E] £4.10 
30481 Dummy barrel 17mm (10)  [E] £4.25 31990 Walnut ladder 20x60mm  [E] £4.10 
30490 Brass barrel 25mm (10)  [C] £5.50 32000 Walnut ladder kit  [E] £2.50 
30491 Dummy barrel 20mm (10)  [E] £4.25 32190 Burnished chain 1mm  [E] £7.75 
30500 Brass barrel 30mm (10)  [E] £5.99 32200 Burnished chain 2mm  --  1 metre length   £6.75 
30501 Dummy barrel 25mm (10)  [E] £5.50 32210 Burnished chain 3mm  [E] £6.75 
30510 Brass barrel 40mm (10)  [C] £7.99 32220 Burnished chain 3.5mm  [E] £6.75 
30511 Dummy barrel 30mm (10)  [E] £5.50 32230 Burnished chain 4mm  [E] £6.75 
30515 45mm Cannon barrel (10)  [C] £13.25 32240 Burnished chain 5mm  [E] £6.75 
30520 Gun with carriage 15mm(Deleted) £2.64 32260 Brass chain 2mm  [E] £5.75 
30521 Gun & carrier kit 15mm  [H] £2.75 32270 Brass chain 3mm  [E] £5.75 
30523 Gun & carrier kit 20mm  [H] £2.75 32280 Brass chain 3.5mm  [E] £5.75 
30531 Gun & carrier kit 25mm  [H] £2.75 32290 Brass chain 4mm  [E] £5.75 
30541 Gun & carrier kit 30mm  [H] £2.95 32300 Brass chain 5mm  [E] £5.75 
30543 Gun & carrier kit 40mm  [H] £3.50 32310 Ball Chain  1.8mm  [A] £5.50 
30544 Cannon with carriage 45mm  [H] £3.50 32311 Ball Chain 3mm  [A] £3.85 
30560 Spanish gun with carriage 40mm  [E] £3.99 32330 Walnut barrel 8x10mm  [D] £6.95 
30570 Spanish gun with carriage 30mm  [E] £3.99 32331 Walnut barrel 12x14mm  [D] £6.70 
30600 Wooden & brass carronade 20mm  [D] £4.50 32333 Walnut barrel 20x22mm  [D] £6.70 
30610 Wooden & brass carronade 24mm  [D] £4.50 32334 Walnut barrel 21x30mm  [D] £6.95 
30611 Wooden & brass carronade 30mm [D] £4.50 32350 Walnut barrel 15x17mm (10)  [D] £6.70 
30660 Brass falconet 15mm  [E] £6.55 32360 Boxwood Barrels 8x10mm  [D] £6.75 
30670 Brass falconet 22mm [H] £6.55 32361 Boxwood Barrels 12x14mm  [D] £6.75 
30800 Brass gun 18x37mm modern  [E] £8.25 32362  Box wood barrel 20x22mm  [D] £6.75 
30810 Cannon Barrel 55mm (1) £5.50 32363 Box wood barrel 25x30  [D] £6.95 
30811 Cannon Barrel 105mm Lancia amarta £8.95 32364 Boxwood barrel 15x17  [D] £6.75 
30820 Walnut capstan 8x12mm  [E] £2.25 32380 Brass bell 5x6mm  [E] £1.30 
30830 Walnut capstan 10x15mm  [E] £2.25 32381 Brass bell 5x5mm  [E] £1.30 
30840 Walnut capstan 14x20mm  [E] £2.25 32390 Brass bell 6x8mm  [E] £1.30 
30850 Walnut capstan 8x10mm  [E] £3.99 32400 Brass bell 8x10mm  [E] £1.39 
30851 Walnut capstan 13x16mm  [E] £3.99 32401 Brass Bell  (776)  3x4mm  [E] £1.39 
30860 Wooden capstan 15mm  [E] £4.75 32420 Box wood bucket 8x9mm  [E] £2.20 
30861 Wooden capstan 20mm  [E] £4.75 32421 Box wood bucket 12x13mm  [E] £2.20 
30862 Wooden capstan 25mm  [E] £4.75 32422 Box wood bucket 5x7mm  [E] £2.20 
30870 Brass capstan 6x9mm  [E] £1.25 32450 Walnut stanchion 6mm  [H] £1.65 
30880 Brass capstan 8x10mm  [E] £1.25 32451 Box wood stanchions 6mm  [H] £1.65 
30890 Brass capstan 10x13mm  [E] £1.45 32460 Walnut stanchion 8mm  [H] £1.65 
30900 Brass capstan 12x15mm  [E] £1.45 32461 Box wood stanchions 8mm  [H] £1.65 
30920 Brass windlass 8x8x40mm  [E] £5.50 32470 Walnut stanchion 10mm  [H] £1.65 
30930 Brass windlass 10x10x52mm  [E] £5.50 32471 Box wood stanchions 10mm  [H] £1.65 
30960 Sail winch 32x50mm  [E] £16.25 32480 Walnut stanchion 12mm  [H] £1.65 
30970 Walnut & brass windlass 26x70mm  [E] £5.95 32481 Box wood stanchions 12mm  [H] £1.65 
30971 Walnut cleat 6x12mm  [E] £1.45 32490 Walnut stanchion 14mm  [H] £1.65 
30972 Rope Cleats 1.5x5mm  [A] £2.75 32491 Box wood stanchions 14mm (H] £1.65 
30973 Rope Cleats 1.5x6mm  [A] £2.75 32500 Walnut stanchion 16mm  [H] £1.75 
30977 Metal Cleats 2.5x14mm  [C] £2.75 32501 Box wood stanchions 16mm  [H] £1.65 
30978 Metal cleats 4.5x24mm  [C] £2.75 32505 Walnut stanchion 18mm  [H] £1.65 
30980 Walnut windlass 34x50mm  [D] £2.75 32506 Box wood stanchions 18mm  [H] £1.65 
30981 Walnut windlass 23x30mm  [D] £2.75 32510 Twin walnut stanchions 12mm  [H] £1.65 
30982 Walnut windlass 34x70mm  [D] £2.75 32511 Twin walnut stanchions 10mm  [H] £1.65 
30990 Walnut windlass 34x50mm  [D] £2.75 32512 Twin walnut stanchions 15mm  [H] £1.65 
31050 Grapnel anchor 3 arm 50mm  [A] £3.95 32520 Twin box wood stanchions 10mm  [H] £1.65 
31080 Bulb 4.5volt white  [E] £1.85 32521 Twin box wood stanchions 12mm  [H] £1.65 
31081 Bulb 4.5volt green  [E] £1.85 32522 Twin box wood stanchions 15mm  [H] £1.65 
31082 Bulb 4.5volt red  [E] £1.85 32530 Twin walnut stanchions 10mm  [H] £1.65 
31180 Victory Anchors for 720 (2) [A] £4.50 32531 Twin walnut stanchions 12mm  [H] £1.65 
31190 Wooden stock anchor 28x40mm  [E] £5.50 32532 Twin walnut stanchions 15mm  [H] £1.65 

24 January 2019 Page 5 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
32535 Twin box wood stanchions 10mm  [H] £1.65 33982 Metal cast & chromed hooks 5x15mm  [A] £2.99 
32536 Twin box wood stanchions 12mm  [H] £1.65 34000 Sail Cloth 400mm x 800mm [D] £7.55 
32537 Twin box wood stanchions 15mm  [H] £1.65 34002 Sails for Sharke (783)  [A] £34.00 
32540 Brass stanchions 6mm  [H] £2.70 34003 H.M.S. Jamaica sails  [A] £39.00 
32550 Brass stanchions 8mm  [H] £2.70 34004 Bounty Sails  [A] £55.00 
32560 Brass stanchions 12mm  [H] £2.70 34005 Peregrine Sails  [A] £58.00 
32570 Brass cording roller 3mm  [E] £3.50 34006 Sails For Soveriegn of the Sea  [A] £69.00 
32571 Box wood cording roller 2.5mm  [E] £1.54 34008 Cutty sark sails  [A] £99.00 
32580 Brass cording roller 4mm  [E] £3.50 34009 Dutch Whaler sails  [A] £37.00 
32581 Box wood cording roller 3.5mm  [E] £1.54 34010 Sails for Soleil Royal  [A] £58.00 
32590 Brass cording roller 5mm  [E] £3.50 34011 President sails  [A] £39.00 
32591 Box wood cording rollers 5mm  [E] £1.54 34012 Race Horse Sails  [A] £24.00 
32600 Brass cording roller 6mm  [E] £3.50 34013 Achilles Sail Set  [A] £18.00 
32601 Box wood cording rollers7mm  [E] £1.54 34014 Sail set for Sciabecco  [A] £18.00 
32610 Brass cording roller 8mm  [E] £3.50 34015 Thermopylae Sails  [A] £74.00 
32611 Box wood Cording roller 9mm  [E] £1.54 34020 Vespucci sails  [A] £99.00 
32620 Brass cording roller 14mm  [E] £3.99 34021 San Felipe sails  [A] £69.00 
32621 Box wood Cording roller12mm  [E] £1.90 34022 1800 Cutter Sails  [A] £24.00 
32630 Brass cording roller 10mm  [E] £3.99 34023 La rose sail set  [A] £49.00 
32631 Box wood Cording roller  15mm  [E] £1.90 34024 Royal caroline Sails  [A] £72.00 
32640 Brass cording roller 12mm  [E] £3.99 34025 Victory Sails 782/738  [A] £94.00 
32641 Box wood Cording roller18mm  [E] £2.29 34027 Sails For The Vasa  [A] £65.00 
32680 Walnut belaying pin 8mm  [H] £1.45 34030 Sail set for Britannia  [A] £52.00 
32681 Box wood belaying pin 8mm  [H] £1.45 34201 Black falcon sails  [A] £52.00 
32690 Walnut belaying pin 10mm  [H] £1.45 34202 Caesar sails  [A] £33.00 
32691 Box wood belaying pin 10mm  [H] £1.45 34203 Albatros Sail Set  [A] £36.00 
32700 Walnut belaying pin 12mm  [H] £1.45 34204 Astrolabe Sails  [A] £78.00 
32701 Walnut belaying pin 14mm  [H] £1.45 34205 Sail for endevour  [A] £62.00 
32702 Walnut belaying pin 16mm  [H] £1.45 34206 Santa maria sails  [A] £42.00 
32703 Walnut belaying pin 18mm  [H] £1.45 34207 Victory Sails 776  [A] £94.00 
32704 Box wood belaying pin 12mm  [H] £1.45 34208 La Couronne sail set  [A] £45.00 
32705 Box wood belaying pin 14mm  [H] £1.45 34209 Golden Star sails  [A] £45.00 
32706 Box wood belaying pin 16mm  [H] £1.45 34210 Sails USS Constitution  [A] £84.00 
32707 Box wood belaying pin 18mm  [H] £1.45 34211 Arm Sail set  [A] £27.00 
32720 Box wood nails 6mm  [E] £1.45 34212 Viking Sail set  [A] £18.00 
32721 Box wood nails 8mm  [E] £1.45 34213 Dutch Gun boat sails  [A] £36.00 
32722 Box wood nails 11mm  [E] £1.45 34215 Le Superb Sails  [A] £99.00 
32723 Walnut nails 6mm  [E] £1.45 34216 Ameigo Vespucci 1/100 Sails  [A] £89.00 
32724 Walnut nails 8mm  [E] £1.45 34217 Nina sail set  [A] £25.00 
32725 Walnut nails 11mm  [E] £1.45 34218 Pinta Sails  [A] £42.00 
32730 Brass belaying pin 5mm £2.10 34219 Gorch Fock Sails  [A] £84.00 
32740 Brass belaying pin 8mm £2.10 34220 Life ring 22mm  [E] £1.65 
32750 Brass belaying pin 12mm [H] £2.10 34225 Life ring 16mm  [E] £1.65 
32780 Brass ring 2mm  [A] £3.50 34240 Life ring 26mm  [E] £1.65 
32790 Brass ring 3mm  [A] £3.50 34260 Life ring 30mm  [E] £1.65 
32800 Brass ring 4mm  [A] £3.50 34280 Black rigging rope 0.25mm  [H] £1.99 
32810 Brass ring 5mm  [A] £3.50 34290 Black rigging rope 0.5mm  [H] £1.99 
32820 Brass ring 6mm  [A] £3.50 34300 Black rigging rope 0.75mm  [H] £1.99 
32830 Brass ring 8mm  [A] £4.10 34310 Black rigging rope 1mm  [H] £2.65 
32840 Brass ring 10mm  [E] £4.10 34350 Beige rigging rope 0.25mm  [H] £1.99 
32860 Burnished ring 2mm pk20  [H] £2.65 34360 Beige rigging rope 0.5mm  [H] £1.99 
32870 Burnished ring 3mm  [H] £2.65 34370 Beige rigging rope 0.75mm  [H] £1.99 
32880 Burnished ring 4mm  [H] £2.65 34380 Beige rigging rope 1mm  [H] £2.65 
32900 Coppering 5x15mm  [E] £5.25 34390 Beige rigging rope 1.25mm  [H] £3.30 
32902 Victory dummy coppering for  720  [A] £19.95 34391 Beige rigging rope 1.75mm  [H] £3.99 
32950 Sq Brass stanchion 2.5x2.5x14mm  [E] £2.95 34400 Brass port hole 6x10mm 6 hole(PK6)   [E] £7.95 
32960 Sq Brass stanchion 2.5x2.5x16mm  [E] £2.95 34410 Brass port hole 8x12mm 6 hole(PK6)   [E] £9.95 
32970 Sq Brass stanchion 2.5x2.5x12mm  [E] £5.36 34420 Brass port hole 10x14mm 6 hole(PK6)    £9.95 
3301042 Gepard  part £5.25 34430 Brass port hole 12x16mm 6 hole(PK6)    £9.95 
33020 Brass eye screws 3.5x8mm  [H] £2.75 34440 Brass port hole 14x18mm 6 hole(PK6)    £9.95 
33021 Brass eyelet 3.5x8mm.  [E] £1.45 34450 Brass port hole 16x20mm 6 hole(PK10)    £9.95 
33030 Brass eye screws 4.5x10mm  [H] £2.75 34480 Standard port holes 5mm(PK10)   [E] £9.25 
33040 Burnished eyelet 3x12mm  [H] £1.45 34490 Standard port holes 6mm(PK10)   [E] £9.25 
33045 Burnished  Eyelet 2.2x8  [H] £1.45 34500 Standard port holes 8mm(PK10)   [E] £9.25 
33050 Burnished eyelet Discontinued- use 33045 £1.45 34510 Standard port holes 10mm(PK10)   [E] £9.25 
33060 Brass eyelet 3x12mm  [H] £1.45 34520 Standard port holes 12mm(PK10)   [E] £9.50 
33061 Brass eyelet 3.5x20mm.  [E] £1.45 34540 Standard port holes 16mm(PK10)   [E] £13.25 
33070 Brass eyelet 1.8x8mm  [H] £1.45 34550 Standard port holes 18mm(PK10)   [E] £13.25 
33120 Double brass bit 6x20mm  [K] £3.45 34560 Standard porthole 4mm(PK10)   [E] £9.25 
33200 Single brass bitt 3x4mm  (1pc) [E] £1.10 34570 Bull eye 5mm(PK10)   [E] £9.25 
33210 Single brass bitt 4x5mm  [E] £1.10 34580 Bull eye 6mm(PK10)   [E] £9.25 
33220 Single brass bitt 5x6mm  [E] £1.10 34870 Brass stacks 10mm **DISCONTINUED** £1.65 
33240 Single brass bitt 8x10mm  [E] £1.10 34871 Brass stacks 55mm  [A] £2.95 
33450 Santa maria sails silk  [A] £17.95 34900 Wooden pump 15mm  [E] £3.95 
33460 Black falcon sail set  [A] £12.95 34905 Wooden pump 20mm  [E] £3.95 
33470 Caesar sail set silk  [A] £13.93 35010 Box wood steering wheel set 20mm  [E] £2.99 
33480 Pinta sail set silk  [A] £17.95 35020 Box wood steering wheel set 30mm  [E] £2.99 
33490 Nina sail set silk  [A] £10.95 35030 Box wood steering wheel set 38mm  [E] £2.99 
33500 Golden star silk sails  [A] £12.95 35050 Box wood steering wheel 20mm  [E] £2.49 
33980 Metal Cast & Chromed secuity hooks  £2.99 35060 Box wood steering wheel 30mm  [E] £2.49 
33981 Metal cast & Chromed security hooks  £2.99 35070 Box wood steering wheel 38mm  [E] £2.75 

24 January 2019 Page 6 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
35071 Cast steering wheel 44mm  [C] £4.25 36540 Set of plastic oars  [E] £1.65 
35072 Cast steering wheel 38mm  [C] £3.50 36600 Brass rose ornaments 12mm(10)  [E] £2.45 
35073 Cast steering wheel 30mm  [C] £3.50 36610 Brass rose ornaments 10mm(10)  [E] £2.45 
35074 Cast steering wheel 24mm  [C] £3.25 36620 Brass rose ornaments 8mm(10)  [E] £2.45 
35075 Cast steering wheel 20mm  [C] £3.25 36630 Brass rose ornaments 4mm(10)  [E] £2.45 
35076 Cast steering wheel 15mm  [C] £3.25 36650 Mouse for stay head 4x4mm  [H] £1.45 
35200 Victory figure head  [A] £14.95 36700 Brass thimble 2.5mm  [H] £1.45 
35201 Figure head victory (200)  [A] £13.25 36750 Eyebolt with ring 1.8x8mm  [H] £1.45 
35237 720 Victory Brass laser sheet  [A] £18.95 36760 Eyebolt with Ring 2.8x4.5mm(10)  [A] £5.99 
35245 Victory etched plate DELETED £58.30 36800 Santa Maria rear casting  [A] £19.95 
35246 Victory 776 Brass work hammocks  [A] £39.99 36801 Santa Maria photo etched plate  [A] £22.00 
35250 Victory drip mouldings 776  [E] £2.75 36802 Santa Maria laser  wood parts  [A] £16.75 
35260 Victory grip mouldings 776  [E] £2.65 36810 USS Constition brass casting stern  £37.00 
35600 Figure head La Courone  [A] £14.50 36840 Turn buckle 15mm (1)  [E] £2.25 
35610 Set of angels  [A] £4.95 36841 Turnbuckle 25mm ( 1)  [E] £2.59 
35620 Set of angels heads  [A] £4.95 36940 Burnished dead eye stop 3mm(20)  [H] £1.65 
35630 Crown with fleur-de-lys  [A] £6.75 36950 Burnished dead eye stop 5mm(20)  [H] £1.65 
35640 Warrior heads  [A] £2.99 36960 Burnished dead eye stop 7mm(20)  [H] £1.65 
35650 Right & left angels  [A] £2.45 36961 Burnished dead eye stop 9mm(20)  [H] £1.65 
35660 Castings for the La Courone  [A] £1.25 36970 Chain plate with dead eye 3mm  [E] £3.95 
35670 Leafs  [A] £6.75 36980 Chain plate with dead eye 5mm  [E] £3.95 
35680 Virgin mary  [A] £8.15 36990 Chain plate with dead eye 7mm  [E] £3.95 
35690 Pair of doors  [A] £10.95 36991 Chain plate with dead eye 9mm  [E] £3.95 
35700 Cast ornaments  [A] £37.50 37000 Walnut single block 3mm  [H] £1.35 
35710 Set of stanchions & fleur-de-lys  [A] £15.95 37001 Single box wooden block 3mm  [H] £1.35 
35720 Brass dummy stanchions 12mm R  [E] £2.15 37010 Walnut single block 5mm  [H] £1.35 
35721 Brass dummy stanchions 12mm L  [E] £2.15 37011 Single box wooden block 5mm  [H] £1.35 
35730 Brass dummy stanchions 8mm  [E] £2.15 37020 Walnut single block 7mm  [H] £1.35 
35740 Brass dummy stanchions 6mm  [E] £2.15 37021 Single box wooden block 7mm  [H] £1.35 
35750 Fleur-de-lys large  [E] £1.99 37030 Walnut single block 10mm  [H] £1.35 
35760 Fleur-de-lys small  [E] £1.99 37031 Single box wooden block 10mm  [H] £1.35 
35860 Brass cleat modern 20mm  [E] £1.65 37050 Walnut double block 3mm  [H] £1.65 
35900 Modern horn  [A] £4.95 37051 Double box wooden block 3mm  [H] £1.65 
36010 White wood grating 1x32x32mm  [E] £3.95 37060 Walnut double block 5mm  [H] £1.65 
36020 White wood grating 1.5x36x36mm  [E] £3.95 37061 Double box wooden block 5mm  [H] £1.65 
36030 White wood grating 2.5x52x52mm  [E] £3.95 37070 Walnut double block 7mm  [H] £1.65 
36040 White wood  grating 3x62x62mm  [E] £3.95 37071 Double box wooden block 7mm  [H] £1.65 
36071 Cast steering wheel 44mm DELETED £4.12 37080 Walnut double block 10mm  [H] £1.65 
36100 White wood grating kit 3x62x62mm  [H] £3.25 37081 Double box wooden block 10mm  [H] £1.65 
36160 Brass mast foot 6mm  [E] £2.15 37100 Walnut 3 eye block 5mm  [H] £1.99 
36170 Brass mast foot 8mm  [E] £2.15 37101 3 Eye box wooden block 5mm  [H] £1.99 
36180 Brass mast foot 10mm  [E] £2.15 37110 Walnut 3 eye block 7mm  [H] £1.99 
36190 Brass mast foot 12mm  [E] £2.15 37111 3 Eye box wooden block 7mm  [H] £1.99 
36210 Wooden round houses 18x46mm  [E] £2.15 37120 Walnut 3 eye block 10mm  [H] £2.15 
36220 Wooden round houses 12x22mm  [E] £2.15 37121 3 Eye box wooden block 10mm  [H] £2.15 
36300 Brass Port Hinge 10mm  [H] £2.75 37130 3 Eye box wood sister block 8mm  [E] £1.25 
36310 Brass chain plate 20mm  [E] £2.15 37131 3 Eye walnut sister block 8mm  [E] £1.25 
36320 Burnished chain plate ass 8x8x8mm  [E] £2.75 37132 Walnut sister block 8mm  [E] £1.25 
36464 Wooden life boat 108mm  [A] £10.95 37133 Box wood sister block 8mm  [E] £1.25 
36465 Wooden life boat 72mm  [A] £9.95 37140 3 Eye box wood sister block 12mm  [E] £1.25 
36466 Wooden life boat 105mm  [A] £10.95 37141 3 Eye walnut sister block 12mm  [E] £1.25 
36467 Wooden life boat 83mm  [A] £10.95 37142 Walnut sister block 12mm  [E] £1.25 
36468 Motor boat kit 97mm  [A] £14.95 37143 Box wood sister block 12mm  [E] £1.25 
36469 Diesel boat kit 102mm  [A] £14.95 37150 3 Eye box wood sister block 16mm  [E] £1.45 
36470 Motor boat kit 87mm  [A] £10.95 37151 3 Eye walnut sister block 16mm  [E] £1.45 
36471 Whale boat kit 100mm  [A] £10.95 37160 Walnut dead eye 2.5mm  [H] £1.45 
36472 Motor boat kit 96mm  [A] £10.95 37161 Box wood dead eye 2.5mm  [H] £1.45 
36473 Oar boat kit 90mm  [A] £10.95 37170 Walnut dead eye 3.5mm  [H] £1.45 
36474 Motor yacht kit 123mm  [A] £16.50 37171 Box wood dead eye 3.5mm  [H] £1.45 
36475 Diesel boat kit 125mm  [A] £17.95 37180 Walnut dead eye 5mm  [H] £1.45 
36476 Motor boat kit 122mm  [A] £14.95 37181 Box wood dead eye 5mm  [H] £1.45 
36477 Motor boat kit 104mm  [A] £14.95 37190 Walnut dead eye 7mm  [H] £1.45 
36478 Whale boat kit 125mm  [A] £10.95 37191 Box wood dead eye 7mm  [H] £1.45 
36479 Oar boat kit 103mm  [A] £10.95 37200 Walnut dead eye 9mm  [H] £1.65 
36480 Woodfen lifeboat 95mm  [A] £12.25 37201 Walnut dead eye 12mm  [H] £1.65 
36481 Wooden life boat 105mm  [A] £12.25 37202 Walnut dead eye 15mm  [F] £2.15 
36482 Boat kit 115mm  [A] £12.25 37203 Walnut dead eye 18mm  [F] £2.15 
36485 Life boat Titanic  [A] £5.99 37204 Box wood dead eye 9mm  [H] £1.45 
36486 Plastic /wood lifeboat 29.5mm  [A] £6.25 37205 Box wood dead eye 12mm  [H] £1.45 
36487 wood lifeboat 55x 13 mm  [A] £6.25 37206 Box wood dead eye 15mm  [H] £2.15 
36488 Oar boat 59x13x11.5  [A] £6.25 37207 Box wood dead eye 18mm  [H] £2.15 
36489 Wooden Lifeboat Kit 59mm.  [A] £6.25 37210 Walnut convex dead eye 7mm  [H] £2.15 
36490 Plastic/wood life boats 65mm  [A] £6.50 37211 Walnut convex dead eye 5mm  [H] £2.15 
36500 Plastic/wood life boats 95mm  [A] £6.50 37212 Box wood convex dead eye 5mm  [H] £2.15 
36500/1 Plastic lifeboat 95mm  [A] £4.62 37213 Box wood convex dead eye 7mm  [H] £2.15 
36510 Plastic/wood life boats 105mm  [A] £6.50 37260 Box wood heart block 10mm  [E] £1.20 
36510/1 Plastic lifeboat 105mm  [A] £4.51 37261 Walnut heart block 10mm  [E] £1.45 
36520 Plastic/wood life boat 115mm  [A] £6.50 37270 Walnut open heart block 10mm-deleted  £1.45 
36529 Victory 776 life boat set (bread & butter)   £59.95 37280 Rudder hinge 2x10mm  [E] £3.45 
36530 Life boat set wood/plastic hull for Victory   £34.00 37290 Box wood convex dead eye 7mm  [E] £1.20 
36532 Victory lifeboat set for 720 (6)  [A] £29.99 37291 Walnut heart block 7mm  [E] £1.45 

24 January 2019 Page 7 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
37360 Port hinge 0.3x2x10mm  [H] £8.45 42370 Gun with carriage kit 30mm  [A]  £3.45 
37430 Figure head Black falcon  [A] £13.25 42390 Gun with carriage kit 36mm  [A] £3.45 
37431 Astrolabe figure head  [A] £13.25 42400 Falconet 36mm  [A] £3.25 
37432 Cast lion Figurehead  [A] £6.95 42480 Gun with carriage 1600 kit 40mm  [A] £5.50 
37433 Figure Head Le Superbe  [A] £36.95 42490 Gun with carriage 1600 kit 31mm  [A] £4.25 
37434 Victory flag 1:200  [A] £5.25 42530 Carronade kit 23mm  [A] £5.45 
37435 Flag for war carriage  [A] £3.45 42540 Falconet on frame kit 20mm deleted £2.48 
37436 Vespucci flag piccola  [A] £3.95 42560 Wooden stock anchor 75mm  [E] £6.75 
37437 Flags for Endeavour  [C] £6.75 42561 Wooden stock Anchor 42x65mm  [A] £6.50 
37438 Vasa flag set  [A] £5.75 42590 Iron stock anchor 38x50mm Cutty sark   £3.95 
37439 Nina Flag  [C] £6.95 42591 Anchor 11x20 Mercator  [A] £3.95 
37440 Jolly roger flag 20x30mm  [E] £2.25 42595 Anchor Vespucci 30x40  [A] £4.25 
37441 Italy flag 20x30mm  [E] £1.25 42600 Iron stock anchor 38 x 50 Thermopylae   £4.25 
37442 Union Jack flag 20x40mm  [E] £1.25 42601 Brass nails 0.7x8mm  [H] £1.99 
37443 France flag 20x30mm  [E] £1.25 42602 Brass nails 0.7x10mm   £1.54 
37444 USA flag 20x40mm  [E] £1.25 42603 Brass nails 0.7x12mm   £1.54 
37445 Spain flag 20x30mm  [E] £2.25 42615 Ornimental nails (4)  [A] £7.95 
37446 Germany flag 20x35mm  [E] £2.25 42620 Grapnel anchor 20x 30mm  [A] £4.25 
37447 Signal  flags 90x130mm  [C] £8.99 42621 Anchor 4 hook 37x47  [A] £4.25 
37448 Italian navy flag 20x30mm  [E] £2.25 42630 Wooden tops kit 75mm  [E] £4.25 
37449 Astrolabe flag set  [C] £5.75 42640 Wooden tops kit 60mm  [E] £4.25 
37450 Santa Marie Flags  [C] £5.75 42650 Wooden tops kit 45mm  [E] £4.25 
37451 Flag Victory  [C] £6.75 42660 Wooden tops kit 35mm  [E] £4.25 
37452 Set of flags La Cournonne  [C] £6.75 42690 White wood  grating kit 42mm  [E] £2.95 
37453 USA flag 30x45mm   [E] £3.50 42700 White wood  grating kit 34mm  [E] £2.95 
37454 USS Constitution Flag  [C] £5.75 42720 Brass ports 10x11mm  [E] £4.25 
37455 Signal flags 55x80  [C] £5.75 42722 Ports (vespucci 7x8mm  [A] £3.25 
37456 Roman imperial standard  [C] £4.50 42730 Metal frames & ports 8x8mm  [E] £6.75 
37457 Mercator Flag  [A] £3.45 42740 Metal frames & ports 9x9mm  [E] £6.75 
37458 Flag Trotamares/bruma  [A] £2.95 42750 Metal frames & ports 14x14mm  [E] £6.75 
37459 Britania flag  [A] £2.25 42791 Flat Flange  [E] £2.75 
37460 Right & left ornaments Endevour  [E] £4.50 42800 Trench stanchion in brass 10mm  [E] £6.75 
37461 Flag Lancia Armata £6.95 42810 Trench stanchion in brass 16mm  [E] £6.75 
37470 Brass Lion heads  [E] £2.25 42820 Sq Brass stanchion 4x4x26mm  [A] £10.95 
37471 Fleu-de-Lys  [E] £2.75 42830 Walnut stanchion 3x13mm  [E] £1.65 
37480 Brass ornaments 100mm  [E] £4.25 42840 U Supports 2.5x4.5mm  [E] £2.95 
37481 Brass ornaments 500mm  [E] £6.75 42844 Small bridges 2x8mm  [E] £2.75 
37482 Brass ornaments 500mm  [E] £6.75 42860 Brass chain plate ass 7mm  [E] £2.75 
37483 Brass ornaments 500mm  [E] £6.75 42870 Brass chain plate ass 5mm  [E] £2.75 
37484 Brass ornaments 100mm  [E] £4.25 42875 Chain Plate 15mm  [E] £2.75 
37485 Fleur de lys100mm  [E] £4.25 42880 Brass chain plate ass 5mm  [E] £2.75 
37486 Brass fine mesh  23x100mm  [E] £3.75 42882 Chain plate 2x16mm Thermopylae  [E] £2.75 
37487 Brass fine mesh 35x100mm  [E] £3.75 42885 C/plate brass 2x16mm A.Vespucci 799   £2.95 
37490 Viking ship shield set  [E] £1.65 42890 Brass port hinges 12mm  [E] £2.95 
40099 Metal cleats 12mm  [A] £3.95 42900 Brass pintles 7mm  [E] £9.25 
40100 Metal cleat 18mm  [A] £5.25 42910 Rudder hinge 6x21x4mm  [G] £3.95 
40101 Metal cleat 22mm  [A] £5.25 42920 Rudder hinge 4x15x2.5mm  [G] £3.95 
40110 Metal cleat with bit 18mm  [A] £3.45 42940 Port frames 10x12mm  [E] £3.75 
40111 Metal cleat with bit 22mm  [A] £3.45 42950 Half round port frames 6x12mm  [E] £3.75 
40200 Life boat cranes Vespucci  [A] £4.25 42960 Pagoda drip moulding 19mm 738-782  [E] £2.95 
40201 Life boat cranes Vespucci  [A] £5.75 42970 Plain drip moulding 19mm 738-782  [E] £2.95 
40260 Brass channel brackets 8x12mm  [E] £2.25 43000 Double Stanchions 2 x20  [A] £5.25 
40300 Netting 70x700mm  [E] £2.25 43001 Double Stanchions 5x 15mm  [A] £5.25 
40305 Life Guard rings 11x3.5mm  [A] £3.50 43200 Pins 1x3mm  [E] £1.99 
40307 Wooden Balls  [A] £5.29 43201 Pins 1x5mm  [E] £1.99 
40320 Brass moulding 200mm deleted £2.22 43250 Brass steering wheel 30mm deleted £4.95 
42030 Capstan kit 16mm  [E] £5.45 43260 Cast steering wheel 15mm deleted £1.93 
42040 Wood & metal capstan 27mm  [E] £13.25 43400 Lamps 7x7.2mm £6.75 
42070 Box wood capstan 13x16mm  [E] £2.75 43401 Mast heads vespucci  [A] £4.25 
42080 Box wood capstan 8x10mm  [E] £2.75 43402 Vespucci bitt 3x5  [A] £6.75 
42090 Brass pump 20mm  [E] £3.45 43403 Brass bits 4x6mm  [A] £6.75 
42100 Brass winch 18mm Thermopylae  [E] £6.75 43404 Yard Spacers 3x9mm  [A] £4.25 
42110 Brass capstan 12mm  [E] £1.45 43405 Radar & Horn  [A] £2.75 
42130 Brass binnacle 6mm  [E] £1.45 43406 Compass set  [A] £5.45 
42150 Walnut windlass 75mm  [A] £5.95 43407 Rudder Hinges Vespucci  [A] £4.25 
42170 Brass winch 50mm  [A] £9.45 43408 Vespucci 2.5x12 Turnbuckles (pk10) [A] £7.95 
42190 Burnished brass windlass 65mm  [A] £13.95 43409 Vespucci 3x15.3mm Turnbuckles (pk10)  £7.95 
42210 Brass pump kit 40mm  [A] £16.95 43410 Wheels & Stanchions Vespucci  [A] £9.25 
42230 Wooden & brass pump 21mm  [E] £4.45 43411 Chimney set Vespucci 741  [A] £5.45 
42240 Brass pump kit 25mm  [E] £3.45 43412 Small guns Vespucci  [A] £6.75 
42250 Walnut ladder kit 100mm x2x5  [E] £1.95 43413 Support Vespucci  [A] £2.75 
42260 Walnut ladder kit 5x40mm  [E] £1.95 43414 Lamps Vespucci  [A] £4.25 
42270 Walnut ladder kit 3.5x30mm  [E] £1.95 43415 Propeller shaft Vespucci  [A] £4.25 
42271 Boat stairs 2.5x3x40mm  [E] £1.95 43416 Compass Vespucci  [A] £2.75 
42290 Brass dummy barrel 25mm  [A] £8.25 43417 Capstan & Bitts Vespucci 741  [A] £2.95 
42300 Brass dummy barrel 30mm  [A] £8.25 43418 Windlass for Vespucci  [A] £5.45 
42310 Cast dummy barrel 30mm  [A] £34.00 43419 Capstain Vespucci  [A] £5.25 
42320 Brass barrel 40mm  [A] £6.25 43420 Grooved rings Vespucci  [A] £5.25 
42330 Brass barrel 31mm  [A] £5.45 43421 Cleat Rollers 3x8mm  [A] £4.25 
42350 Cast barrel 36mm (1)   [A] £2.95 43422 Set of Four Copmpasses  [A] £4.25 
42360 Cast falconet 36mm  (1)   [A] £2.95 43423 Set of three windlasses  [A] £9.75 

24 January 2019 Page 8 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
43424 Cross bits vespucci  [A] £4.25 44103 Astrolabe stern in laser wood  [A] £24.00 
43425 Set of Guns  [A] £5.45 44104 Laser etched decoration for Le Superbe   £42.00 
43426 Brass Bitts Vespucci 741  [A] £2.95 44105 Endevour laser windows  [A] £10.95 
43498 Housing  [A] £10.25 44106 Laser Etched decoration for 738 & 782  [A] £59.00 
43499 Vespucci clear housing  [A] £10.25 44107 Le Soleil Royal laser parts  [A] £21.00 
43500 4 Blade propeller 45mm  [A] £13.25 44108 Victory 1:98  laser cut decorations  [A] £56.00 
43501 4 Blade propeller 42mm  [A] £13.25 44109 Laser wood part for st Felipe  [A] £22.00 
43760 Victory flag set 782 1;78  [C] £11.25 44111 Peregrine galley laser etched  [A] £22.00 
43770 Shark-Bounty- peregrine white ensign  £4.50 44112 Vasa laser etched parts  [A] £6.75 
43780 Jamaica flag  [E] £1.75 44113 Thermopylae etched wood deleted  [A] £9.90 
43810 Flag Elisabeth  [a] £13.25 44114 Victory 720 laser rear cabin  [A] £18.95 
43820 Flag for Cutty Sark  [E] £3.45 44115 Vespucci 799  laser etched parts  [A] £15.95 
43830 Sovereign of the sea  Flag set  [A[ £13.50 44120 Victory stern decoration for 720  [A] £15.95 
43840 Flag set Dutch whaler  [C] £5.75 44500 SOS Full Casting Set  [A] £450.00 
43850 Flags for Thermopyle red ensign 47x65   £3.45 44530 Cutty Sark casting tray deleted  [A] £28.54 
43860 Flag President/Racehorse  [E] £3.45 44608 Vespucci parts  [A] £134.00 
43880 Achilles Flag 52x90  [E] £2.45 44610 Victory 782. Casting Decoration Tray  [A] £54.00 
43881 Linx flag set  [C] £3.45 44630 Cutty sark casting tray deleted  [A] £33.00 
43890 Sciabecco flag  [C] £5.50 44640 Dutch Whaleboat casting tray  [A] £64.00 
43891 Soleil Royal flag  [A] £11.25 44640-1 Brass casting for 790  [A] £9.95 
43892 Amerigo vespucci Flags 741  [A] £6.75 44650 Brass Casting set 'President'  [A] £27.00 
43893 San Felipe Flag set  [A] £13.50 44660 Rear Transom castings for Race horse   £27.00 
43894 Caroline flag white ensign 73x118  [A] £5.75 44670 Thermopylae decoration tray  [A] £27.00 
43895 Flags for Armed Launch- Red ensign  £3.45 44680 Decorations for Sciabecco  [A] £27.00 
43904 Mississippi n/plate (wood) 70x115mm  [E] £7.64 44681 Antio casting set  [A] £72.00 
43908 Victory n/plate (wood) 40x70mm  [A] £7.64 44682 St Felipe Casting set  [A] £339.00 
43909 Victory n/plate (wood) 66x115mm  [A] £7.64 44684 whaler cast brass items (742)  [A] £18.95 
43912 Golden Hind name plate wood 40x70mm   £7.64 44686 Lancia amarti fusiona  [A] £9.95 
43913 Pinta Name plate 40x70mm  [A] £7.64 44687 Royal Caroline casting set  [A] £134.00 
43914 Nina name plate wood 40x70mm  [A] £7.64 44688 Victory cast brass parts 738 £55.00 
43917 Bounty n/plate (wood) 40x70mm  [A] £7.64 44701 Vasa decorative sheet bow deck  [A] £85.00 
43918 Bounty name plate wood 66x115mm  [A] £7.64 44702 Vassa cast set  [A] £79.00 
43920 Santa marie name plate 40x70mm  [A] £7.64 44703 Vassa cast set  [A] £78.00 
43922 Constitution name plate 65x115mm  [A] £7.64 44704 Vasa decoration sheet  [A] £78.00 
43926 Name plate Cutty sark 40x70mm  [A] £5.75 44705 Vasa cast set  [A] £115.00 
43929 Endevour name plate 40x70mm  [A] £7.64 44706 Vasa cast set  [A] £115.00 
43930 Sovereign-o-sea  n/plate (wood)  £7.64 45010 Figure head soverien of the sea  [A] £38.00 
43931 Golden Star name plate wood 50x87mm   £7.64 45020 Victory 782/738 Figure Head  [A] £13.50 
43934 Abatros name plate wood 50x87mm  [A] £7.64 45030 Bounty figure head  [A] £12.66 
43937 Caesar name plate wood 50x87mm  [A] £7.64 45040  Perigrine Galley Figure head  [A] £13.50 
43940 Gorch-Fock name plate 50x87mm  [A] £7.64 45050 Figure head cutty sark  [A] £13.50 
43941 President n/plate (wood) 50x87mm  [A] £7.64 45060 Figure head Sharke  [A] £13.50 
43945 La Couronne n/plate (wood) 65x115mm   £7.64 45061 Caroline Figure Head  [A] £17.95 
43947 Viking name plate wood 50x87mm  [A] £7.64 45063 Figure head Americo Vespucci  [A] £34.00 
43949 Royal Caroline n/plate (wood) 66x115mm £7.64 45064 Figure head A Vespucci 100:1 scale  [A] £26.00 
43953 Le Soleil Royal name plate 65x115  [A] £7.64 45065 Gorch Focke polena  [A] £13.50 
43954 Dutch Gun boat Nameplate  [A] £6.25 45067 St Felipe Figure head  [A] £25.00 
43955 Amerigo vespucci name plate wood  £5.99 45070 Small cast lantern Soverein of the seas   £27.95 
43956 S. Felipe name plate 65x115mm  [A] £7.64 45071 Cast lantern set Soleil royal  [A] £57.95 
44010 Victory etched plate  [A] £125.99 45072 Royal Caroline Lantern set  [A] £33.00 
44020 Cutty sark brass etched sheet  [A] £49.50 45080 Small cast lantern for Soverein  (pk 2)  [A] £29.95 
44022 Thermopylae brass etched sheet  [A] £13.20 45140 Cast lantern  Dutch whalerboat  [A] £26.95 
44023 President window sheet  [A] £7.70 45190 Entry ports for Victory 738-782 deleted  [A] £12.04 
44024 Race Horse brass etched windows  [A] £7.70 45290 Victory cast decoration (2) deleted  [A] £9.08 
44025 Lynx Photo etched name plate  [A] £6.74 45970 Ramponi 22x25mm £4.25 
44026 Victory Photo etched  plate  [A] £21.00 45980 Ramponi 14x18mm £4.25 
44027 Santa Lucia laser etched name plate  [A] £6.75 46020 Polena fusa Victory deleted  [A] £14.24 
44028 La Rose Photo etched part  [A] £6.75 47000 Soleil Royal Comp casting set £525.00 
44029 Trotamares Photo etched name plate  [A] £6.75 47550 Brass moulding 1000mm £6.75 
44030 Jamaica brass etched plate  [A] £6.75 48720 Vicory 720 Display case £148.50 
44031 Arm 82 Photo etched  [A] £13.50 48750 Royal Caroline display case £374.00 
44033 Gorch fock laser  etched wood parts  [A] £59.00 48769 Display case Golden star £179.95 
44034 Photo etche  plate Mercator  [A] £34.00 48774 Display case for Endevour £243.00 
44035 Bruma Photo etched  [A] £6.75 48782 Display case for 782/738 £489.50 
44040 Sharke brass etched plate  [A] £6.75 48787 Sovereign of the Sea display case £481.80 
44060 Bounty brass etched windows deleted  [A] £18.08 666 Albatros sail set including rigging & blocks £35.64 
44070 S.O.S. brass etched windows  [A] £15.95 708800005 Venus Keel Weight £19.04 
44080 Great harry part  [A] £16.95 70902 Mini Cardinale plastic nose leg parts £9.76 
44081 Achilles Photo etched parts  [A] £6.75 7100 Ship stand Dolphins  [A] £169.00 
44086 Cannoniera n2 part  [A] £22.00 7101 Pegasus stand  [A] £169.00 
44087 Shine photo etched parts  [A] £6.75 7143 Four Dragon boat stands  [A] £59.00 
44088 Etched Brass Plate Royal Caroline  [A] £10.95 7144 Four Sirens boat stand  [A] £29.99 
44090 Vespucci photo etched  [A] £169.00 7160 Six Marine figures scale 1:54  [A] £10.25 
44092 Brass Etch plate Antio  [A] £89.00 7161 Six marine figures scale 1:64  [A] £10.18 
44093 Amerrico vespucci photo etched  [A] £121.00 7170 Roman centureon  [A] £23.10 
44094 Victory etched plate (738)  [A] £80.30 7210 Universal Boat stand  [A] £22.00 
44095 Victory 782 Pierced brass work  [A] £39.95 722004 lancia Amata sweden laser sheet £24.95 
44097 Britannia photo etched name  [A] £6.25 727003 Laser sheet Titanic £29.99 
44100 S.O.S  laser wood rear windows  [A] £19.99 728016 Laser sheet Titanic £19.99 
44101 Caroline rear decoration in laser wood  [A] £18.95 7310 Titanic display case £325.00 
44102 Laser etched wood decoration Bounty  [A] £22.00 7311 Titanic carrying case £145.00 

24 January 2019 Page 9 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
734015 Mississippi no 15 laser sheet £25.95 962 President plans  [A] £14.85 
741002 Laser Vespucci sheet 5mm £10.95 963 Race Horse plans  [A] £14.95 
741003 Laser Vespucci sheet 5mm £10.95 964 Achilles  Plans  [A] £14.85 
741008 Laser sheet 8 Amerigo Vespucci £13.95 965 French Xebec  plans  [A] £14.85 
741009 Laser sheet vespucci pioppo 5mm £12.00 966 Mercator plans  [A] £14.95 
741010 Laser sheet 10 Amerigo Vespucci £14.95 967 Trotamares Plans  [A] £21.00 
741025 Vespucci laser parts £14.50 969 Victory plans (panart)  [A] £29.95 
741030 Laser a Vespucci £14.95 970 Amerigo Vespucci plans (741)  [A] £59.00 
741041 Laser 1 Vespucci £16.75 971 Lancia Baleniera plans  [A] £19.50 
787001 787 laser sheet no 1 £29.95 972 Anteo plan set  [A] £32.00 
787002 787 laser sheet no2 £25.95 973 Santa Lucia  plans  [A] £19.95 
787003 787 Lase sheet no3 £25.95 974 Lynx plans  [A] £21.95 
787004 787 Laser sheet no4 £17.95 975 Victory bow section plans  [A] £27.95 
787005 787 Laser sheet no5 £17.95 976 San Felipe plans  [A] £59.00 
787009 Laser sheet SOS 1.2x171x300 £14.95 977 Lancia Armata 1800 plans  [A] £19.99 
787010 Laser sheet Sovrana £13.99 978 La Rose  plans  [A] £19.95 
787013 Lase sheet Sovrana £39.99 979 Royal caroline plans  [A] £28.50 
787015 Soveriegn of the sea laser part £19.95 990 Victory Sloop plans  [A] £19.95 
787016 Laser sheet Sovrana £15.95 L/sheet 10 Laser Sheet 10 £24.00 
787017 Lase sheet Sovrana £19.95 L/Sheet 15 Laser Sheet 15 £36.00 
8185 Template for port holes £7.95 L/Sheet 18 Laser Sheet 18 £42.99 
902 Astrolabe plans £17.50 MISC-MANTUA Mantua miscelleneous parts £12.95 
903 Black falcon plans £14.95 
904 Endeavour plans £14.95 1.7  Compressors & Airbrushes 
9044 Prop shaft 140mmx 4mm £8.20 
9046 Prop shaft 208mmx 4mm £8.20 Part No. Product Description Retail 
9047 Prop Shaft 5x230mm £10.72 
9048 Prop shaft 216mm x 4mm £7.69 4700000 Air brush eco 350 £12.95 
905 Caesar plans £14.95 4700020 Air canister adaptor £4.25 
9050 Prop shaft 279mm x 4mm £7.98 4700021 Air Tube £4.25 
9053 Ball and pin 4mm £6.55 4700023 Flexible Tubeing 3mt 1/8th to 1/8th £10.95 
9058 Ball and pin 5mm £6.55 4700024 Flexible Tubeing 3mt  1/4 - 1/8th £10.95 
906 Golden Star plans £14.95 4700050 Air Brush tube £7.95 
9075 Rudder arm 42x10mm £3.02 4700063 Main nozzle for 4700100 £19.95 
9076 Twin arms2x9x40mm 4mm hole £2.14 4700064 Main needle for 4700100 deleted £8.75 
9077 Twin arms2x9x40mm 5mm hole £2.14 4700073 Main nozzle & needle for 4700200 £14.99 
908 Albatros  plans £14.95 4700074 Main needle for 4700200 £9.50 
9095 Rudder £14.85 4700075 O ring for 200 airbrush £4.10 
9096 Rudder £14.85 4700083 Main needle for 4700300 £9.50 
910 Santa maria plans £14.95 4700100 Pro airbrush with adjustable paint flow £49.00 
911 Victory 1:98 plans £28.50 4700140 Air Brush etching/sanding set (retail only) £59.00 
9110 Sail working pulley 12x6x6mm £2.25 4700150 large Spray Gun Set £32.95 
912 La Couronne   plans £28.50 4700160 Duel Action set 6 side cup airbrushes £210.00 
913 USS Constitution plans £28.50 4700180 Duel action set 4 top & 2 Bottom airbrushes £225.00 
914 ARM 82 plans £14.95 4700200 Air brush set professional side jar £32.95 
9140 Sail Hook £2.45 4700300 Air brush kit pro with top cup £35.95 
9142 Security Hook £2.25 4700400 Spray jar with cap, nipple & pick up pipe £4.25 
9144 Boom Support £3.41 4700401 Spray jar £2.75 
9146 Swivel for Boom £2.45 4700420 Pippette £1.99 
915 Nave Viking plans £12.95 4700450 Air brush stand with suckers £14.95 
9150 Sail Cord (Venus) 1x15mt  [D] £3.80 4700451 Air brush stand with clamp £14.95 
9155 Sail Tape (venus) 11x1150mm £3.02 4700455 Air Brush cleaning station £12.50 
916 Dutch gun boat 1830 plans £14.95 4700510 Aerografic Aztec 2705 medium £28.50 
9160 Eye Screw 8x4x18.5mm £1.25 4700520 Aerografic Aztec 3205 Proffesional £24.20 
9165 Rigging S hooks 1.5x14mm £1.25 4700643 Aztec Nozzle med 0.7mm £16.50 
9166 Rigging S hook 0.7x12mm £1.25 4700644 Aztec Nozzle 1.02mm £16.50 
917 Shine plans £14.85 4700700 Spray gun large with 400ml cup £24.95 
918 Le Superb plans £45.00 4700730 Airbrush pistol type Super Pro £59.00 
9201 Prop 35mm x 4mm  [A] £4.95 4750051 Compressor 4bar  23 litre a min auto cut- £119.95 
9202 Prop 40mm x4mm  [A] £4.95 4750052 Compressor / tank 6bar  23 ltr min auto  £149.00 
9203 Prop 45mm x 4mm  [A] £4.95 4750053 Mini compressor new £79.00 
925 Nina  plans  [A] £14.85 4750143 Adaptor 1.8th to 1/8th £9.95 
926 Pinta plans  [A] £14.85 4750144 Adaptor m& female £9.95 
927 Amerigo Vesppuci plans (799)  [A] £32.95 4750145 1/8th blanking adapter £3.45 
928 Gorch Fock plans  [A] £28.50 4750146 3 Way distibutor valve £5.45 
929 Britannia  plans  [A] £21.50 4750147 4 Way Adaptor £6.25 
930 Mississipi plans  [A] £34.95 4750148 4 Way Adaptor £9.95 
931 Vasa planset  [A] £59.95 4750149 6 Way distributor with shut of valves £24.99 
932 Gozzo Ligure plans  [A] £14.85 4750151 1/4 bsp Adaptor to Badger £6.45 
933 Bruma plans  [A] £27.50 4750152 Adaptor 1/8th internal to 1/4 external £6.45 
934 Veneziano Plan set  [A] £22.95 4750153 Adaptor 5mmx0.45 internal 1/8th external £6.45 
951 Victory plan 782  [A] £29.95 4750154 Comp  Adaptor 1/4 inner 1/8th outer £7.95 
952 Sharke plans  [A] £14.85 4750155 Adaptor 1/8th to 1/4 male-male £7.95 
953 Jamaica plans  [A] £14.85 4750156 Adaptor 1/8th to 1/8th male-male £7.95 
954 Bounty Plans  [A] £21.00 4750157 Adaptor 1/4 to 1/4 male-male £4.25 
955 Perigrine Galley Plans  [A] £21.00 4750158 Pipe adaptor elbow 1/4 to 1/4 £7.95 
956 Sovereign of the Seas, 1:78 Plans  [A] £54.00 4750160 Air Regulator with meter/water filter £21.50 
958 Cutty Sark Plans  [A] £31.00 HS30AB Airbrush Duel with top cup £22.95 
959 Dutch Whaler  plans  [A] £28.50 HS34AB Airbrush duel with side cup £25.95 
960 Soleil Royal  plans  [A] £53.00 HS800AB Airbrush duel with bottom feed £24.95 
961 Thermopylae  plans  [A] £14.85 

24 January 2019 Page 10 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 

1.8  Mantua Tools 1.81 Metric Bulk Packs (Trade Only) 
Part No. Product Description Retail Part No. Product Description Retail 
19501 Set Drills 1-1.2-1.3-1.4-1.5-1.6mm £5.99 580001 Walnut Strip 0.6x3x1000mm (50) £26.40 
19502 Set Drills 1.2-1.4-1.6-1.8-2mm £6.55 580002 Walnut Strip 0.6x5x1000mm (50) £26.40 
19505 Set Drills 1-1.5-2-2.5-3mm £5.44 580003 Walnut Strip 1x1.5x1000mm (50) £26.40 
2434 Cross spanner 8-9-10-12mm £5.95 580004 Walnut Strip 1x2x1000mm (50) £26.40 
2435 Nut runner 5mm (2.5mm nut) £5.99 580005 Walnut Strip 1x3x1000mm (50) £26.40 
2436 Nut runner 6mm ( 3.5mm nut) £5.99 580006 Walnut Strip 1x5x1000mm (50) £26.40 
2437 Nut runner 7mm (4mm nut) £5.99 580007 Walnut Strip 1x7x1000mm (50) £31.67 
2438 Nut runner 8mm ( 5mm nut ) £5.99 580008 Walnut Strip 1.5x5x1000mm (100) £63.35 
2441 Nut runner 5.5mm (3mm nut) £6.68 580009 Walnut Strip 1.5x7x1000mm (100) £73.91 
2442 Nut runner 4mm (2mm nut) £5.99 580010 Walnut Strip 2x4x1000mm (100) £63.35 
2476 Modelling pins £3.25 580011 Walnut Strip 2x6x1000mm (100) £73.91 
8000 Fret saw 300mm £7.95 580012 Walnut Strip 2x8x1000mm (100) £80.24 
8001 Fret saw board  [A] £5.95 580013 Walnut Strip 2x10x1000mm (100) £84.46 
8003 Fret saw 400mm £7.95 580014 Walnut Strip 1.5x1.5x1000mm (50) £26.40 
8005 Small Hammer £4.75 580015 Walnut Strip 2x2x1000mm (50) £31.67 
8006 Morsetto 50mm £3.75 580016 Walnut Strip 3x3x1000mm (50) £36.95 
8010 Sanding paper & block £5.95 580017 Walnut Strip 4x4x1000mm (50) £44.89 
8011 Sand paper 80 grade {E} £1.35 580018 Walnut Strip 5x5x1000mm (50) £52.80 
8012 Sand paper  180 grade {E} £1.35 580019 Walnut Strip 6x6x1000mm (50) £67.31 
8013 Sand paper 240 grit £1.35 580020 Walnut Strip 8x8x1000mm (20) £39.69 
8014 Wet & Dry 320 g £1.35 580021 Walnut Strip 10x10x1000mm (20) £46.50 
8015 Wet & Dry 400 g £1.35 580022 Walnut Strip 12x12x1000mm (20) £62.20 
8030 Clamping pegs plastic (8) £4.95 580025 Walnut Strip 1.5x6x1000mm (50) £31.67 
8031 Clamping pegs plastic (4) £3.95 580026 Walnut Strip 1x6x1000mm (50) £35.50 
8050 Carving Tool Set £24.95 580027 Walnut Strip 2x5x1000mm (50) £35.50 
8070 20510 Metal blade 4/0 £3.75 580030 Walnut Strip 0.5x2x1000mm (20) £10.56 
8071 20520 Metal blade 2/0 £3.75 580031 Walnut Strip 0.5x4x1000mm (20) £10.56 
8072 20530 Metal blade 1/0 £3.75 580032 Walnut Strip 0.5x6x1000mm (20) £10.56 
8073 20540 Metal blade 1 £3.75 580033 Walnut Strip 1x1x1000mm (20) £10.95 
8074 20550 Metal blade 2 £3.75 580034 Walnut Strip 1x4x1000mm (20) £12.30 
8075 20560 Metal blade 3 £3.75 580035 Walnut Strip 1x8x1000mm (20) £14.78 
8080 Wood blade 0 £3.95 580036 Walnut Strip 1.5x2x1000mm (20) £12.50 
8081 Wood blade 1 £3.95 580037 Walnut Strip 1.5x3x1000mm (20) £12.50 
8082 Wood blade 2 £3.95 580038 Walnut Strip 1.5x4x1000mm (20) £12.50 
8083 Wood blade n3 £3.95 580039 Walnut Strip 2x3x1000mm (20) £12.50 
8084 Wood blade n4 £3.95 580201 Walnut Sheet 1x100x1000mm (10) £66.00 
8085 Wood blade 5 £3.95 580202 Walnut Sheet 1.5x100x1000mm (10) £72.59 
8086 Wood blade n6 £3.95 580203 Walnut Sheet 2x100x1000mm (10) £81.85 
8087 Wood blade n7 £3.95 580204 Walnut Sheet 3x100x1000mm (5) £60.73 
8090 Metal saw blade n0 £5.25 580205 Walnut Sheet 4x100x1000mm (5) £72.59 
8091 Metal saw blade n2 £5.25 580206 Walnut Sheet 5x100x1000mm (5) £85.00 
8092 Metal saw blade n4 £5.25 580207 Walnut Sheet 6x100x1000mm (5) £95.71 
8093 Metal saw blade n6 £5.25 580500 White Maple  0.6x4x1000mm (50) £22.50 
8150 Plank bender  £12.95 580501 White Maple  0.5x2x1000mm (20) £9.50 
8151 Strip Bender £12.95 580502 White Maple  0.5x3x1000mm (20) £9.50 
8152 Spare blades for 8151 plank bender £3.50 580503 White Maple  0.5x5x1000mm (20) £9.50 
8155 Strip clamp £32.95 580504 White Maple  0.5x6x1000mm (20) £9.50 
8156 Jig Saw £110.00 581001 Mahogany Strip 0.6x5x1000mm (50) £26.40 
8160 Wood working lathe £99.00 581002 Mahogany Strip 2x4x1000mm (50) £28.00 
8160a Lathe Tool Rest £10.97 581003 Mahogany Strip 2x6x1000mm (50) £34.85 
8161 Lathe spares Set of Centering Bushes £6.95 581004 Mahogany Strip 2x8x1000mm (50) £44.00 
8162 Lathe spares Belt £8.75 581005 Mahogany Strip 2x10x1000mm (50) £47.51 
8163 Lathe spares Chuck & Pinion £34.00 581009 Mahogany Strip 0.5x2x1000mm (20) £8.00 
8164 Lathe spares Centering Point & Bearing £19.99 581010 Mahogany Strip 0.5x3x1000mm (20) £10.56 
8164a Lathe Tool Rest £10.97 581011 Mahogany Strip 0.5x6x1000mm (20) £10.56 
8165 Electric plane £79.00 581013 Mahogany Strip 1x1x1000mm (20) £14.25 
8166 Blades for planer £4.75 581015 Mahogany Strip 2x2x1000mm (20) £11.00 
8175 Nail fixer £12.99 581016 Mahogany Strip 3x3x1000mm (20) £17.00 
8178 Wooden clamping pegs (3) £5.99 581017 Mahogany Strip 2x3x1000mm (20) £12.00 
8190 Sanding stick 80x20mm £2.15 581018 Mahogany Strip 1x3x1000mm (20) £10.56 
8191 Sanding stick 100x30mm £2.25 581019 Mahogany Strip 1x5x1000mm (20) £11.00 
8192 Sanding stick 120x40mm £2.30 581020 Mahogany Strip 1x6x1000mm (20) £11.50 
8193 Sanding stick 140x50mm £2.40 581021 Mahogany Strip 1x7x1000mm (20) £11.50 
8194 Sanding stick 160x60 £2.60 581023 Mahogany Strip 1.5x3x1000mm (20) £11.00 
8195 Set sanding sticks £9.95 581024 Mahogany Strip 1.5x5x1000mm (20) £11.50 
8263 16001No 1 light duty knife £3.75 581025 Mahogany Strip 1.5x6x1000mm (20) £12.00 
8265 16005 Heavy duty no 2 knife £5.75 581026 Mahogany Strip 1.5x7x1000mm (20) £12.00 
8290 16011 Scraper £4.95 582501 Lime Sheet 1x100x1000mm  (10) £46.23 
8291 20009 Scraper blade £4.95 582502 Lime Sheet 1.5x100x1000mm  (10) £59.40 
8502 Super electron 4 speed 9-18v £52.00 582503 Lime Sheet 2x100x1000mm  (10) £62.05 
8563 Long Nose Pliers £12.95 582504 Lime Sheet 4x100x1000mm  (5) £49.50 
8565 Side cutter Pliers £12.95 582505 Lime Sheet 5x100x1000mm  (5) £53.47 
8640 Spring clasp driver £6.99 582506 Lime Sheet 6x100x1000mm  (5) £62.71 
 582507 Lime Sheet 3x100x1000mm  (5) £40.93 
 582508 Lime Sheet 8x100x1000mm  (5) £67.31 
 582510 Lime Sheet 10x100x1000mm  (5) £73.92 

24 January 2019 Page 11 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
582601 Lime Strip 1x3x1000mm (100) £47.53 80016 Walnut strip 3x3x1000mm  [I] £0.60 
582602 Lime Strip 1.5x5x1000mm (100) £58.08 80017 Walnut strip 4x4x1000mm  [I] £0.80 
582603 Lime Strip 1.5x7x1000mm (100) £58.08 80018 Walnut strip 5x5x1000mm  [I] £0.80 
582604 Lime Strip 1.5x10x1000mm (100) £68.65 80019 Walnut strip 6x6x1000mm  [I] £1.10 
582605 Lime Strip 2x3x1000mm (100) £52.79 80020 Walnut strip 8x8x1000mm  [G] £1.65 
582606 Lime Strip 2x2x1000mm (100) £52.79 80021 Walnut strip 10x10x1000mm  [G] £1.79 
582607 Lime Strip 3x3x1000mm (100) £63.35 80022 Walnut strip 12x12x1000mm  [G] £2.25 
582608 Lime Strip 4x4x1000mm (100) £73.91 80025 Walnut strip 1.5x6x1000mm  [I] £0.60 
582609 Lime Strip 5x5x1000mm (100) £73.93 80026 Walnut strip 1x6x1000mm  [I] £0.55 
582610 Lime Strip 6x6x1000mm (100) £126.72 80027 Walnut strip 2x5x1000mm  [I] £0.55 
582611 Lime Strip 2x4x1000mm (100) £52.79 80030 Walnut strip 0.5x2x1000mm  [G] £0.65 
582612 Lime Strip 2x6x1000mm (100) £52.79 80031 Walnut strip 0.5x4x1000mm  [G] £0.65 
582613 Lime Strip 2x8x1000mm (100) £63.35 80032 Walnut strip 0.5x6x1000mm  [G] £0.65 
582614 Lime Strip 2x10x1000mm (100) £63.35 80033 Walnut strip 1x1x1000mm  [G] £0.50 
582615 Lime Strip 3x5x1000mm (100) £63.35 80034 Walnut strip 1x4x1000mm  [G] £0.50 
582616 Lime Strip 3x7x1000mm (100) £73.93 80035 Walnut strip 1x8x1000mm  [G] £0.60 
582617 Lime Strip 3x10x1000mm (100) £102.95 80036 Walnut strip 1.5x2x1000mm  [G] £0.60 
582618 Lime Strip 8x8x1000mm (50) £66.00 80037 Walnut strip 1.5x3x1000mm  [G] £0.60 
582619 Lime Strip 10x10x1000mm (30) £63.36 80038 Walnut strip 1.5x4x1000mm  [G] £0.60 
582620 Lime Strip 12x12 x1000mm (30) £68.64 80039 Walnut strip 2x3x1000mm  [G] £0.60 
582621 Lime Strip 15x15x1000mm (20) £49.00 
582622 Lime Strip 3x12x1000mm (50) £73.91 2 Walnut Sheet Wood 
582623 Lime Strip 3x15x1000mm (50) £79.20 
582624 Lime Strip 4x8x1000mm (50) £79.20 Part No. Product Description Retail 
582625 Lime Strip 5x10x1000mm (50) £102.96 
582626 Lime Strip 5x15x1000mm (50) £118.00 80201 Walnut Sheet 1x100x1000mm  [E] £5.29 
582627 Lime Strip 5x20x1000mm (50) £146.00 80202 Walnut Sheet 1.5x100x1000mm  [E] £5.75 
582628 Lime Strip 8x15x1000mm (30) £96.00 80203 Walnut Sheet 2x100x1000mm  [E] £6.75 
582629 Lime Strip 8x20x1000mm (30) £91.08 80204 Walnut sheet 3X100X1000mm  [C] £9.25 
582630 Lime Strip 1x1x1000mm (20) £9.50 80205 Walnut sheet 4x100x1000mm  [C] £11.25 
582631 Lime Strip 1x4x1000mm (20) £10.02 80206 Walnut sheet 5x100x1000mm  [C] £14.75 
582632 Lime Strip 1x6x1000mm (20) £10.02 80207 Walnut Sheet 6x100x1000mm  [C] £13.95 
582633 Lime Strip 1.5x3x1000mm (20) £10.02 
582634 Lime Strip 1.5x6x1000mm (20) £10.02 2.1 White Maple Stripwood 
582635 Lime Strip 2x5x1000mm (20) £10.02 
582636 Lime Strip 2x7x1000mm (20) £13.20 Part No. Product Description Retail 
589001 Ramin Dowel 2mm (50) £59.40 
589002 Ramin Dowel 3mm (50) £64.69 80500 White Maple 0.6x4x1000mm  [I] £0.50 
589003 Ramin Dowel 4mm (50) £80.00 80501 White Maple 0.5x2xx1000mm  [G] £0.50 
589004 Ramin Dowel 5mm (30) £67.32 80502 White Maple 0.5x3x1000mm  [G] £0.50 
589005 Ramin Dowel 6mm (30) £75.00 80503 White Maple 0.5x5x1000mm  [G] £0.55 
589006 Ramin Dowel 8mm (30) £83.16 80504 White Maple 0.5x6x1000mm  [G] £0.55 
589007 Ramin Dowel 10mm (30) £92.40 
589008 Ramin Dowel 12mm (20) £54.00 2.2 Mahogany Stripwood 
589009 Ramin Dowel 14mm (20) £97.00 
589101 Walnut Dowel 2mm (50) £66.00 Part No. Product Description Retail 
589102 Walnut Dowel 3mm (50) £71.29 81001 Mahogany Str 0.6x5mmx1000mm  [I] £0.50 
589103 Walnut Dowel 4mm (50) £85.00 81002 Mahogany Str 2x4mmx1000mm  [I] £0.55 
589104 Walnut Dowel 5mm (50) £108.00 81003 Mahogany Str 2x6mmx1000mm  [I] £0.60 
589105 Walnut Dowel 6mm (50) £118.00 81004 Mahogany Str 2x8mmx1000mm  [I] £0.65 
589106 Walnut Dowel 8mm (50) £132.00 81005 Mahogany Str 2x10mmx1000mm  [I] £0.65 
589107 Walnut Dowel 10mm (30) £96.00 81009 Mahogany Str 0.5x2mmx1000mm  [G[ £0.55 
589108 Walnut Dowel 12mm (30) £102.00 81010 Mahogany Str 0.5x3mmx1000mm  [G[ £0.55 
589109 Walnut Dowel 14mm (30) £105.00 81011 Mahogany Str 0.5 x 6mm x1000mm  [G] £0.55 
589501 Walnut 1/2 round1.5x3mmx1000mm (10) £9.79 81013 Mahogany Str 1x1mmx1000mm  [G[ £0.50 
589502 Walnut1/2 Round2x4mmx1000mm (10) £11.00 81015 Mahogany Str 2x2mmx1000mm  [G[ £0.60 
589503 Walnut1/2 Round2.5x5x1000mm (10) £13.35 81016 Mahogany Str 3x3mmx1000mm  [G[ £0.65 
589504 Walnut 1/2 Round 3x6x1000mm (10) £16.00 81017 Mahogany Str 2x3x1000mm  [G[ £0.65 
589505 Walnut Half Round 4x8x1000mm (10) £21.13 81018 Mahogany strip 1x3x1000mm  [G[ £0.55 
8328 70040 pinzette+lente £6.50 81019 Mahogany strip 1x5x1000mm  [G[ £0.55 
 81020 Mahogany strip 1x6x1000mm  [G[ £0.55 
1.9 Walnut Strip Wood 81021 Mahogany strip 1x7x1000mm  [G[ £0.60 
 81023 Mahogany strip 1.5x3x1000mm  [G[ £0.55 
Part No. Product Description Retail 81024 Mahogany strip 1.5x5x1000mm  [G[ £0.60 
80000 Walnut - Maple wood centre £189.20 81025 Mahogany strip 1.5x6x1000mm  [G[ £0.60 
80001 Walnut strip 0.6x3x1000mm  [I] £0.50 81026 Mahogany strip 1.5x7x1000mm  [G[ £0.60 
80002 Walnut strip 0.6x5x1000mm  [I] £0.50 
80003 Walnut strip 1x1.5x1000mm  [I] £0.50 2.3 Lime Sheet Wood 
80004 Walnut strip 1x2x1000mm  [I] £0.50 
80005 Walnut strip 1x3x1000mm  [I] £0.50 Part No. Product Description Retail 
80006 Walnut strip 1x5x1000mm  [I] £0.50 82501 Lime sheet 1x100x1000mm sheet  [E] £3.95 
80007 Walnut strip 1x7x1000mm  [I] £0.55 82502 Lime sheet 1.5x100 x1000mm sheet  [E] £4.75 
80008 Walnut strip 1.5x5x1000mm  [J] £0.55 82503 Lime sheet 2x100x1000mm sheet  [E] £5.25 
80009 Walnut strip 1.5x7x1000mm  [J] £0.60 82504 Lime sheet 4x100x1000mm  [C] £7.25 
80010 Walnut strip 2x4x1000mm  [J] £0.55 82505 Lime sheet 5x100x1000mm  [C] £7.95 
80011 Walnut strip 2x6x1000mm  [J] £0.60 82506 Lime sheet 6x100x1000mm  [C] £9.25 
80012 Walnut strip 2x8x1000mm  [J] £0.64 82507 Lime sheet 3x100x1000mm  [C] £6.25 
80013 Walnut strip 2x10x1000mm  [J] £0.64 82508 Lime sheet 8x100x1000mm  [C] £10.50 
80014 Walnut strip 1.5x1.5x1000mm  [I] £0.50 82510 Lime sheet 10x100x1000mm  [C] £10.95 
80015 Walnut strip 2x2x1000mm  [I] £0.50 

24 January 2019 Page 12 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
 85803 Balsa strip 4x4x1000mm    [I] £0.50 
2.4 Lime Stripwood 85804 Balsa strip 5x5x1000mm    [I] £0.60 
 85805 Balsa strip 6x6x1000mm    [I] £0.65 
Part No. Product Description Retail 85806 Balsa strip 8x8x1000m    [I] £0.75 
 85807 Balsa strip 10x10x1000mm    [I] £1.05 
82601 Lime Strip 1x3x1000mm  [J] £0.45 85808 Balsa strip 12x12x1000mm    [H] £1.45 
82602 Lime Strip 1.5x5x1000mm  [J] £0.45 85809 Balsa strip 15x15x1000mm    [G] £1.85 
82603 Lime Strip 1.5x7x1000mm  [J] £0.45 85810 Balsa strip 2x4x1000mm    [I] £0.60 
82604 Lime Strip 1.5x10x1000mm  [J] £0.55 85811 Balsa strip 2x6x1000mm    [I] £0.50 
82605 Lime Strip 2x3x1000mm  [J] £0.50 85812 Balsa strip 2x8x1000mm    [I] £0.54 
82606 Lime Strip 2x2x1000mm  [J] £0.50 85813 Balsa strip 2x10x1000mm    [I] £0.50 
82607 Lime Strip 3x3x1000mm  [J] £0.55 85814 Balsa strip 3x5x1000mm    [I] £0.60 
82608 Lime Strip 4x4x1000mm  [J] £0.65 85815 Balsa strip 3x7x1000mm    [I] £0.50 
82609 Lime Strip 5x5x1000mm  [J] £0.65 85816 Balsa strip 3x10x1000mm    [I] £0.69 
82610 Lime Strip 6x6x1000mm  [J] £0.90 85817 Balsa strip 3x12x1000mm    [I] £0.77 
82611 Lime Strip 2x4x1000mm  [J] £0.50 85818 Balsa strip 3x15x1000mm    [I] £0.70 
82612 Lime Strip 2x6x1000mm  [J] £0.50 85819 Balsa strip 4x8x1000mm    [I] £0.65 
82613 Lime Strip 2x8x1000mm  [J] £0.55 85820 Balsa strip 5x10x1000mm    [I] £0.80 
82614 Lime Strip 2x10x1000mm  [J] £0.55 85821 Balsa strip 5x15x1000mm    [I] £0.85 
82615 Lime Strip 3x5x1000mm  [J] £0.55 85822 Balsa strip 6x9x1000mm    [I] £0.75 
82616 Lime Strip 3x7x1000mm  [J] £0.66 85823 Balsa strip 6x12x1000mm    [I] £0.95 
82617 Lime Strip 3x10x1000mm  [J] £0.85 85824 Balsa strip 8x12x1000mm    [H] £1.10 
82618 Lime Strip 8x8x1000mm  [I] £1.10 85825 Balsa strip 8x15x1000mm    [H] £1.55 
82619 Lime Strip 10x10x1000mm  [H] £1.65 85826 Balsa strip 10x20x1000mm    [G] £1.45 
82620 Lime Strip 12x12x1000mm  [H] £1.95 85827 Balsa strip 20x20x1000mm    [G] £2.49 
82621 Lime Strip 15x15x1000mm  [G] £2.15 85901 Balsa T/edge 2x10x1000mm    [G] £1.45 
82622 Lime Strip 3x12x1000mm  [I] £0.99 85902 Balsa T/edge 3x12x1000mm    [G] £1.75 
82623 Lime Strip 3x15x1000mm  [I] £1.40 85903 Balsa T/edge 5x15x1000mm    [G] £2.10 
82624 Lime Strip 4x8x1000mm  [I] £1.25 85904 Balsa T/edge 6x20x1000mm    [G] £2.75 
82625 Lime Strip 5x10x1000mm  [I] £1.65 85905 Balsa T/edge 6x25x1000mm    [G] £3.10 
82626 Lime Strip 5x15x1000mm  [I] £1.95 85906 Balsa T/edge 8x30x1000mm    [G] £2.95 
82627 Lime Strip 5x20x1000mm  [I] £2.35 85907 Balsa T/edge 10x45x1000mm    [E] £4.25 
82628 Lime Strip 8x15x1000mm  [H] £2.45 85908 Balsa T/edge 15x45x1000mm    [E] £4.25 
82629 Lime Strip 8x20x1000mm  [H] £2.65 85909 Balsa T/edge 8x25x1000mm    [E] £2.95 
82630 Lime Strip 1x1x1000mm  [G] £0.45 86001 Balsa L/edge 5x5x1000mm    [G] £1.10 
82631 Lime Strip 1x4x1000mm  [G] £0.45 86002 Balsa L/edge 10x10x1000mm    [G] £1.45 
82632 Lime Strip 1x6x1000mm  [G] £0.45 86003 Balsa L/edge 12x15x1000mm    [E] £2.15 
82633 Lime Strip 1.5x3x1000mm  [G] £0.45 86004 Balsa L/edge 18x18x1000mm    [E] £3.25 
82634 Lime Strip 1.5x6x1000mm  [G] £0.45 86101 Balsa sym L/edge 8x8x1000mm    [G] £1.35 
82635 Lime Strip 2x5x1000mm  [G] £0.45 86102 Balsa sym L/edge10x10x1000mm    [G] £1.75 
82636 Lime Strip 2x7x1000mm  [G] £0.55 86103 Balsa sym L/edge10x12x1000mm    [G] £1.95 
 86201 Balsa Tri strip 10x10x1000mm    [G] £1.35 
2.5 Balsa Sheet Wood 86202 Balsa Tri strip 15x15x1000mm    [G] £1.90 
Part No. Product Description Retail 2.7 White Popular Ply 
84101 Balsa sheet 0.8x100x1000mm    [H] £1.65 
84102 Balsa sheet 1x100x1000mm    [H] £1.75 Part No. Product Description Retail 
84103 Balsa sheet 1.5x100x1000mm    [H] £1.85 86950 W/Poplar ply  2x200x1000mm £7.95 
84104 Balsa sheet 2x100x1000mm    [G] £2.55 87001 W/Poplar ply 3x200x1000mm   [E] £4.95 
84105 Balsa sheet 2.5x100x1000mm    [G] £2.15 87002 W/Poplar ply 4x200x1000mm  [E] £5.75 
84106 Balsa sheet 3x100x1000mm    [H] £2.45 87003 W/Poplar ply 5x200x1000mm  [E] £6.75 
84107 Balsa sheet 4x100x1000mm    [G] £2.55 87101 White popular Ply 3x200x500mm £2.75 
84108 Balsa sheet 5x100x1000mm    [G] £2.75 87102 White popular Ply 4x200x500mm £3.46 
84109 Balsa sheet 6x100x1000mm    [E] £2.95 87103 White popular Ply 5x200x500mm £3.74 
84110 Balsa sheet 8x100x1000mm    [E] £3.55 
84111 Balsa sheet 10x100x1000mm    [E] £4.65 2.8 Ramin Dowel 
84112 Balsa sheet 12x100x1000mm    [C] £4.95 
84113 Balsa sheet 15x100x1000mm    [C] £6.75 Part No. Product Description Retail 
84114 Balsa sheet 20x100x1000mm    [C] £7.15 
 89001 Ramin Dowel 2mm  [I] £0.99 
2.6 Balsa Blocks Strips and Sections 89002 Ramin Dowel 3mm  [I] £1.15 
 89003 Ramin Dowel 4mm  [I] £1.35 
Part No. Product Description Retail 89004 Ramin Dowel 5mm  [I] £1.65 
 89005 Ramin Dowel 6mm  [H] £1.85 
84790 Balsa Bundle small    [A] £2.49 89006 Ramin Dowel 8mm  [H] £2.15 
84791 Balsa Bundle Large    [A] £9.95 89007 Ramin Dowel 10mm  [H] £2.45 
84801 Balsa block 25x25x350mm    [E] £1.65 89008 Ramin Dowel 12mm  [G] £2.65 
84802 Balsa block 25x50x350mm    [E] £2.58 89009 Ramin Dowel 14mm  [G] £3.45 
84803 Balsa block 25x80x350mm    [D] £3.58 
84804 Balsa block 25x100x350mm    [D] £4.40 2.9 Walnut Dowel 
84805 Balsa block 25x140x350mm    [B] £5.78 
84806 Balsa block 50x50x350mm    [D] £4.12 Part No. Product Description Retail 
84807 Balsa block 50x80x350mm    [B] £6.32 
84808 Balsa block 50x100x350mm    [B] £5.78 89101 Walnut Dowel 2mm  [I] £1.10 
84809 Balsa block 50x140x350mm    [A] £7.64 89102 Walnut Dowel 3mm  [I] £1.25 
84810 Balsa block 75x80x350mm    [A] £6.88 89103 Walnut Dowel 4mm  [I] £1.35 
84811 Balsa block 75x100x350mm    [A] £7.98 89104 Walnut Dowel 5mm  [I] £1.65 
84812 Balsa block 75x140x350mm    [A] £10.62 89105 Walnut Dowel 6mm  [I] £1.90 
85002 Balsa block 25mm x 50mm x 1000    [D] £5.30 89106 Walnut Dowel 8mm  [I] £2.15 
85801 Balsa strip 2x2x1000mm    [I] £0.50 89107 Walnut Dowel 10mm  [H] £2.45 
85802 Balsa strip 3x3x1000mm    [I] £0.50 89108 Walnut Dowel 12mm  [H] £2.75 

24 January 2019 Page 13 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
89109 Walnut Dowel 14mm  [G] £3.50 301422 Sea Hawk boat inc 280 motor £21.50 
 301425 Blue angel boat inc 280 motor £21.50 
3 Balsa Dowel 301426 Miss California boat inc motor £16.50 
 301427 Vega Hot Shot boat inc motor £16.95 
Part No. Product Description Retail 301428 Mariner F1 GP boat with outboard £16.95 
 301429 Rainbow boat £16.95 
89201 Balsa dowel 2x1000mm  [G] £1.10 301438 Tirpitz 1/800th £14.51 
89202 Balsa dowel 3x1000mm  [G] £1.25 301439 USS Nimitz 1/800th £23.09 
89203 Balsa dowel 4x1000mm  [G] £1.35 301440 USS Eisenhower 1/800 £22.95 
89204 Balsa dowel 5x1000mm  [G] £1.65 301441 Bedford Whaler 1/200 £11.52 
89205 Balsa dowel 6x1000mm  [G] £1.89 301443 Uss Carl Vinson 1/800 £23.09 
89206 Balsa dowel 7x1000mm  [G] £2.05 301458 Titanic original 1/400 scale £66.15 
89207 Balsa dowel 8x1000mm  [G] £2.15 301508 Ford T type £30.00 
89208 Balsa dowel 10x1000mm  [G] £2.45 301510 Vetrina model £21.44 
89209 Balsa dowel 12x1000mm  [G] £2.45 301511 Lincoln 1928 £61.25 
89210 Balsa dowel 14x1000m  [G] £2.75 301512 MG TC 1948 1/16th £39.42 
 301513 Morgan trike 1935 1/16th £23.95 
3.1 Walnut Half Round 301515 Jaguar SS100 1939 £44.97 
 301518 Merc 300SL 1955 1/61th £49.99 
Part No. Product Description Retail 301519 Cadillac limo 1936 1/16th £74.49 
 301520 Mercedes SS 1928 1/16th £82.69 
89501 Walnut Half round 1.5x3mm  [E] £0.85 301607 Spruce goose 1/200th £17.38 
89502 Walnut Half round 2x4mm  [E] £1.05 301609 Beech bonanza £13.18 
89503 Walnut Half round 2.5x5mm  [E] £1.15 301610 Piper PA-28 Cherokee 1/48th £13.18 
89504 Walnut Half round 3x6mm  [E] £1.35 301618 Mig 21-Fishbed £6.61 
89505 Walnut Half round 4x8mm  [E] £1.70 301621 Mig 23S Flogger 1/72 £8.20 
3.2 Acadamy Plastic Kits 301622 Miage 111-c 1/48th £10.37 
 301624 Sopwith camel 1/144 £4.98 
 301627 SR71-A Blackbird 1/72nd £18.14 
Part No. Product Description Retail 301630 Mirage 111R 1/48 £9.52 
300516 Lockheed U2-C  1/48th £20.84 301635 F-15A Eagle £9.84 
300693 Douglas SBD Dauntless 1/72nd £11.77 301640 Shuttle & 747 1/288th £10.95 
301231 1/35th German assult infanrty set £5.38 301642 Lockheed SR-71A 1/72nd £21.31 
301232 1/35th U.S.A Assult infantry set £7.87 301648 FB-111A Ardvark £41.30 
301233 1/35th U.S Gun & Mortar team set £7.87 301650 F4f- Wildcat £4.98 
301234 1/35th Famous Generals £7.87 301651 TBF 1 Avenger 1/72 £8.20 
301235 1/35th Mortar & crew £7.87 301652 A-10A Warthog 1/72 £12.42 
301236 1/35th Modern army minitures £7.87 301654 Mig 27 Flogger 1/72nd £8.20 
301310 1/72 Veicoli miliari £11.59 301657 F4U-1 Corsair 1/72nd £9.84 
301324 US Ford Mutt £8.99 301659 F-14A Tomcat £36.33 
301325 M151A2 Tow Jeep 1/35th £9.75 301661 Fieseler Storch 1/72nd. £9.84 
301326 Mutt & Trailer £9.95 301663 A-37B Dragon Fly 1/72nd £10.35 
301329 Panther V carro 1/25th RE26 £59.95 301665 OV-10 Bronco £7.95 
301330 JAGD Panther 1/25th RE26 £59.95 301666 B17C Fortress 1/72nd £33.04 
301333 Wirbelwind Quad 20mm 1/35th £20.71 301667 P-51B Mustang 1/72nd £11.52 
301334 M3 Bradly CFV carro 1/35th £19.95 301668 P-40 M-N Warhawk 1/72 £11.52 
301335 M2 Bradley FV £24.85 301669 Hawker Tempest V 1/72nd £11.52 
301336 Flakpanzer gerpard £23.95 301670 Messeschmitt BF109G6 1/72nd £11.52 
301344 Lvtp Amtrac  carro 1/35th £28.96 301671 P-40E Warhawk 1/72nd £11.52 
301346 SGT York tank 1/35 £24.99 301672 A-37b Black Eagle 1/72nd £11.52 
301347 Merkava Israeli 1/35th £33.04 301674 F-111CA Ardwark £43.05 
301348 Tiger 1early version 1/35th £49.95 301675 F111F Ardwark 1/48th £30.69 
301349 M60 A3 Patton 1/35th £34.95 301676 EF-111A Raven £42.96 
301350 M988 Hummer util veh 1/35 £18.62 301679 F 14A Tomcat 1/72 £18.14 
301351 Merkava Super 1/35th £34.95 301685 F15C Eagle 1/48th £34.76 
301352 M977 Ambulance 1/35th £19.99 301688 F-16C Falcon 1/48th £20.70 
301354 M 113A2 1/35th £36.00 301689 F-111E Adrvark 1/48th £43.05 
301355 M48A5 Patton 1/35th £32.50 301691 MH-6 Stealth heli 1/48th £8.69 
301359 Merkava 11 W/mine 1/35th £34.95 301695 Thunderbolt F16C £22.77 
301360 M163 Vulcan 1/35 £34.95 301702 1/48th F-AE/A-4E- Skyhawk £11.52 
301361 M981 First 1/35 £31.99 301703 1/48th TF-4J/TA-4F Skyhawk £11.52 
301362 M998 Transport 1/35th £22.50 301803 1/72nd B-377 Stratoc £41.30 
301363 1/35TH M-966 Hummer tow £24.75 302101 XB-70 Valkirie 1/300 £4.06 
301365 Warrior MCV 1/35th £37.95 302107 F-117A Stealth 1/72nd £17.80 
301367 M-60A1 £41.30 302108 F-15C Eagle 1/72 £18.14 
301368 Frontier figure 1/35 £8.69 302109 F-15D Eagle 1/72 £18.14 
301369 Carristi figure 1/35th £7.03 302110 F-15E Stike eagle 1/72 £19.02 
301370 Frontier Tedesca 1/35th £8.69 302111 Boeing B-29A super fortress 1/72nd £44.72 
301371 Carristi Tedeschi 1/35th £7.95 302112 B50 D Superfortress £47.99 
301372 Zelda IDF M113 1/35th £41.37 302113 KB-29P Tanker 1/72nd £43.05 
301375 1/35  M18 hellcat £26.95 302114 Liberator pbay 1/72nd £29.71 
301376 Foriture carro tedesco £8.69 302115 AH-64 Apache 1/48th £20.70 
301377 Carristi ardenne 44 1/35th £8.69 302117 F15E con bomb 1/48th £41.38 
301378 Assaltatori tedeschi TM £8.69 302119 Mig 29B Fulcrum 1/48th £26.90 
301379 1/35 German machine gunners set £8.69 302120 Focke-Wulf FW 190AB 1/72 £8.20 
301382 Carristi ted 11g mon 1/35th £8.69 302121 Grumman F6F-S Hellcat 1/72 £8.20 
301383 Equipment troop ted 1/35th £9.52 302122 Catalina pby- 2 1/72nd £33.04 
301385 Korean infantry vehicle 1/35th £33.04 302123 PYB-5 Catalina £33.04 
301386 Tiger 1 interno £29.99 302124 F4U-4D Corsair £19.80 
301387 1/35th Tiger 1 £39.95 302125 AH-64D Longbow 1/48 £18.95 
301388 M113 Filter Recovery £29.99 302126 P38J Lockheed 1/48th £24.77 

24 January 2019 Page 14 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
302128 Mig 29 1/48th £26.90 
302129 Hurricane MK11 1/72nd £9.84 3.4 Mantua Plane Accessories 
302130 Spitfire MKX 1/72 £9.84 
302132 P51D Mustang 1/48th £8.20 Part No. Product Description Retail 
302133 Me 109 Messerschmitt 1/72nd £8.20 
302136 PBY-4 Catalina 1/72nd £31.04 10140 Quo-Vadis wing set £73.70 
302137 PBY-5A  Catalina Black cat 1/72 £48.38 10151 Harmony fuselage £44.55 
302138 Apache AH64 A 1/72nd £11.52 10154 Harmony tailplane £13.20 
302139 MH-60G Pave hawk £18.62 10190002 Canopy & Servo Tray Lupetto £13.20 
302140 SU 27 UB Flanker 1/48th £51.34 10190003 Cockpit Lupetto £13.20 
302141 B17E RAF Coastal 1/72nd £33.04 10202 Wings for petrel £14.30 
302142 B17F Nose art 1/72nd £33.04 10203 Tailplane for petrel £9.08 
302144 P-38E Lightning 1/48th £24.77 10212 Eagle 738 wing set £19.03 
302145 P-38M Night 1/48th £26.42 10213 Eagle 738 tailplane £9.00 
302146 1/48th Messeschmitt BF109G £18.99 10222 Eagle 739 wing set £22.29 
302149 Lockheed F-5E Lightning £31.04 10223 Eagle 739 tailplane £6.95 
302150 B17C/D Fortress £31.04 10224 Battery pack eagle £14.24 
302151 P38 L Pathfinder 1/48th £31.04 10225 Folding propeller £9.75 
302152 B24 M Liberator 1/72nd £33.04 10228 Speed controler £18.15 
302155 P 47N Thunderbolt 1/48th £28.99 10252 Sky hawk wing set (aileron) £23.53 
302157 MK xiv Spitfire 1/48th £21.99 10253 Sky hawk 742 Tailplane/fin £10.94 
302158 Droopsnoot 1/48th £18.70 10254 Fuselage £20.94 
302159 1/48th P-47 D Thunderbolt £24.01 10381 Sia Marchetti wing kit £79.00 
302161 Spitfire X1V E 1/48 £21.99 10386 Sia Marchetti wing tanks £53.45 
302164 Hawker Hunter 6 £21.00 10387 Siai Marchetti Al-Italia Stickers £14.94 
302167 Sukhoi SU-27 £57.88 10470.1 Double Canopy £26.42 
302168 Liberator Zodiac B-24H 1.72nd £36.33 10474 Double Plastic parts £25.44 
311203 1/24th Triumph TR-3A 1958 £16.95 2009 Mini Kosmo canopy £8.20 
311212 1935 Morgan 3 wheeler £29.95 2010 Belcrank c/ line small £1.57 
311217 Lincoln convertible 1928 £54.95 2011 Belcrank c/ line large £1.57 
311617 F4U-5N Corsair £17.95 2020 Kosmo 4  Cowel £14.99 
314442 Douglas DC-6B Pan american £19.95 2025 Sia Marchetti cowl £19.00 
314445 Boeing Stratocruiser £13.95 2026 Sia Marchetti Wing tanks (4) £19.51 
314460 Lockheed Air India £15.95 2030 Single arm 2x9x30mm £2.49 
314461 Electra £19.50 2035 Elevator control set £6.04 
314462 B737 300 £19.50 2040 Control horn 2x25mm £2.22 
314463 B757 200 retro £21.95 2042 Nylon hinges 2x20x30mm £2.22 
314464 B737 400 £15.95 2043 Twin horn for rudder 2x70x95mm £2.99 
314467 B757 Northwest Airlines £24.95 2053 Swivel set and clips £2.25 
 2054 Fuel Filler bottle with plastic spout £3.75 
3.3 Paint, Adhesives & Finishings 2060 Rubber wheels 28mm £3.12 
 2061 Rubber wheels 16mm £1.64 
Part No. Product Description Retail 2070 Plastic conrol line handle £2.75 
 2072 Metal control line handle £4.34 
1002 Nut lock 3gr  [K] £2.50 2118 Fuel tube hard 3x5x1000mm £2.23 
1015 Rapid white glue  [F] £3.25 2130 Horns for aileron rods £2.27 
1016 Aliphatic Water proof glue  [F] £4.25 2150 Wing bolts and brackets £1.26 
1022 White filler for wood £4.95 2160 Adjustable control horn £2.67 
1030 Glue & Filler Set £30.30 2161 Control horn with swivel link £1.99 
1200 Micro set setting decal solution  [K] £3.75 2165 Nylon swivel links £2.22 
1201 Micro Sol Draws decals down  [K] £3.99 2167 Aileron linkage with swivel link £3.75 
1202 Micro Film making custom decals  [K] £3.99 2168 Small aileron adjustable arm £3.75 
1203 Micro Flat non yellowing  [K] £3.99 2170 Motor cowel sockets £3.75 
1204 Micro Gloss non yellowing  [K] £3.99 2186 Alu undercarriage 30x300mm £11.11 
1205 Micro Satin non yellowing  [K] £3.99 2187 Alu undercarriage 30x270mm £10.12 
1206 Micro Mask paint on masking film  [K] £3.99 2188 Front nose leg 4x200mm £3.75 
1207 Micro Kristal window forming clear  [K] £3.99 2189 Front nose leg 3x180mm £3.75 
1565 Super glue Med  [D] £5.95 2190 Adhesive foam sheet 3x180x300 £3.25 
1566 Super glue Thin  [D] £5.95 2191 Adhesive foam tape 3x15x600 £1.58 
1568 Super glue Thick  [D] £5.95 2192 Foam for rx and tx battery £1.58 
1569 Super Glue Gel 20g £3.99 2214 Alu spinner nut 1/4 unf £10.50 
1700 Acrilic spray paint white  [A] £7.99 2217 Nylon pusher prop 10x6 £7.44 
1701 Acrilic spray paint black  [A] £7.99 2218 Nylon pusher prop 7x4 £3.02 
1702 Acrilic spray paint red  [A] £7.99 2219 Nylon pusher prop 8x6 £7.57 
1703 Acrilic spray paint Ochre yellow  [A] £7.99 2220 Nylon pusher prop 9x6 £6.40 
1704 Acrilic spray paint Gold  [A] £7.99 2230 Presure nipple 3mm £1.85 
1740 Acrylic 6 Colour Paint set  [A] £15.99 2234 Elastic 1x5x1500 £3.75 
1750 Acrylic Matt White  [D] £2.99 2235 Acc set for rubber planes £3.75 
1751 Acrylic Matt Black  [D] £2.99 2237 Rubber prop 140x125 £2.95 
1752 Acrylic Bright yellow  [D] £2.99 2238 Rubber Prop 240mm £2.48 
1753 Acrylic Matt Red  [D] £2.99 2239 Rubber prop 125x110 £2.87 
1754 Acrylic Matt Blue  [D] £2.99 2241 Wood prop 6x3 £2.87 
1755 Acrylic Ochre Paint  [D] £2.99 2243 Wood prop 9x6 £3.18 
1950 Modelspan 12gr White (500x1000mm)  [E] £9.50 2273 Wood prop 7x7.5 (speed 29) £4.14 
1960 Modelspan 24gr White  £11.00 2274 Wood prop 7x3 £4.46 
4450030 Primer surfacer spray paint  [A] £9.95 2286 Wood prop 17x6 £13.95 
70400 Nylon covering 920x1500mm White £5.75 2287 Fiberglass prop 11x7 £6.62 
 2288 Fiberglass prop 11x7 stunt £7.00 
 2290 Alu undercarriage 50x270m £7.00 
 2291 Alu undercarriage 40x170mm £7.00 
 2300 Sia Marchetti Exhaust £39.42 

24 January 2019 Page 15 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
2301 Cant Z Exhaust for .45 engines £34.95 70146 Fiesler Storch Build up wing kit £64.95 
2308 Front landing gear £21.00 70147 Fiesler storch Foam wing set £89.00 
2313 Front nose leg 3x88mm £3.75 70148 Skymaster wings £100.55 
2314 Front nose leg 4x88mm £3.12 70150 Piper Arrow wing set £89.99 
2315 Pair retract main landing gear £36.92 70151 Asiago wing set £94.17 
2316 Front nose leg 4x108mm £3.75 70152 Watt wing set £72.54 
2317 Front nose leg 4x128mm £3.75 70153 Rondone wing set £78.90 
2321 Collet 4.2 mm £4.14 70157 Grone wing set £94.17 
2322 Collet 3.2 mm £4.14 70158 Super rieti wing set £75.00 
2323 Collet 2.2 mm £4.14 70170 Radar wing set £62.37 
2324 Starlocks mm 2 £2.41 70173 Cessna 177 wing set £72.54 
2325 Starlocks mm 3 £2.41 70175 Tango wing set £78.90 
2326 Starlocks mm 4 £2.41 70180 Bipe wing set £100.55 
2330 Antenna tube £6.53 70183 Calypso wing set £100.55 
2341 90 deg belcrank £2.09 70184 Victor wing set £81.46 
2349 Nylon engine mount 30mm £4.38 70185 Ariane wing set £108.18 
2351 Alu engine mount 33mm £8.26 70186 Cardinal wing set £86.00 
2352 Alu engine mount 35mm £7.95 70187 Sierra wing set £81.46 
2354 Alu engine mount 42mm £8.26 70188 Mini Cardinal wing set £99.28 
2392 Foam wheels 66mm £4.43 70189 Cant Zeta wings £87.50 
24005 Rubber bands £3.41 70196 Piper Arrow elevators £22.95 
2402 Metal clevises 2mm £2.49 70197 Mini Cardinal elevators £30.55 
2403 Nylon clevices 23mm £4.07 70198 Bipe elevators £20.36 
2404 Uniball link for 2mm thread £0.82 70199 Cardinal elevators £29.95 
2405 Steel clevice with rod £3.05 70200 Calypso elevator £22.90 
2406 Adjustable swivel clamps £2.75 70201 Tango elevators £30.55 
2411 Metal clevices and adaptors 2mm £2.22 70202 Cessna 177 elevators £28.01 
2412 Nylon clevices 20mm £1.21 70203 Radar elevators £28.01 
2413 Flexible push rod 900mm £6.95 70204 Ariane elevators £24.95 
2416 Flexible tubing 2mm £0.96 70205 Asiago elevators £16.95 
2417 Flexible tubing 3mm £0.96 70206 Watt elevators £17.18 
2418 Flexible tubing 4mm £0.96 70207 Asiago rudder £13.60 
2419 Fuel filter £1.85 70208 Watt rudder £13.93 
2420 Fuel Tubing 2x4x1000mm £1.85 70209 Radar rudder £16.25 
2421 Fuel Tubing 2x5x1000mm £1.98 70210 Tango rudder £21.64 
2422 Rubber bands 40 mm £1.91 70211 Calypso rudder £20.36 
2423 Rubber bands 65mm £1.91 70212 Cardinal rudder £24.18 
2424 Rubber bands 75mm £1.91 70213 Bipe rudder £21.00 
2427 Fuel tank 100cc £6.04 70214 Mini Cardinal rudder £22.90 
2428 Fuel tank 150cc £6.04 70215 Piper arrow rudder £18.95 
2429 Fuel tank 250cc £5.44 70232 Cessna 177 Fuselage £59.82 
2430 Fuel tank 300cc £4.95 70233 Watt Fuselage £68.73 
2431 Fuel tank 400cc £6.04 70235 Victor, Sierra, Radar Fuselage £48.37 
2432 Fuel Tank 500cc £6.68 70237 Asiago, Rieti, Grone fuselage £49.95 
2433 Fuel tank 35cc £3.95 70238 Bipe Fuselage £62.37 
2447 Nylon spinner 68mm £6.53 70240 Tango Fuselage £52.18 
2455 Magnum prop GF  8x4.5 £4.68 70242 Calypso Fuselage £70.00 
2456 Magnum prop GF 8x5.5 £3.24 70243 Ariane Fuselage £65.00 
2457 Magnum prop GF 9x4.5 £3.24 70244 Cardinal Fuselage £85.00 
2460 Magnum prop GF 10x6 £5.70 70246 Mini cardinal Fuselage £96.73 
2471 Aileron linkage with swivel link £3.05 70254 Cessna 177 engine cowl £11.38 
2472 Aileron linkage with swivel link £3.05 70255 Cessna 182 engine cowl £12.66 
2473 Nylon hinges 1x16.5x33mm £3.05 70256 Bipe cowl £12.66 
2474 Plastic hinges £2.49 70260 Piper cowl £12.66 
2475 Control horns 2x35mm £2.25 70265 Ariane cowl £12.75 
4301 Electric 480 motor for eagle range £9.99 70266 Cardinal / Skymaster cowl £15.95 
4700 Electric prop 7x3.5 £1.75 70267 Piper arrow cowl £15.20 
4702 Electric prop 8x4 £1.65 70268 Skymaster rear cowel £14.95 
4704 Electric prop 9x5 £1.45 70269 Fiesler cowl £14.85 
4708 Electric prop 10x6 £2.53 70270 Motor cowel for cant z £14.94 
4730 Prop adaptor 3mm £3.95 70271 Watt engine mount £12.66 
4731 Prop adaptor 4mm £3.75 70272 Rondone engine mount £12.66 
4732 Prop adaptor 5mm £4.95 70280 Wheel spats (2) £6.29 
4733 Prop adaptor 6mm £12.10 70282 Cardinal wheel spats (3) £13.93 
70264 Calypso Cowel £10.44 70284 Piper Arrow ABS parts £39.00 
70366 Fiesler storch sticker set £17.94 70285 Watt wing ribs £9.55 
 70286 Servo boxes £7.64 
3.5 Aviomodelli Planes Access 70287 Mini Cardinal plastic acc set £17.76 
 70288 Elevator plastic inboard rib Asiago £6.29 
Part No. Product Description Retail 70289 Elevator plastic inboard rib Watt £6.29 
 70290 Rubber bands 60mm £2.22 
2004 Sia Marchetti canopy £24.95 70291 Rubber bands 70mm £1.58 
70077.13 Cardinale spare £9.22 70292 Rubber bands 90mm £1.87 
70081 Bipe strut tension set £15.75 70316 Pilot £5.94 
70094.1 Skymaster windscreen £14.94 70317 Pilot £8.65 
70094.5 Skymaster plan set £16.47 70333 Grone wing strips £9.22 
70095.1 Piper arrow screen £19.31 70334 Watt stickers £5.03 
70095/1 Wing tube Piper Arrow £8.11 70335 Rondone stickers £5.03 
70095/2 main wheel u/carriages £5.94 70337 Asiago stickers £5.03 
70132 Floats   plura £49.95 70350 Radar stickers £8.84 
70145 Aero Pit Box £49.00 70352 Victor stickers £6.29 

24 January 2019 Page 16 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
70353 Cessna 177 stickers £5.03 70807 Rudder hinges Cessna 177 £4.76 
70354 Super rieti stickers £5.03 70808 Nylon hinges £4.76 
70355 Tango stickers £5.03 70810 Nylon steering arm £4.95 
70360 Bipe special stickers £7.57 70814 Steel/ nylon control horn £3.12 
70363 Calypso stickers £8.84 70821 Fiesler storch wing brace (1) £10.89 
70364 Ariane stickers £8.84 70822 Steel/ nylon control horn £3.12 
70365 Sierra stickers £11.38 70824 Piper Arrow Wing Brace Rod £12.66 
70380 Watt wing strips £9.22 70825 Calypso wing brace 1992 £10.82 
70381 Rondone wing strips £9.22 70826 Ariane, Tango P/ Arrow wing brace £10.82 
70385 Cessna Skymaster 02 stickers £19.40 70827 Grone, S Rieti wing brace £9.28 
70389 Piper Arrow sticker set £18.95 70828 Asiago wing brace £9.28 
70392 Firewall Cessna Mini Cardinal £6.29 70829 Watt, Rondone wing brace £9.28 
70449 Radar rapid cover sheets £22.90 70832 Nylon belcrank £3.50 
70450 Asiago rapid cover sheets £22.90 70840 Closed loop wire fine £3.75 
70451 Watt rapid cover sheets £22.90 70841 Closed loop cable heavy £3.75 
70452 Rondone rapid cover sheets £22.90 70842 Tubing for closed loop fine £2.53 
70453 Sierra rapid cover sheets £22.90 70843 Tubing for closed loop heavy £2.49 
70455 Cardinal stickers light & dark blue £21.57 70848 Clevise closed loop £4.76 
70456 Cardinal stickers red & black £21.58 70849 Clevise with ends £3.45 
70457 Cardinal stickers orange & dark red £17.95 70850 Clevise with screw hole for cable £3.12 
70458 Mini Cardinale stickers £24.77 70851 Clevises metal pin £2.95 
70480 Asiago Wing Tips £9.22 70852 Clevises with threded rod £3.45 
70481 Watt wing tips £9.22 70853 Clevises with long rod £3.75 
70482 Mini Cardinal wing & fairing tips £20.31 70854 Clevises with long rod £4.76 
70483 Radar wing & elevator tips £12.66 70855 Clevises with long rod £4.76 
70484 Cessna 177 wing & tip acc £12.66 70856 Clevises with long rod £4.76 
70485 Sierra wing & elevator tips £14.64 70857 Nylon ball link with threaded bush £3.12 
70486 Cardinal wing & elevator tips £16.86 70858 Alu round head rivit £1.91 
70600 Engine mounts adjustable 2.5/5cc £5.03 70860 Plastic control cables £4.76 
70605 Engine mounts adjustable 6/10cc £3.95 70861 Bowden cable controls £4.76 
70606 Universal engine mounts £10.82 70862 Bowden cable controls £4.25 
70608 Engine mounts 6/8cc £6.29 70863 Push rod ends £3.25 
70610 Swinging motor mount £12.35 70866 Plastic controls inner £5.36 
70611 Set of Absorbers £7.57 70867 Plastic controls outer £5.36 
70623 Tank 78cc / 2.7oz £6.29 70871 Wing bolts £2.49 
70624 Tank 125cc / 4.2oz £6.29 70874 Wing bolts £3.12 
70625 Tank 200cc / 6.8oz £6.29 70890 Steerable nose wheel £10.50 
70626 Tank 300cc / 10.2oz £6.29 70900 Front noseleg (Cardinale) £10.95 
70627 Tank 450cc / 15.3oz £4.95 70901 Mini Cardinal nose leg £6.29 
70660 Finger guard £2.95 70901.1 Mini Cadinale nose leg (with plastic parts) £15.99 
70661 Universal silencer £31.92 70905 Nose leg 3.5mm £3.12 
70662 Glow plug attachment £11.52 70906 Nose leg 4mm £3.12 
70670 Spinner 46mm £2.25 70910 Nylon nose wheel clamp £1.91 
70671 Spinner 52mm £4.58 70914 Under carriage Skymaster £26.95 
70672 Spinner 58mm £4.58 70915 Bipe landing gear £17.76 
70673 Spinner 58mm £4.95 70918 Undercarriage glass filled nylon £8.95 
70700 Super sonic G/F prop 7x3.5 £2.49 70919 Float acc kit for Cessna £12.66 
70702 Super sonic G/F prop 8x4 £2.49 70922 Mini Cardinal main landing gear £13.93 
70703 Super sonic G/F prop 8x6 £2.49 70923 Nylon undercarriage £13.93 
70704 Super sonic G/F prop 9x4 £2.67 70924 Float ass kit for Cardinal £19.03 
70705 Super sonic G/F prop 9x6 £2.67 70925 Tail plane bipe special £10.82 
70706 Super sonic G/F prop 10x4 £2.25 70926 Tail wheel assembly calipso £10.82 
70707 Super sonic G/F prop 10x6 £2.55 70927 Float ass kit for Calypso £21.57 
70708 Super sonic G/F prop 11x4 £3.05 70928 Bipe wing supports £13.93 
70709 Super sonic G/F prop 11x6 £3.05 70930 Wheel collets 3.75mm £3.12 
70710 Super sonic G/F prop 11x7 £2.25 70931 Wheel collets 4.25mm £3.12 
70711 Super sonic G/F prop 12x4 £2.95 70932 Wheel collets 4.75mm £2.97 
70712 Super sonic G/F prop 12x6 £3.05 70933 Wheel collets 5.25mm £3.12 
70720 Wood prop 10x6 £3.50 70943 Antenna Cardinal £3.75 
70721 Wood prop 11x7.5 £4.14 70946 Motor mount £18.45 
70722 Wood prop 12x6 £4.39 70951 Glider hook £2.95 
70723 Wood prop 12x9 £4.58 70976 Wing Retainer spring £3.12 
70724 Wood prop 13x6 £5.41 70977 Retainer hook £3.12 
70725 Wood prop 14x6 £7.00 70978 Wing tie rod assembly £6.29 
70726 Wood prop 15x7 £8.84 70979 Wing tie rod assembly £5.03 
70727 Wood prop 18x6 £16.47 70986 Torque tube arms £5.03 
70728 Wood prop 18x8 £16.47 70987 T-tail horn £5.03 
70729 Wood prop 18x10 £16.47 70990 Mechanical mixer £10.82 
70730 Wood prop 20x6 £14.95 70991 Tail wheel assembly 30mm £6.95 
70731 Folding prop 7x3 1/2 £13.18 70992 T stabilizer hinge Ariane type £10.82 
70732 Wood prop 20x8 £16.44 70993 Rudder hinge brackets £5.03 
70733 Wood prop 20x10 £12.95 70994 Rudder horn for gliders £3.05 
70750 Carbon fibre prop 7x3.5 £4.76 70995 Rudder horn Watt, Rondone £5.03 
70751 Carbon fibre prop 10x4 £5.72 71002 Wheels 60mm £9.87 
70752 Carbon fibre prop 10x6 £5.72 71003 Wheels 70mm £11.38 
70753 Carbon fibre prop 11x7 £5.72 71004 Wheels 85mm £10.50 
70799 Ariel tie down with spring £1.72 71005 Aircraft Wheel 110mm (1) £7.44 
70801 Hinges 15x30mm £3.50 71011 Wheel 35mm £4.64 
70802 Hinges 20x40mm £4.76 71012 Wheels 50mm £4.95 
70804 Hinge 3x38mm £3.12 71020 Wheels 18mm £0.96 
70806 Nylon hinge flaps £10.82 71021 Wheels 25mm £1.86 

24 January 2019 Page 17 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
71024 Wheels 50mm £10.12 8258 20027 Saw blade long £4.95 
71025 Wheels 60mm £13.36 8259 Short saw blade £3.10 
71034 Piper Arrow Vetri £18.95 8267 16007 Wood  carving knife £6.25 
71043 Canopy catches £4.55 8268  16008Light duty knife £2.25 
71044 Ariane canopy £10.35 8269  16004Swivel knife £5.25 
71045 Asiago, Grone & Rieti canopy £10.35 8270  16013 Blade knife £3.10 
71046 Rondone canopy £10.35 8271 20007 Snap blades 8270 £3.10 
71048 Front Screen Skymaster £19.95 8272 Blade knife £4.95 
71114 Power pod 1.5-2.5cc £24.95 8280  20360Gouge 1/4 inc 3mm £3.25 
71115 Fuel tank for power pod £7.30 8281  20350U Gouge 11/32nd 9mm £3.25 
 8282  20320Wood chisel 1/4 inch £3.25 
3.6  Mantua Tools (Retail) 8283  20310Wood chisel 3/16th £3.25 
 8284  20330 Gouge 3/16th £3.25 
Part No. Product Description Retail 8285  20340Gouge 3/8th £3.25 
 8286 Thick blade 8294-8296 £3.99 
19225 Vertical drill stand £29.95 8287 Med/ blade 8294-8296 £3.99 
19226 Vertical drill stand ( retail only) £45.00 8288 Hard back saw 5" x 1.25" 54 tpi £5.95 
19370 Circular saw blade holder £8.95 8294 Heavy duty handle & 2 saw blades £15.95 
19375 Circular Saw £8.25 8296  55666 Mitre box set £16.95 
19376 Circular saw £8.25 8297  55672 Hammer £11.99 
19377 Circular Saw £8.25 8298  55661 Pin vise £6.75 
19436 Chuck £8.95 8299  55662 Screw driverset £6.95 
19437 Chuck £8.95 8300  55668 Files with handle £13.95 
19510 Steel polishers £4.95 8301  55667 Six assorted files £12.50 
19512 Brass polishers £4.95 8302  55678 Sanding stick £5.99 
19514 Nylon polishers £4.95 8303  55679 Sanding belts £8.99 
19517 Stone De-buring tools £4.95 8304  55591 End nippers £8.75 
19519 Stone De-buring tools £4.95 8305  55610 Lexan scissors £5.45 
19522 Stone Cutting discs & mandrill £3.95 8306  30410 Tweezers - curved £3.99 
19526 Stone Cutting discs £3.95 8307  55580 Needle nose pliers £8.75 
19529 Mandrills 2 off £2.66 8308  55590 Pliers curved £9.75 
19533 Metal Saw discs + Mandrill £4.95 8309  5550 Wire cutters £9.25 
19535 Metal Saw discs £4.95 8316 30412 Straight pointed Tweezers £4.75 
19540 Metal De-buring tools £4.95 8317  55611 Scissors 5" £4.25 
19542 Metal De-buring tools £4.95 8318 Tweezer slide lock £4.95 
19544 Metal De-buring tools £4.95 8319 30414 Tweezers self closing £4.99 
19550 Metal De-buring tool £6.95 8320 55671 Jewelers saw £14.99 
19551 Metal De- buring tool £6.95 8321 55540 Forceps staight £5.75 
19552 Metal De- buring tool £6.95 8322 55530 Forceps curved £5.75 
19553 Metal De- buring tool £4.95 8325 55612 Scissors 4.5" £4.25 
19557 Felt polishing tools £4.95 8326 56005 Spanner adjustable 4" £5.75 
19558 Stone De-buring tools £4.95 8330 55511 Drill set £10.00 
19560 Stone De-buring tools inc mandrill £4.95 8342 55592 Round nose pliers £8.95 
19571 Metal De-buring tools £4.95 8344 55613 Curved scissors £3.99 
19596 Metal De-buring tools £4.95 8360 Hexagonal keys 1.5-2-2.5 £8.25 
19597 Metal De-buring tools £6.95 8361 Set of 3 hexagonal insert £2.25 
19600 Stone De-buring tools £7.95 8364 Special circlip pliers £5.75 
19602 Metal De-buring tools £6.95 8365 Engine main bearing remover tool 12mm £21.00 
19604 Metal De-buring tool £11.78 8366 Engine main bearing remover tool 13mm £21.00 
2439 Cross wrench 8-10mm £5.99 8367 Flywheel extractor £19.99 
2440 Cross wrench 6-7mm £3.25 8370 4mm Spanner £3.25 
5535251 76 Micro drill bits 0.5 £1.35 8372 5.5mm Spanner £3.25 
5535256 66 Micro drill bits 0.8 £1.30 8374 7mm Spanner £3.25 
5535260 61 Micro drill bits 1 £1.75 8564 Flat Nose Pliers £12.99 
5535262 56 Micro drill bits 1.2 £0.99 WCS-8 8 Piece wood carving set £9.95 
5535267 53 Micro drill bits 1.5 £0.99 
5535270 50 Micro drill bits 1.7 £0.99 3.7 Wood Imperial ( Retail) 
8120 Tool set £29.00 
8180 Solder wire 3mtr £2.99 Part No. Product Description Retail 
8200 20011 Spare blade for 8263 £1.99 
8201 Assort blades 8263 £2.63 82700 1/16x1/16x36            Spruce strip £0.33 
8204 30608 Strip cutter with adj/jaw £18.95 82701 1/16x1/8x36              Spruce Strip £0.38 
8205 Hobby awl £4.95 82704 1/16x1/4x36              Spruce Strip £0.50 
8206 Bunisher spoon tip £5.95 82710 3/32x3/32x36            Spruce Strip £0.50 
8208 30607 Punch wheel £6.95 82730 1/8x1/8x36                Spruce Strip £0.50 
8209 Keyhole Saw blades £4.95 82731 1/8x3/16x36              Spruce Strip £0.70 
8210  20016Blade fine angle 8263 £2.45 82732 1/8x1/4x36                Spruce Strip £0.72 
8215  20017Blade chisel edge 8263 £2.45 82733 1/8x3/8x36                Spruce Strip £0.95 
8216  20018Blade chisel edge large £2.45 82735 1/8x1/2x36                Spruce Strip £1.09 
8220  20019Blade sharpe edge 8265 £2.45 82740 3/16x3/16x36            Spruce Strip £0.88 
8221  20024Blade sharpe angle 8265 £2.45 82742 3/16x3/8x36 Spruce strip £0.94 
8222  20022Blade sharp curved 8265 £2.45 82744 3/16x1/2x36              Spruce Strip £1.21 
8223  20002 long straight edge 8265 £2.75 82750 1/4x1/4x36                Spruce Strip £1.09 
8235 60013 Rotary cutter £7.25 82751 1/4x3/8x36                Spruce Strip £1.21 
8236 60014 Rotary blade 8235 £3.95 82752 1/4x1/2x36                Spruce Strip £1.43 
8240 20010 Spare blade 8265 £2.65 82753 3/8x3/8x36                Spruce Strip £1.48 
8249 20080 Double blade 8268 £3.10 82754 3/8x1/2x36                Spruce Strip £1.76 
8250 20064 Rotary blade 8269 £3.10 82755 1/2x1/2x36                Spruce Strip £2.04 
8251 20101 Spare blade 8267 £3.10 84200 1/32x4x36                  Balsa Sheet £1.61 
8252 20102 Spare blade 8267 £2.95 84203 1/16x4x36                  Balsa Sheet £1.74 
8254 20104 Spare blade 8267 £2.95 84205 3/32x4x36                  Balsa Sheet £2.01 

24 January 2019 Page 18 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
84206 1/8x4x36                    Balsa Sheet £2.53 88011 Birch ply 4x200x1200mm (RO)  [C] £14.99 
84207 3/16x4x36                  Balsa Sheet £2.53 
84209 1/4x4x36                    Balsa Sheet £2.57 4.2  Mantua Hardware 
84210 5/16x4x36                  Balsa Sheet £2.99 
84211 3/8x4x36                    Balsa Sheet £3.80 Part No. Product Description Retail 
84212 1/2x4x36                    Balsa Sheet £5.14 
84214 3/4x4x36                    Balsa Sheet £5.95 20271 5mm Washer £2.23 
84252 1/32x3x36                  Balsa Sheet £1.34 20276 Screw 3x15 mm £1.64 
84253 1/16x3x36                  Balsa Sheet £1.41 20277 Screw 4x16 mm £2.07 
84255 3/32x3x36                  Balsa Sheet £1.65 20278 Screw 4x8 mm £2.07 
84256 1/8x3x36                    Balsa Sheet £1.90 20279 Screw 4x10 mm £2.07 
84258 3/16x3x36                  Balsa Sheet £2.17 20280 Screw 4x14 mm £2.07 
84259 1/4x3x36                    Balsa Sheet £2.36 20281 Screw 3x6 mm £2.07 
84260 5/16x3x36                  Balsa Sheet £2.25 20508 Screw 3x12 mm £1.45 
84261 3/8x3x36                    Balsa Sheet £3.44 20513 Screw 4x12 mm £2.07 
84262 1/2x3x36                    Balsa Sheet £3.74 20531 Screw 4x12mm £2.07 
85099 1x1x36                        Balsa Block £2.75 20612 Screw 4x8 mm £1.64 
85100 1x1.1/2x36                 Balsa Block £4.15 20613 Screw 3x8 mm £2.14 
85101 1x2x36                        Balsa Block £6.53 20614 Screw 3x6 mm £2.18 
85102 1x3x36                        Balsa Block £7.87 20615 Screw 3x22 mm £2.77 
85103 1x4x36                        Balsa Block £9.84 20630 Bolt 3x12 £2.99 
85110 2x2x36                        Balsa Block £7.45 20822 S/T 3.5x19 mm £2.07 
85111 2x3x36                        Balsa Block £15.32 20836 Screw 4x16 mm £2.41 
85112 2x4x36                        Balsa Block £6.95 20846 Screw 4x20 mm £2.41 
85115 3x3x36                        Balsa Block £11.00 20849 Screw 3x10 mm £2.07 
85116 3x4x36                        Balsa Block £16.46 20859 S/T 3.5x13 mm £2.07 
85150 1x1x12                        Balsa Block £1.19 20860 Screw 3x20 mm £2.07 
85151 1x2x12                        Balsa Block £1.87 20861 Screw 3x25 mm £2.07 
85152 1x3x12                        Balsa Block £2.68 20866 Screw 3x14 mm £2.07 
85153 1x4x12                        Balsa Block £3.56 20882 Screw 3x20 mm £2.43 
85160 2x2x12                        Balsa Block £3.56 20883 Screw 3x20 mm £1.89 
85161 2x3x12                        Balsa Block £5.36 22215 Screw 4x14 mm £2.90 
85162 2x4x12                        Balsa Block £6.62 22220 Screw 4x12 mm £2.90 
85165 3x3x12                        Balsa Block £7.78 22221 Screw 4x12 mm £2.07 
85166 3x4x12                        Balsa Block £10.11 22223 S/T Screw 2.9x16 mm £2.90 
85830 1/16x1/16x36             Balsa Strip £0.27 22224 S/T Screw 2.2x6.5mm £2.90 
85833 1/16x3/16x36             Balsa Strip £0.28 22293 Screw 4x10 mm £2.90 
85834 1/16x1/4x36               Balsa Strip £0.36 22354 Screw 3x10 mm £2.90 
85840 3/32x3/32x36             Balsa Strip £0.28 22410 Screw 4x16 mm £2.90 
85851 1/8x1/8x36                 Balsa Strip £0.35 22650 Screw 4x10 mm £2.48 
85852 1/8x3/16x36               Balsa Strip £0.36 22766 Screw 4x12 mm £2.90 
85853 1/8x1/4x36                 Balsa Strip £0.39 22851 S/T  2.9x9.5 mm £2.08 
85854 1/8x3/8x36                 Balsa Strip £0.50 22907 Screw  3x35 mm £1.41 
85855 1/8x1/2x36                 Balsa Strip £0.54 24126 Screws 2.5x5 mm £2.64 
85860 3/16x3/16x36             Balsa Strip £0.39 24151 S/T Screw 2.9x25mm £2.90 
85861 3/16x1/4x36               Balsa Strip £0.99 24160 Grub Screw £4.43 
85862 3/16x3/8x36               Balsa Strip £0.72 24357 Grub Screw 4x16mm £3.26 
85863 3/16x1/2x36               Balsa Strip £0.76 24467 Screw 5x35 mm £2.90 
85864 3/16X1X36                 Balsa Strip £0.98 24468 Screw 3x16 mm £2.90 
85870 1/4x1/4x36                 Balsa Strip £0.50 24730 S/T Screw 4x6mm £2.24 
85871 1/4x3/8x36                 Balsa Strip £0.65 2480 3mm Anodized flange nuts (10) £11.94 
85873 1/4x1/2x36                 Balsa Strip £0.77 2481 4mm Anodized flange nuts (10) £11.94 
85875 1/4x1x36                    Balsa Strip £1.21 2482 3mm Anodized flange nuts nylock (10) £13.43 
85880 3/8x3/8x36                 Balsa Strip £0.82 2483 4mm Anodized flange nuts nylock (10) £6.40 
85885 1/2x1/2x36                 Balsa Strip £1.09 2485 Bolts & grip nuts 3x20mm £2.31 
85887 1/2x1x36                    Balsa Strip £1.76 2486 Bolts & grip nuts 4x20mm £2.87 
85890 3/4x3/4x36                 Balsa Strip £1.56 2487 Grip nuts 2.6mm £1.58 
85892 1x1x36                       Balsa Strip £3.15 2488 Grip nuts 3mm £1.58 
 2489 Grip nuts 4mm £1.58 
4 Plywood (Retail) 2490 Nylock nuts 4mm £2.14 
 2491 Nylock nut 3mm £1.60 
Part No. Product Description Retail 2492 Nylock nuts 5mm £2.43 
 2495 8mm Nylock Nut £3.40 
87601 Walnut ply 1.5x200x1000mm  [C] £6.75 2500 Copper Sheet 0.10x100x200mm  [E] £2.89 
87602 Walnut ply 2x200x1000mm  [C] £7.25 2501 Copper Sheet 0.30x100x200mm  [E] £4.34 
87603 Walnut ply 3x200x1000mm  [C] £8.25 2502 Copper Sheet 0.50x100x200mm  [E] £4.95 
87604 Walnut ply 4x200x1000mm  [C] £10.95 2532 Raw copper strip 0.3x2x500mm  [E] £2.15 
87605 Walnut ply 5x200x1000mm  [C] £13.50 2533 Raw copper strip 0.5x3x500mm  [E] £2.25 
87701 Mahogany ply 1.5x200x1000mm  [C] £6.75 2534 Raw copper tubing 3x4x1000mm  [C] £6.75 
87702 Mahogany ply 2x200x1000mm  [C] £9.25 2580 Raw brass wire 1.5x1000mm  [E] £2.49 
87703 Mahogany ply 3x200x1000mm  [C] £9.95 2581 Raw brass wire 2x1000mm  [E] £2.55 
88001 Birch ply 0.4x200x1200mm (RO)  [C] £16.50 2582 Raw brass wire 3x1000mm  [E] £3.10 
88002 Birch ply 0.6x200x1200mm (RO)  [C] £17.50 2583 Raw brass wire 4x1000mm  [E] £3.65 
88003 Birch ply 0.8x200x1200mm (RO)  [C] £8.95 2584 Brass rod 5 x 1000mm  [E] £4.50 
88004 Birch ply 1x200x1200mm (RO)  [C] £9.50 2585 Raw brass wire 6x1000mm  [E] £5.95 
88005 Birch ply 1.5x200x1200mm (RO)  [C] £8.99 2586 Raw brass wire 2.5x1000  [E] £2.95 
88006 Birch ply 2x200x1200mm (RO)  [C] £10.25 2587 Soft brass wire 0.3x5000mm  [E] £4.95 
88007 Birch ply 3x200x1200mm (RO)  [C] £13.50 2588 Raw brass wire .30 x5000mm  [E] £4.95 
88008 Birch ply 5x200x1200mm (RO)  [C] £16.25 2589 Soft brass wire 0.5x5000mm  [E] £4.95 
88009 Birch ply 6x200x1200mm (RO)  [C] £17.95 2590 Raw brass wire 0.5x5000mm  [E] £4.95 
88010 Birch ply 8x200x1200mm (RO)  [C] £19.45 2591 Soft brass wire 0.7x5000mm  [E] £5.45 

24 January 2019 Page 19 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
2592 Raw brass wire 0.7x5000mm  [E] £5.45 2806 Dural Sheet 1.5x100x200mm  [E] £3.50 
2593 Soft brass wire 1x5000mm  [E] £5.75 2807 Dural Sheet 2x100x200mm  [E] £3.75 
2594 Raw brass wire 1x5000mm  [E] £5.75 2854 Raw brass strip 1x6x500mm  [E] £3.99 
2595 Copper wire 0.3x5000mm  [E] £4.95 2880 Raw brass tubing 2x3x1000mm  [E] £3.95 
2596 Copper wire 0.5x5000mm  [E] £4.95 2881 Raw brass tubing 2x4x1000mm  [E] £4.95 
2606 Nut & bolt TS 1x6 £2.07 2882 Raw brass tubing 3x4x1000mm  [E] £4.95 
2608 Nut & bolt TS  1.4x10 £2.07 2883 Raw brass tubing 3x5x1000mm  [E] £5.75 
2609 Nut & Bolt Tc 1.4x10 £2.07 2884 Raw brass tubing 4x5x1000mm  [E] £5.95 
2610 Nut & bolt TS 1.7x10 £1.65 2886 Raw brass tubing 5x6x1000mm  [E] £6.75 
2611 Nut & bolt Tc 1.7x10 £1.65 2889 Raw brass tubing 6x8x1000mm  [C] £8.95 
2623 Bolt 2x20 mm £1.64 2899 Piano wire 0.6x1000mm  [H] £1.15 
2633 Bolt 2.6x20 mm £1.64 2900 Piano wire 0.8x1000mm  [H] £1.15 
2634 Bolt 2.6x25 £1.64 2901 Piano wire 1x1000mm  [H] £1.15 
2635 Bolt 2.6x30 £1.64 2902 Piano wire 1.5x1000mm  [H] £1.25 
2636 Bolt 3x8mm £1.64 2903 Piano wire 1.8x1000mm  [H] £1.25 
2637 Bolt 3x10 mm £1.64 2904 Piano wire 2.5x1000mm  [E] £2.15 
2638 Bolt 3x12 mm £1.64 2905 Piano wire 3x1000mm  [E] £2.25 
2639 Bolt 3x16 mm £1.64 2906 Piano wire 4x1000mm  [E] £3.99 
2640 Bolt 3x25 mm £1.64 2907 Piano wire 2x1000mm  [H] £1.89 
2641 Bolt 3x30 £1.64 2908 Piano wire 5x1000mm  [H] £4.25 
2642 Bolt 3x18 mm £1.64 2909 Piano wire 6mm  [H] £6.95 
2647 Bolt 3.5x30 mm £1.64 3206059 S/T Screw 3.5 x 9.5 mm £1.89 
2651 Bolt 4x30 mm £1.64 3301089 S/T 3.9x13 mm £1.89 
2667 S/T 3.9x22 mm £1.64 3303002 Screw 3x25 mm £3.40 
2668 S/T 2.9x19 mm £1.64 35910 Trotamares search light  5mm  [A] £5.75 
2669 S/T 3.9x25mm £1.64 48736 Display Case Bruma £195.00 
2670 S/T 2.2x5 mm £1.64 700002679 S/T Screw 3.5x22 mm £2.56 
2671 S/T 2.2 9.5 mm £1.64 700002684 S/T screw 2.9x13 mm £2.56 
2672 S/T 2.2x16 mm £1.64 703206058 S/T Screw 2.9x13 mm £2.53 
2673 S/T 2.9x6.5 mm £1.64 70515 Epoxy Glue 2 part £15.28 
2674 S/T 22.9x9.5 mm £1.64 71682 Piano wire 1.3x1000mm £1.15 
2675 S/T 2.9x16 mm £1.64 71686 Piano wire 2.2x1000mm £1.65 
2676 S/T 2.9x22 mm £1.64 71689 Piano wire 3.5x1000mm £2.49 
2677 S/T 3.5x6.5 mm £1.64 71691 Piano wire 4.5mm x1000mm £4.49 
2678 S/T 3.5x13 mm £1.64 71700 Brass tubing 1.2x1.8x1000mm  [E] £3.15 
2679 S/T 3.5x22 mm £1.64 71701 Brass tubing 2x2.6x1000mm  [E] £2.95 
2680 S/T 3.5x32 mm £1.64 71702 Brass tubing 2.4x3x1000mm  [E] £2.95 
2681 S/T 3.5x16mm £1.64 71703 Brass tubing 3.4x4x1000mm  [E] £3.95 
2682 S/T 2.2x6.5 mm £1.64 71705 Brass tubing 4.1x5x1000mm  [E] £5.25 
2683 S/T 2.2x13 mm £1.64 71706 Brass tubing 5.1x6xx1000mm  [E] £6.95 
2684 S/T 2.9x13 mm £1.64 71707 Brass tubing 5.6x6x1mt  [E] £5.95 
2685 S/T 3.9x16 mm £1.64 71720 Alu tubing 2.1x3x1000mm  [E] £1.49 
2686 S/T 3.9x19 mm £1.64 71721 Alu tubing 3.1x4x1000mm  [E] £1.65 
2687 S/T 3.9x32 mm £1.64 71722 Alu tubing 5.1x6x1000mm  [E] £2.45 
2688 S/T 3.5x19 mm £1.64 71723 Alu tubing 7.1x8x1000mm  [E] £3.25 
2689 S/T 2.9x32 mm £1.64 71724 Alu tubing 10.1x11x1000mm  [E] £3.95 
2690 2mm locking washer £1.13 71740 Bolt & nut 2x18mm £1.57 
2691 2.6mm locking washer £1.13 71741 Bolt &  nut 2.6x25mm £1.48 
2692 3mm locking washer £0.82 71742 Bolt &  nut 3x25mm £1.57 
2693 4mm locking washer £1.13 71743 Bolt & nut 3x35mm £1.57 
2695 2mm steel washer £0.77 71750 Bolt & captive nut 2.6x25mm £1.89 
2696 2.6mm steel washer £1.13 71751 Bolt & captive nut 3x25mm £1.89 
2697 3mm steel washer £1.24 71752 Bolt & captive nut 4x25mm £1.89 
2698 4mm steel washer £1.24 748000100 S/T screw 2.2x6.5 mm £3.75 
2699 5mm steel washer £1.64 748000500 S/T screw 2.2x9.5 mm £2.94 
2700 2mm brass plain washer £1.64 748001000 Self tapping screw  £3.75 
2701 2.6mm brass plain washer £1.64 748001500 S/T Screw 2.2x16 mm £3.75 
2702 3mm brass plain washer £1.64 748002500 S/T Screw 2.9x6.5 mm £2.24 
2710 Brass wood screws 1.4x4mm   £2.23 748003000 S/T screw 2.9x9.5 mm £3.75 
2780  Brass Sheet 0.1x100x200mm  [E] £2.48 748003500 S/T Screw 2.9x16 mm £2.24 
2781  Brass Sheet 0.20x100x200mm   [E] £3.24 748003800 S/T screw 3.5x9.5 mm £3.75 
2782  Brass Sheet 0.30x100x200mm   [E] £3.80 748004000 S/T Screw 3.5x13 mm £3.75 
2783  Brass Sheet 0.50x100x200mm   [E] £4.68 748004800 Bolts 3.5 x 19mm £2.90 
2784  Brass Sheet 0.70x100x200mm   [E] £5.44 748004900 Bolts 3.5 x 25mm £2.90 
2785  Brass Sheet 1x100x200mm   [E] £6.25 748005000 Self tapping screw 3.5x30 mm £3.75 
2786  Brass Sheet 1.2x100x200mm   [E] £5.75 748005300 Self tapping screw 3.5x45 mm £3.75 
2787  Brass Sheet 1.5x100x200mm   [E] £5.75 748012000 Screw 3x8 mm £3.75 
2788  Brass Sheet 2x100x200mm   [C] £9.95 748012200 Screw 3x8 mm £3.75 
2793 Ally Sheet 0.20x100x200mm  [E] £1.91 748012500 Screw 3x10 mm £3.75 
2794 Ally Sheet 0.50x100x200mm  [E] £2.25 748013000 Screw 3x12 mm £3.75 
2795 Ally Sheet 0.80x100x200mm  [E] £2.67 748013500 Screw 3x16 mm £3.75 
2796 Ally Sheet 1x100x200mm  [E] £2.87 748014500 S/T/Screw 3x20mm £2.64 
2797 Ally Sheet 1.5x100x200mm  [E] £3.04 748015500 Screw 3x30 mm £3.75 
2798 Ally Sheet 2x100x200mm  [C] £2.75 748017000 Screw 5x35mm £5.79 
2799 Ally Sheet 2.5x100x200mm  [C] £4.68 748020400 Self tapping screw 3x10mm £2.94 
2800 Ergal SheetT6 2x200x300mm  [C] £15.68 748020500 Self tapping screw 3.5x13mm £2.94 
2801 Ergal Sheet T6 2.5x200x300mm  [C] £30.48 748021000 Self tapping screw 3 £2.45 
2802 Ergal SheetT6 3x200x300mm  [C] £35.64 748021500 S/T Screw 3.9x19 mm £3.75 
2803 Dural Sheet 0.6x100x200mm  [C] £1.75 748021800 S/T Screw 4.2 x13 mm £2.94 
2804 Dural Sheet 0.80x100x200mm  [E] £1.75 748022000 S/T Screw 4.2x19 mm £2.94 
2805 Dural Sheet 1x100x200mm  [E] £2.94 748030100 Screw 3x8mm £3.75 

24 January 2019 Page 20 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
748030500 Screw 3x12 mm £3.75 OP12361 Crankshaft for .12/.15 £29.00 
748032000 Screw 3x16 mm £3.75 OP12520 Rear backplate gasket £2.25 
748033000 Screw 3x20 mm £5.25 OP14020 Screw 2.5x6 (10Pcs) £4.95 
748033200 Screw 3x22 mm £5.25 OP14110 Head shim .12/.15 engine £1.45 
748033700 Screw 4x8 mm £4.90 OP14430 Carb Bellows for .12/.15 Carbs £3.40 
748033800 Screw 4x16mm £2.94 OP15120 Con rod .12/.15  with 2 Bushes £19.95 
748040500 Screw 3x10 mm £3.45 OP15140 Con rod .12/.15 Standard con rod £19.95 
748041000 Screw 3x12mm £3.45 OP1542P Ball Bearing Rear .2/.12 Car Pro Roar £9.95 
748041400 S/T Screw 3x20 mm £3.40 OP15810 Pull Start Back Plate £9.95 
748042100 Screw 4x10 mm £2.85 OP15830 Fan 2-2.5/.12-.15 Car RS-FV £3.75 
748042500 Screw 4x12mm £3.45 OP15840 Recoill Shaft With Fan £14.95 
748043200 Bolts 4 x 35mm £1.95 OP15870 Locking ring for 2/.12 RS-FV Fan shroud £2.95 
748043300 S/T Screw 4x40 mm £4.14 OP16120 Heatsink head for 15 engine £10.95 
748043500 S/T Screw 5x12 mm £3.45 OP1612P Head heatsink 2/2.5cc £15.95 
748050100 Screw 4x8mm £3.45 OP16150 Heat Sink Head 2cc-.12 stnd £10.95 
748051000 Screw 4x12 mm £2.94 OP16520 Driver for .12/.15 engines £4.95 
748052000 Screw 4x16mm £4.15 OP16620 Conical collet for crankshaft large £4.25 
748052500 Screw 4x20 mm £4.15 OP16910 Recoil Starter Handle £4.95 
748053000 Screw 4x40mm £4.15 OP16920 Recoil starter string £3.75 
748060500 Nut 3mm £4.14 OP16970 Recoil starter pulley & spring £7.25 
748064000 Nylock nuts 3mm £3.45 OP16971 Pull start complete £29.95 
748064500 Nylock nuts 4mm £3.45 OP16980 R/S Hexagonal Driver & one way Bearing £14.95 
748070100 Screw £3.45 OP1702M Pull Start Ally Complete £18.95 
748070300 Pan head screw 3x10 10pcs £4.90 OP1702V Recoil starter pulley & spring with fan £19.95 
748071500 Screw 4x8 mm £3.75 OP17860 Silencer 2-2.5cc / .12-.15 £16.95 
748072700 Screw 4x20 mm £4.15 OP18550 Crankshaft £24.95 
748073000 Screw 5x8 mm £3.75 OP18940 Carburrettor for 2.5/.15 Car Slide Type £24.95 
SS100 Stainless Steel Fasteners (pk 10 ) £1.00 OP18950 Rotary Carb £21.95 
SS130 Stainless Steel Fasteners (pk10) £1.30 OP18960 Carburettor 2/.12 car pro roar slide valve £29.95 
SS50 Stainless steel fastener (pk10) £0.50 OP19650 Head Insert For 2cc-.12 £8.95 
 OP19661 Head insert for 2.5cc engine £7.95 
4.4 OPS Engines (Retail) OP19720 Head Bolts for .12/.15 (10) £4.25 
 OP1982P Ball Bearing Front .2/.12 Car Pro Roar £9.95 
Part No. Product Description Retail OP20320 Camshaft OPS 20cc Four stroke £59.95 
 OP2112 Manifold locking nut for 20cc f/stroke £2.75 
OP60050 OPS NEXT.21  Track £249.00 OP23000 2-2.5 ally spinner £17.95 
OP60051 OPS  NEXT .21 Buggy Engine £199.00 OP23020 Manifold/ Pipe for 20cc f/stroke £21.00 
OP60052 OPS NEXT .21 Buggy Pro engine £225.00 OP2532 Front Bearing 9x24x7 For 20cc f/stoke £9.99 
OP60053 OPS NEXT .21 Team Edition Diamond  £275.00 OP29020 Cylinder for 20 4 - stroke £49.95 
OP60060 OPS NEXT .21 Marine inboard £235.00 OP29220 Silencer 20/1.20 4-stroke £49.95 
OP60120 Go .21 r/ex pull start engine £110.00 OP2952 Rocker cover for 20cc f/stroke £10.95 
OP80410 OPS 60 SPVAE standard venturi disc valve £275.00 OP3020 .21 areo head £9.75 
OP8122R OPS 2cc/.12 CI Car RS  rotary carb £79.00 OP30310 Piston liner set abc 3.5/.21 std car £75.00 
OP81262S OPS.12/2cc Car s/ex sg slide carb £84.95 OP30360 Piston liner set abc 3.5/.21 Buggy T £69.95 
OP82120 OPS .21 / 3.5cc  Stock car pro £175.00 OP30361 Piston liner set abc 3.5/.21 Ultra torque £64.95 
OP82710 OPS .67 Marine Disc Valve  (with op6780) £299.00 OP30370 Piston liner set abc 3.5/.21 Buggy power £75.00 
OP82713 OPS .67 Marine drum valve  (with  £315.00 OP30400 Piston wrist pin 3.5/.21 £4.50 
OP83000 OPS .60 Super  Areo Engine £275.00 OP30450 Wrist pin & circlips £5.25 
OP87110 OPS .45  Marine Disc (with op49200) £249.00 OP30500 Piston pin retainer 3.5/.21 (10) £4.50 
OP87111 OPS .45  Marine Drum (with op49200) £275.00 OP30540 Piston Liner 3.5/.21 Off Road 4 port £59.00 
OP87114 OPS 45 Marine Engine (Drum) New £325.00 OP3054C Piston liner Speedster £69.99 
OP89001 OPS .90 Marine (with OP59200) £415.00 OP30550 Piston liner set abc 3.5/.21 Track £79.99 
OP89005 OPS 90 Marine Bi-metal eng inc (5920)  £389.00 OP30551 New Circuit Piston liner .21/3.5cc £75.00 
 OP30552 Piston Liner Set 3.5/.21 off road £75.00 
4.6 OPS Engine Spares (Retail) OP3055C Piston liner 3.5/.21 Speedster type C £75.00 
 OP30951 Crankcase speedster 3.5/.21 £79.95 
Part No. Product Description Retail OP31170 Exhaust adaptor 3.5/.21 re (4 screw) £11.95 
 OP31190 Exhaust Stub inc gasket & Bolts £15.95 
537970 Efra 2010 tuned pipe £37.95 OP31200 Rear plate gasket 3.5/.21 engine  £1.25 
539451T OPS Next .21 track carburettor complete £76.58 OP31300 O Ring for op32400-32401  £1.10 
CAP OPS Cap red & white £10.85 OP31340 O Ring for op32440 (1pcs) £1.10 
OP02620 Hexagonal wrench 1/8 - 3/32 long £2.25 OP31400 Carburettor retainer 3.5/.21 Buggy £4.25 
OP04100 Conector silicone for 3.5/.21 pipes £5.95 OP31440 Carburettor retainer 3.5/.21 Track £5.95 
OP04120 Conector silicone for 3.5/.21 Buggy E £4.95 OP32100 Crankcase 3.5/.21 SE £59.00 
OP04140 Conector silicone for 3.5/.21 £4.95 OP3230 OPS .21 std threaded crankshaft £45.00 
OP06600 Conical Collet For Crankshaft £3.50 OP32300 Crankshaft 3.5/.21 SE £45.00 
OP10320 2.5cc Tamiya 3 ports ABC Cyl/Piston £45.00 OP32400 OPS 3.5/.21 Back plate £10.95 
OP10350 Piston liner set abc 2/.12 2 port £45.00 OP32401 Rear Plate & resonater 3.5 /.21 £10.50 
OP10360 Piston liner set abc 2/.12 3 port £45.00 OP32440 Rear back plate gas flowed £24.95 
OP10361 Piston liner set abc 2.11/.12 Car Roar £45.00 OP3244R Rear Back Plate inc Booster Bottle £18.95 
OP10420 12/15 gudgeon pin £3.75 OP3260 Standard Venture .21 £5.25 
OP10450 2cc-.12 Wrist Pin £2.95 OP32690 Spring for 3.5/.21 Exhaust (round hook) £3.95 
OP11220 Full Speed Needle £5.95 OP32691 Exhaust spring long for man/pipe £5.95 
OP11230 Needle Valve ass £8.25 OP32692 Exhaust spring short man to pipe £5.95 
OP11320 Full Speed Needle Body £5.95 OP3269P Spring for 3.5/.21 Exhaust (Long hook) £4.50 
OP1151 Glow Head For 2.5cc ops £14.25 OP32700 OPS Tuned pipe .21/3.5cc un-silenced £32.00 
OP11520 Washer    £0.50 OP32770 Manifold 3.5/.21 Re/Buggy for OP37820 £15.95 
OP11522 Washer (2) £2.25 OP32771 Exhaust manifold 180d spring type £22.50 
OP11620 Full Speed Needle Fuel Inlet £4.95 OP32772 Exhaust manifold round spring type £22.50 
OP1215R 2cc-.12 Crankcase £29.00 OP3277R Manifold 3.5/.21 Rally game £22.50 
OP12321 Crankshaft For Recoil Starter 2.11/.12 £29.00 OP3280 Tuned pipe Nitro .21 £29.99 

24 January 2019 Page 21 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
OP32840 Exhaust adaptor 3.5/.21 Track £16.95 OP42900 Ventui intake 10mm £7.95 
OP32842 Exhaust manifold circuit spring type £24.95 OP43000 Exhaust adaptor 6.5/.40sl £21.95 
OP32870 Clamping ring for 3.5/.21 b/pipe £3.95 OP43300 Main needle adjuster £7.95 
OP33450 Manifold 3.5/.21 Re/Buggy for OP37860 £21.95 OP43500 Front bearing 40-45 £12.95 
OP33900 Screw 1/8x5/8 (10pcs) £8.95 OP43600 Ball bearing front 60/67/80 £12.95 
OP33902 Screw 1/8x5/8 (2pcs) £5.95 OP43610 Main Bearing £16.50 
OP34000 Screw 2.6x8 (10pcs) £3.50 OP43700 OPS 40 Piston liner for pipe £75.00 
OP34110 Gasket head .1mm thick (1pcs) £1.45 OP43750 Piston liner 45 marine £79.00 
OP34120 Gasket head .2mm thick (1pcs) £1.45 OP43760 New .45 Piston liner (Replaces op43750) £79.00 
OP34250 Casing for carb dia 8mm op3894 £27.95 OP43900 Screw 1/8x3/8  £1.20 
OP34350 Barrell slide carb £19.95 OP44110 Head gasket 6.5-7.5 0.1mm thick (10) £14.95 
OP34400 Bellows rubber for 3.5/.21 carburetors £5.95 OP44120 Head gasket 6.5-7.5 0.2mm thick (10) £14.95 
OP34450 barrell bottom end needle holder £9.95 OP44200 Exhaust gasket 5-6.5-7.5/.29-40 (10) £19.99 
OP35000 Inlet for resonating plate 3.5/.21 £2.95 OP4452 OPS *NEW* 45 marine head for turbo  £22.50 
OP35200 OPS Original con rod 1 bush .21 £22.00 Op4456 New (2017) .45 marine conrod £37.95 
OP35210 Con rod 3.5  Standard stock d/bushed £29.00 OP4457 OPS 45 NEW** Gudgeon pin with circips £7.90 
OP35240 Con rod 3.5/.21 new crankcase 1998 on £35.00 OP45100 OPS Special con rod 29-40 £32.95 
OP3524P Piston pin & retaining rings 3.5/.21 £5.95 OP45110 Con-Rod  Special con rod 40/45 £32.95 
OP35250 Con-rod Old type pro £27.50 OP45410 Marine Flywheel in cone £25.95 
OP35260 Con rod 3.5/.21 Buggy ( 2 bush) P/Torque £29.00 OP45600 Boat coupling engine end £9.95 
OP35400 Rear bearing for stock pro 24x12x6 £19.95 OP46110 Crankshaft for 6.5/.40 disc £45.00 
OP35440 Ball bearing rear 3.5/.21 Track 25x13x6 £23.50 OP46150 OPS .45 Marine Crankshaft £59.99 
OP35470 Rear bearing  Buggy p/Tq (old)  £19.99 OP4670 Retaining pin for Disc valve £3.95 
OP36100 Heat sink head Buggy Sport 3.5/.21 £19.50 OP46710 Shaft for op46800 £4.75 
OP36110 Heat Sink head Car Sport 3.5/.21 £19.95 OP4680 Disc valve for .45 £49.00 
OP3617B Buggy cooling head £34.95 OP4880 Exhaust stub angled £12.95 
OP36181 Heat sink head Speedster Off-Road £35.00 OP4887 Angled exhaust water cooled adaptor £11.25 
OP36400 Prop drive assembly for .21 short £7.25 OP49200 Tuned pipe 40 size £39.99 
OP37100 Aircooling head 3.5/.21 Track £36.95 OP49310 Marine 45 flywheel £24.95 
OP37110G Aircooling Head 3.5/.21 Rally Game Green £36.95 OP4940 Flywheel tapered collet £5.50 
OP37120 Heat Sink head  speedster RG £29.95 OP4950 40 Marine water cooled insert £8.99 
OP3760 OPS S/Ex Gasket £2.75 OP49550 Head watercooling 7.5/.45 Marine £13.25 
OP37610 Rear Exhaust Gasket 2 hole (pk 10) £24.50 OP49600 OPS head insert .40 £14.95 
OP37620 Exhaust gasket 3.5/.21 rex  £1.20 OP49660 Head Insert 7.5/.45 std £13.95 
OP37622 Exhaust gasket 3.5/.21 rex  £1.20 OP49680 Ops .45 High nitro turbo head £24.95 
OP37820 Tuned Pipe  Buggy (efra 001-9801) £37.95 OP49700 Screw 1/8x3/4 (10) £10.95 
OP37860 Tuned Pipe Buggy (efra 003-9801) £37.50 OP5040 Gudgeon pin 90 marine £7.50 
OP37890 Clamping ring for 3.5/.21 b/pipe £9.95 OP5050 Circlips for 90 marine (10) £7.50 
OP37950 Tuned pipe track/rally standard fixing £37.95 OP5080 Rear bearing for 90 marine £19.95 
OP37960 Tuned pipe rally/track standard fixing £32.95 OP50950 Cylinder piston set max 30 £175.00 
OP37970 Tuned Pipe EFRA 2010 standard fixing £24.95 OP51150 Exhaust Adaptor Maxi 30 £9.95 
OP37970s Tuned pipe EFRA 2010 spring/system £39.00 OP5130 Exhaust gasket 90 £2.45 
OP37971 Tuned pipe EFRA 2010 spring/system £39.00 OP51310 Head Gasket 15/90 £1.95 
OP37971A Exhaust Spacer rings 1-2mm 3 each £4.25 OP5190 Rotor shaft OPS 90 £35.00 
OP37971kitOR Tuned exhaust system inc man adjustable £64.95 OP52300 Gasket rear plate 15/90 £1.45 
OP37971kitTRA Tuned exhaust sytem inc man adjustable £64.95 OP5360 Front Bearing for 90 Marine £16.95 
OP37980kitRG Tuned exhaust system inc man adjustable £49.99 OP53710 Piston liner for 90 Marine £129.00 
OP37980kitTR Tuned exhaust system inc man fixed length £64.95 OP53715 Bi-Metal .90 piston liner for Old .90 £145.00 
OP38500 Crankshaft for OPS .21 with Swirl special £49.00 OP53750 Bi Metal .90 Piston liner £145.00 
OP3857HF Crankshaft 3.5/.21 Buggy Power £79.00 OP54110 Head gasket 15/90 0.1mm thick £1.85 
OP38580 Crankshaft 3.5/.21 Buggy Torque £71.50 OP54120 Head Gasket for 15/90 0.2mm thick £1.85 
OP38751 Crankshaft 3.5/.21 Track/Rally game £71.00 OP54200 O Ring for OP59510 £5.75 
OP38752 Crankshaft 3.5/.21 Rally Game £90.00 OP5445 Ceramic Bearings Next .21 14x25x6mm £22.50 
OP38910 Original OPS stock carb 8mm ally £49.50 OP54750 OPS Piston ring 30 £6.75 
OP38940 Carburettor 8mm 12mm fitting original ally £49.99 OP55200 Con-Rod for 90 Marine £49.95 
OP38950 Carburetor 8mm 15mm fitting new steel £59.00 OP55700 OPS 90 (old type crankcase) £89.99 
OP39200 Marine tuned pipe .21 (3.5cc) £29.00 OP5590 Front gasket OPS 90 marine (old type)  £12.99 
OP39450 OPS speedster 8mm Slide Carburretor £59.00 OP57414 Pinch bolt £7.50 
OP3945T Carburetor 9mm 15mm fitting new £45.00 OP57500 Needle rollers for 90 marine £10.95 
OP39471 Carburettor 9mm 12mm fitting new £45.00 OP58300 OPS .90 Crankshaft £98.00 
OP39600 Head insert 3.5 car turbo plug 4 hole £14.25 OP5832 Bi-Metal .90 Crankshaft £89.95 
OP3960HF Head insert 3.5/.21 Bug/Torque/Power £11.50 OP5880 Manifold angled .90 (15cc) £29.95 
OP39610 Head insert for buggy 3.5/.21 £11.95 OP58810 Water cooled manifold .90 marine £49.00 
OP39620 Head insert for buggy 3.5/.21 4 bolt type £14.25 OP58950 Bi metal .90 carburrettor 16mm spigott £95.00 
OP39750 Turbo Head insert 3.5/.21 4 bolt fixing £14.25 OP59200 Marine tuned pipe 67-90 £45.00 
OP3975C1 Head Insert Speedster 3.5/.21 £14.95 OP5960 Bi-Metal .90 us nitro head £23.95 
OP3975C2 Head Insert Speedster track 3.5/.21 £14.95 OP59610 Head insert 15/90 std europe £16.95 
OP39760 Head insert (sntd plug) New buggy £15.95 OP59620 Head Insert U.S.A nitro 15 £24.95 
OP3980G Ball bearing Front 3.5/.21 ( 60713) £11.75 OP59630 Inserto Testa NitroTurbo90 £29.95 
OP40200 OPS 40 Cylinder Head £26.95 OP59700 Screw M5x60 op59510 £4.95 
OP40300 Piston liner abc stnd 40 £75.00 OP6010 Head & Front plate screws £4.25 
OP40400 Wrist pin for 40-45 engine £4.25 OP60300 Piston liner abc 10/.60 £79.00 
OP40500 Piston pin retainer 5-6.5/.29-40 (10) £7.45 OP60400 Wrist pin for 65-67-80 £4.50 
OP40850 Exhaust adaptor 6.5 -7.5 for silicone £11.95 OP60500 Wrist pin circlips for 60 size (2) £1.75 
OP4110 Disc valve for .40 £9.95 OP60709 Gudgeon pin NEXT .21 £4.95 
OP41200 Gasket plate 5-6.5-7.5/.29-40-45 (10) £13.95 OP60711 Conrod NEXT .21 £29.95 
OP41400 OPS 40 Carb pinch bolt £3.95 OP60713 Next .21  Front Bearing £14.99 
OP41700 O ring for 45 size £2.75 OP60721 Rear O ring for backplate Next/Vulcan £2.25 
OP42100 OPS .40 side exhaust Crankcase £39.95 OP60723 Back Plate Next/Vulcan £24.95 
OP4230 Crankshaft for .40 engine £55.00 OP60735 Next .21 marine Piston/Liner £74.99 
OP42800 Marine tuned pipe stnd 29-40 £39.95 OP60800 Rear Main Bearing 60/67/80 £14.25 

24 January 2019 Page 22 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
OP60808 NEXT .21 piston and liner £74.95 OP71550 Servo rod adaptor for op38950-39450/70 £2.50 
OP6110 Exhaust Adaptor £14.25 OP71640 Male uniball joint for 3.5 buggy (pk 2) £4.25 
OP61101 NEXT .21 gudgeon pin circlips (pk 2) £1.99 OP71650 Female uniball joint for 3.5 buggy (pk 2) £4.25 
OP61119 Stock Pro Heatsink Head .21 £24.50 OP72300 65-67-80 Gasket (10) £9.50 
OP61300 Gasket Exhaust 10-11/.60-.67 £1.45 OP72320 Rear Plate gasket 10-11-13 £8.50 
OP6140 O ring for 60 size engine £3.25 OP7370 Piston liner for .60 re/ex £97.00 
OP61440 Carb Clamp Bolt .67-.80 £5.95 OP76400 Prop drive assembly for .60 £9.95 
OP6160 Rear back plate screws .60 (10) £7.95 OP76750 Neddle roller bearings OPS 80 £9.75 
OP6180 Vite Albero £1.95 OP78500 OPS Ursa 60 Crankshaft £89.00 
OP62400 OPS Aero Head Gold £22.95 OP79000 OPS .45/65/67 Carburettor 8mm £69.00 
OP62610 Marine Flywheel assembly £21.00 OP79200 OPS marine carb for 14mm spiggot £69.00 
OP62700 Marine pipe stnd 40-60 £40.00 OP79300 .60 Carburrettor with in flight mixture  £65.00 
OP62800 Marine tuned pipe 60-65 £44.95 OP79720 OPS circuit car exhaust £69.95 
OP62900 Venturi 60 £9.75 op82711/1 piston liner con rod assembly 67 £75.00 
OP6291K Venturi & needle assembly £16.99 OP90280 Carburetor slide valve  13/.80 £62.00 
OP63000 Spinner Assembly £37.95 OP90286 OPS .67 Carb £60.00 
OP63100 Marine coupling female £5.95 OP90700 OPS Original 29-45 carb rotary £35.00 
OP63200 Boat Coupling prop end £5.95 OP91400 Spring long (1pcs) £1.25 
OP63300 Crankcase super 60 ops £62.00 OP91900 OPS  Gold Plugs RC300 £5.25 
OP63500 Exhaust Adaptor For Pipe RC £16.95 OP92510 Lever for .12/.15 Carburrettor £1.95 
OP63710 Piston liner set abc 11/.67 £89.00 OP94100 Needle for 5-6, 5-10 venturi £4.25 
OP63780 Piston liner OPS 80 £105.00 OP97070 Collet Isolent for 3.5 Pro racing £6.95 
OP64000 OPS Piston liner 10/.60 abc £79.00 OP99000 O ring 2012  £1.25 
OP64110 Head Shim Ursus £2.25 OP99040 O ring For op31440 £1.00 
OP64120 Head Shim Ursus £2.25 OP99042 O Ring for OP31440  (2) £2.25 
OP6420 Head shimm 60 size £1.25 OP99100 O ring 2007  £1.25 
OP64210 Head Gasket for .60-.65- 67 0.1mm £2.25 OP99102 O ring 2007 (2) £2.25 
OP64220 Head shims 60-65  0.2mm £2.25 OP99140 O Ring Outside for op34650 £1.25 
OP64810 Head gasket 13/.80 0.1mm thick (1) £1.45 OP99142 O ring Outside for op34650 (2) £2.25 
OP64820 Head gasket 13/.80 0.2mm thick (1) £1.45 OP99200 O Ring 2043  £1.00 
OP65000 Nipple for pipes £4.50 OP99202 O ring 2043  (2) £2.25 
OP65100 OPS 60/65/80 Con-Rod £39.95 OP99500 Remote needle valve £19.99 
OP65200 Needle bearing con rod 10-11-13/.60-.67- £42.95 OP99900 Screw for carburettor £2.25 
OP65700 OPS 60 Crankcase £61.00 OP99950 Throttle Stop Screw £1.95 
OP65800 Front housing for .67 marine engine £35.00 
OP65801 New Front housing for 67-80 marine £34.50 5.2 Mantua Cars (Retail) 
OP65810 New Machined front housing 65-67-80-bi90 £64.95 
OP65900 Gasket front plate 15/90 £1.29 Part No. Product Description Retail 
OP6600 Carburettor retaining pin 45-67 £7.95 
OP66100 60 Size crankshaft £59.00 22100 Big Bear 4x4 inc motor £366.58 
OP66600 Rear Plate for 10-11/.60-.80 £24.00 22108 Beetle New Assembled Pull Start 1/8th  £412.97 
OP66630 Rear back plate for OS carb £54.00 22112 Beetle New Shape 1/8th 2wd Pull-start .2 1 £358.91 
OP66700 .67 Rotor Shaft £5.75 22115 Porsche  rally cross 1/8th 2wd Pull-start  £358.83 
OP66800 .67 Rotor £42.00 23303 1/24th Crawler 4x4 Electric complete £65.00 
OP6700 4x15 - 4x16 Screws £3.95 23400 1/16th Buggy 4x4 Electric complete £99.00 
OP67500 Needle bearing rollers for Marine con rod £10.95 23401 1/16th Monster 4x4 complete £99.00 
OP67520 Neddle rollers OPS 90 Bi Metal £9.95 23402 1/16th Truggy 4x4 electric complete £99.00 
OP67800 Tuned silenced marine pipe 65 11-12cc £49.99 23600 1/18th Buggy 4x4 electric complete £69.00 
OP68300 Crankshaft 60 VAE needle roller big end £45.00 23601 1/18th Truggy 4x4 Electric complete £69.00 
OP68400 .67 Rotor shaft screw £5.25 23602 1/18th Touring 4x4 Electric complete £69.00 
OP68500 OPS Crankshaft for 60-65 £45.00 23900 1/10th Truggy electric complete £129.95 
OP68600 OPS Head Insert £19.50 23901 1/10 HPS 4x4 electric buggy complete £129.99 
OP68700 Crankshaft 11/.67 For needle bearing con  £59.95 23902 Electric Touring 4x4 1/10th £173.81 
OP68800 Exhaust adaptor .60-.67 £16.50 23903 Electric Drift 4x4 1/10th £173.81 
OP68810 Exhaust adaptor 10-11/.60-.67 £19.95 23906 1/10th Rally electiric 4x4 complete £129.95 
OP68870 Water cooled exhaust adaptor .60-.65-.67 £16.50 24204 Ares 4x4 Competition Kit £593.19 
OP68880 Manifold angled .80-.90 bi-metal  water  £27.95 24601 Amika  2wd + engine £358.83 
OP69200 Marine tuned pipe 60 silenced £49.95 24890 Ares 4x4 kit inc engine (Built) £412.97 
OP6930 Ally Marine flywheel £15.95 24900 Calibra Rally Car 4x4 kit only £375.44 
OP69310 Marine Ally flywheel 60-67-80 £22.95 3210 Sherman Tank £110.00 
OP6940 Tappered collet £4.75 3211 German Leopard £169.99 
OP69500 OPS 60 Water cooled head £14.95 3212 ZTZ 99 A MBT £139.99 
OP69510 Water cooled head for .67-.80 £14.95 3213 German Panther G £110.00 
OP69550 Air cool head 11-13/.67-80 £32.95 3214 Russian Tank T34 £139.99 
OP69600 OPS Head insert 60 £19.95 
OP69610 Head Insert 11/.67 Nitro £17.95 5.4  Mantua Car Accessories ( Retail) 
OP69620 OPS Head insert £17.95 
OP6970 4mm cap head bolts (4) £4.75 Part No. Product Description Retail 
OP69800 Water nipple 4mm £1.95 
OP71100 Idle needle £8.25 110 Silicone oil 10,000 £6.53 
OP71150 Bottom end needle £9.95 1307100 Front upper supports vulcan £6.75 
OP71200 Main Needle £7.50 1307110 Front lower suspension arms vulcan £8.94 
OP71250 Body for main needle £3.95 1307130 Distance piece £4.76 
OP71260 Adjustable fuel inlet for op71250 £3.95 1307140 Stifiner for suspension £3.97 
OP71300 Main needle for  op70400 £9.00 1307160 Body mount vulcan £5.94 
OP71350 Main needle housing £9.95 1307260 Front shock mount vulcan £7.44 
OP71351 Spray Bar for op38950-39450-39470 £10.50 1307350 Gear 30t £7.44 
OP71450 Washer £0.75 1307520 Diff output & spur gear vulcan £6.40 
OP71452 Washer carb £0.75 1307660 internal gears £7.44 
OP7150 Jet adaptor £3.25 1307710 Drive gear with outdrive vulcan £8.25 
OP71530 Rod & Ball Conector Carb £2.95 1307720 Suspension part rear £4.40 

24 January 2019 Page 23 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
1308080 Gear 35T £7.44 20348 Specchietto retrovisore £3.74 
1309220 Alluminium Exhaust sytsem £28.47 20349 Alpha 155 Spoiler £6.20 
1310130 Pull start for 2.5cc engine £17.55 20350 Escort spoiler £6.20 
20005 Transmitter cover £17.59 20372 Jaguar lexan body £33.04 
20031 Track Rods 4mm L&R £11.94 20373 Porsche 956 lexan body £33.04 
20032 Tirante sterzo + uniball £13.89 20376 Porsche 962 body £33.04 
20033 Forcelle tirante+uniball £7.14 20377 Carrozz.Mercedes Sauber £33.04 
20034 Testa per uniball 6x18 £3.75 20381 Lexan formula wing £6.53 
20035 Testa per uniball 6x15 £3.22 20385 Lexan wing F40 £6.20 
20036 Testa x uniball 6x10  8mm £3.75 20386 Alba Spoiler £6.53 
20037 Testa x uniball 6x10  5mm £3.75 20387 Mercedes Sauber Spoiler £8.20 
20038 Plastic uniball 6mm £7.00 20388 Spoiler sport £6.53 
20039 Metal uniball with 3mm hole £3.75 20394 Peugeot body 205 £33.04 
20050 Porche 911 Stickers £7.44 20396 Ferrari Lexan body £33.04 
20051 Megane stickers £7.44 20399 Beatle lexan body £28.01 
20052 Mc Claren stickers £6.59 20400 Lancia intergrale body £33.04 
20053 CLK Merc stickers £7.44 20401 Alpha Romeo 155 with wing £18.00 
20054 Alpha 156 Decals £7.44 20402 Ford Cosworth Escort w/ wing £34.76 
20056 Big bear Sticker set £7.81 20403 BMW M3 gtr with wing £34.76 
20100 Exhaust silicone tube 16mm £5.30 20404 Mercedes C with wing £34.76 
20101 Prolunga spillo £2.90 20405 Toyota Celica with wing £34.76 
20108 Throtle swivel £3.28 20406 Twingo renault with wing £32.94 
20109 2mm Ball joint £3.22 20407 Opal Calibra with wing £24.95 
20110 Ball & socket 4 mm £1.99 20408 Audi A4 with wing £34.76 
20121 Tank lid £7.14 20409 Porche 911 body £34.76 
20122 O ring for tank £2.07 20410 Renault Megane body £22.99 
20124 Filter angled rubber £8.20 20411 Mc Claren GTR F1 body £24.95 
20125 Air filter oil £4.95 20412 CLK Merc body £22.95 
20126 Filter small sponge ring £1.89 20413 Alpha 156 Body £36.05 
20127 Large sponge filter ring £2.94 20415 Ford Focus 1/8th body £34.76 
20128 Tarmac filter £8.95 20416 Seat Cordo 1/8th body £32.94 
20129 Buggy filter set £13.95 20417 Peugeot 206 body £34.76 
20130 Buggy air filter set £9.12 20418 Subaru body £28.54 
20132 Foam Air filter £2.45 20419 NEW Beetle body £34.76 
20217 Circlip 5mm £2.18 20421 Ford Focus Wing £6.20 
20221 Circlip 5mm for crankshaft £3.25 20422 Seat Cordo wing £6.20 
20223 Circlip 3 mm £2.25 20423 Peugeot 206 wing £6.20 
20244 Pin mm 2x13.8 £2.48 20424 Subaru  wing £6.20 
20247 Pin mm 2.5x17.8 £2.94 20425 New Beetle wing £6.20 
20250 Steel washer 10x18x0.3 mm £2.94 20426 Wing Lancia Intergrale £6.20 
20258 Body clips £2.00 20430 2.11cc. Competition exhaust £22.90 
20259 Body clips large £2.45 20431 Rally exhaust Efra 087 & Manifold £39.95 
20262 Servo horn sanwa £1.64 20435 Bearing 10x19x5 £12.76 
20266 Bell-crank pillar £1.64 20437 Efra 88 exhaust no holes £32.94 
20267 Bellcrank £1.64 20450 Decal sheet Ferrari F40 £7.57 
20270 Circlip 7 mm £2.83 20451 Decal sheet Porsche 962C £7.44 
20272 Washer 7x14x0.5 £2.83 20452 Decal Sheet Jaguar XJR 11 £7.44 
20284 Clutch bell 19T £12.76 20453 Decals Peugeot 405 £11.52 
20285 Bell clutch 20T £12.76 20454 Lancia window decals £7.57 
20286 Clutch bel 13 T £8.94 20455 Beetle stickers £2.50 
20287 Clutch bell 12T £8.94 20457 Intergrale decals £7.57 
20290 Clutch shoe P.T.F.E. £6.95 20462 Amika stickers £7.57 
20291 Clutch springs £3.22 20467 Audi quatro stickers £7.57 
20292 Clutch adaptor nut 1/4unf t with 8mmhex £6.75 20468 Peugeot stickers £7.57 
20293 Engine nut 1/4-28 £4.91 20469 Lancia delta stickers £7.57 
20294 Engine nut standard crank £3.95 20471 Manifold Picco s/ex £21.44 
20295 Needle bearing 5x8x10 mm £3.95 20472 Manifold OS s/ex £21.44 
20296 Clutch bell 11T £7.99 20473 Manifold cippola £21.44 
20297 Steel washer 0.2x5x10 £3.53 20476 Ford Focus Decals £7.57 
20300 Clutch shoe carbon £8.95 20477 Seat Cordo Decals £6.55 
20301 Ergal carbon clutch £14.83 20478 Peugeot 206 stickers £7.57 
20302 Clutch plates & clips £3.95 20479 Subaru stickers £6.55 
20305 Clutch pads for erg/carbon £11.16 20480 Decals New Beetle 2000 £7.57 
20306 Clutch spring for erg/carbon £3.10 20490 Junior picco pipe £21.44 
20315 OS Flywheel inc collet £10.68 20492 Alpha 155 stickers £7.57 
20316 Cono volano OS RE-SE £3.22 20493 Alpha Windows Decal Sheet £7.57 
20320 3 Shoe clutch & flywheel £19.99 20494 Ford escort stickers £7.57 
20322 3 shoe replacement clutch £11.94 20495 BMW M3 stickers £7.57 
20323 6 Shoe replacement clutch £16.58 20496 Mercedes C stickers £7.57 
20324 Spring set 6 shoe £6.53 20497 Toyota Celica.stickers £6.59 
20325 3&6 Shoe Flywheel nut £3.22 20498 Opal Calibra stickers £6.59 
20337 Alpha 156 wing £6.20 20499 Twingo  stickers £5.95 
20338 Mc laren GTR F1 spoiler £6.20 20500 A4 Stickers £7.57 
20339 Megane spoiler £6.20 20509 Diff pin £2.07 
20340 Porche 911 wing £6.20 20516 O Ring 22mm £0.84 
20341 A4 Spoiler £6.20 20536 Ally flywheel £8.69 
20342 Calibra spoiler £6.20 20537 Alfa flywheel £10.68 
20343 Twingo spoiler £6.20 20571 Nylon tie wraps £1.65 
20344 Celica spoiler £6.20 20572 Nylon tie wrap £1.55 
20345 Merc spoiler £6.20 20622 Diff sattalite gear £9.84 
20346 BMW spoiler £6.20 20624 Grub screw 4x5 mm £2.45 

24 January 2019 Page 24 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
20625 Diff washer £2.90 22590 New Beetle Exhaust pipe £21.44 
20627 Circlip 15 mm £2.07 22593 Omocynetic drive shaft £41.30 
20628 5mm Grub screw £3.29 22594 T.Jun.red rims £8.20 
20629 Grub screw 5x4mm £2.67 22596 Adjustable arm set £18.14 
20648 Shock absorber oil £4.91 22602 Linkage £9.52 
20670 Ball bearing 15x24x5mm £9.94 22604 Front pinion & shaft £7.87 
20675 Crown gear 56T Classic Z £6.53 22607 Lower rear arm £6.75 
20676 Crown gear 56T £6.95 22608 Pin 2x72.4 mm £4.91 
20810 SG tool box (poly butler) £74.95 22609 Upper rear arms £7.95 
20823 Circlip 10 mm £2.07 22610 Pin 4x47.9 mm £4.55 
20833 Circlip 6 mm £2.07 22616 Pin 2x15.8 mm £2.90 
20835 Steel washer 6x12x0.3 £2.25 22617 Shock absorber clamp £4.06 
20844 Pin 2x9.8 mm £2.07 22618 Pin 4x41 mm £6.53 
20865 Plastic bearing £2.07 22620 Shock absorber £23.19 
20874 Servo saver complete £8.20 22631 Rear drive shaft £9.84 
20886 Mantua fuel tank £10.95 22633 Dingo 56T gear £9.84 
20895 Tank clamps £2.07 22637 Middle to front drive shaft £6.53 
21320 3 Shoe clutch £13.18 22641 Exhaust pipe support £2.90 
21321 Clutch springs £4.91 22659 Circlip 12mm £4.91 
21322 3 Shoe flywheel £16.46 22664 Gear saver £2.90 
21323 3 Shoe clutch nut £13.24 22669 Plain bearing 7x14x3.5 mm £2.90 
21324 2 needle bearings £15.94 22671 Hub axle 7x34.8 mm £6.53 
21350 Ergal plate £6.53 22672 Front wheel axle 15x126 mm £13.18 
21450 Decals X Rally £6.53 22676 Screw 4x25 mm £2.07 
21530 Body X Rally £33.04 22697 Roll bar kit £10.99 
21610 Wing X rally £6.20 22701 Ball race set £41.38 
21862 Drive cup diff input £4.95 22702 UJ Drive shafts £33.04 
21869 Brake plate £5.53 22710 Pin 2x11.8 £2.90 
21889 Wishbone pin £9.84 22726 Exhaust support £2.90 
21907 Front bumper £6.53 22750 Junior wheels £8.20 
22104 Monster truck conversion £93.04 22755 Dingo chassis £42.44 
22167 Plastic set for shock absorbers £9.84 22756 Rear diff housing £9.84 
22212 RX pillar £4.55 22758 Mantua servo saver £8.26 
22213 Spoiler piller £3.95 22759 Front diff housing £9.84 
22216 Spring pin 2.5x20 mm £2.90 22760 Collar 10x23 £5.79 
22271 Brake disc carbotec £6.25 22761 Ring 11x21 mm £2.90 
22274 Spring dampers £6.24 22762 R & L Lower front arms £8.20 
22282 Front Bumper  Demon £4.95 22763 Upper front arms £8.50 
22286 Diff housing £8.20 22764 Steering stop £2.90 
22287 Diff housing with gear £9.84 22765 Front drive shafts £18.14 
22288 Brass cover for diff £2.90 22767 Shock absorber support £5.69 
22309 Spinner demon £6.53 22768 Body support £2.90 
22310 Flywheel demon £9.84 22769 Radio plate £26.42 
22311 Engine nut long demon £6.22 22770 Linkage for servos £5.79 
22319 Plain bearing 10x19x5 mm £2.90 22772 Spoiler wire £6.53 
22320 Disc brake in Ergal £7.81 22774 Dingo stickers £2.73 
22322 Collet £8.20 22802 Rear pinion & shaft £7.87 
22326 Centre gear 56T Safari £8.20 22806 M4 17.5mm £4.91 
22327 Ball bearing 6x19x6 £8.20 22807 Grub screw 4x8 mm £2.90 
22339 Flywheel OS £8.20 22808 Steel balls 10 mm £4.06 
22357 Spacer 7x12x1.5mm + 2.5mm £1.64 22818 Rear stub axle £5.79 
22360 Engine mount demon  £9.84 22819 Hub axle 10x50.4 mm £9.84 
22402 Brake cam £9.84 22820 Wheel spacer 7x10x2 mm £2.90 
22403 Brake plates £4.55 22822 Front stub axle £5.38 
22405 Dingo 60T gear £9.84 22834 Ball bearing support £4.55 
22415 Grub screw 4x20 mm £2.90 22835 Middle diff unit £62.92 
22426 Circlip 4 mm £2.40 22841 Collare 10x18x10 £4.15 
22439 Servo mounts £4.91 22844 Screw 3x10mm £1.85 
22440 Antenna socket £2.73 22846 Brass flywheel £8.94 
22441 Antenna tubing £2.73 22852 Brake adjusting nut £7.44 
22443 Roll Bar £3.40 22855 Clutch bell 14 T £8.25 
22486 Small O ring £0.51 22856 Clutch bell 15 T £8.25 
22489 Mounting bracket £11.52 22857 Clutch bell 16 T £7.95 
22551 Differential comp £56.31 22858 Clutch bell 17 T £8.84 
22553 Chassis top part Demon £10.95 22859 Clutch bell 18T £8.84 
22554 Chassis bottom part Demon £10.95 22860 Clutch bell 21 T £8.84 
22567 Diff output gear £21.44 22861 Clutch bell 22 T £10.12 
22575 T.Junior radio plate £19.80 22862 Clutch bell 23 T £10.12 
22576 T.Junior chassis £46.29 22863 Front to middle shaft Dingo / Junior £9.00 
22577 T.Jun.suspension support £9.84 22864 Gear saver £3.10 
22578 T.Jun.shockabs.supports £8.20 22865 Starter kit (plastic parts) £1.19 
22579 T.Jun.front Lowerarms £9.84 22866 Coil starter spring £7.14 
22580 T.Jun.upper front arms £9.84 22867 Starting rope £4.25 
22581 T.Jun.rear low.arms £9.84 22868 Junior 56T gear £8.99 
22582 T.Jun.upper rear arms £9.84 22869 Junior 60T gear £7.64 
22583 T.Jun.steering stop-dog £8.20 22870 Central axle £8.65 
22584 T:Jun.rear Stub axle £8.20 22871 Disc brake holder £6.53 
22585 T.Jun.rear Drive shaft £11.52 22872 Brake disc 43x2.5 mm £6.75 
22586 T.Jun throttle linkage £8.20 22873 Chassis £41.30 
22587 Beetle body support £6.53 22874 Upper rear arms £8.20 
22588 Peugeot body support £6.53 22875 Upper front arms £8.20 

24 January 2019 Page 25 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
22878 Starting pinion £6.53 24136 Spacer 4x10x2.5mm £5.94 
22879 Linkage for servos £8.20 24137 Upper suspension support £10.76 
22880 Body mounting kit £9.76 24138 Futura front wishbones £12.95 
22881 Junior Strap coversion 4x4 £75.00 24139 Top outer pivot pin 4x27.5 mm £5.03 
22882 Special adjustable arm set £12.95 24140 Front bumper  £9.84 
22883 Middle diff set Junior £66.15 24141 Front omocynetic joints £44.64 
22884 Junior Wing kit £14.29 24142 Axle for omocynetic joints £8.65 
22892 Decal Junior £2.90 24143 Steel washer 7x13x0.3mm £4.43 
22893 Engine Adaptor £7.44 24144 Grub screw 4x5mm £4.04 
22906 Bearing 6x13x5mm £2.67 24145 Spoiler support £19.44 
22908 Needle-bearings 6x10x9 mm £7.14 24146 Radio plate £27.50 
22909 Right axle gear side £11.25 24147 Servo saver complete £8.94 
22910 Spring washer 12x25x0.7 £3.22 24148 Front plate £17.94 
22911 Washer12x26x1 £4.15 24149 Stiffening plate £13.95 
22913 Ball bearings 4 mm £2.07 24150 Roll bar / handle £3.95 
22914 Adjusting collar £11.65 24152 Brace bar rear to middle £8.94 
22915 Front axle support £15.40 24153 Front stub axle supports £8.95 
22916 Needle bearing 7x15x9 mm £8.20 24154 Front shock absorber spring 1.4mm £5.94 
22917 Thrust bearing 7x15x4 mm £12.40 24155 Rear shock absorber spring 1.4mm £5.94 
22918 Left axle £10.44 24156 Front to middle UJ with brake holder £46.54 
22921 Ball bearing 10x19x5 mm £13.51 24159 Brake holder (xs2) £8.94 
22932 44&48T Gear £10.44 24161 Linkage set £9.35 
22936 Disc brake holder £2.99 24162 Futura body £28.47 
22943 One way bearing 10x14x12 mm £19.44 24163 Decals for body £7.44 
22962 Front top wishbone £9.84 24165 New rear shock support bracket £38.02 
22964 Front knuckle arm £8.69 24170 Magika XS Chassis £57.20 
22966 Rear driveshaft £9.84 24171 Magika XS 2WD middle drive axle  £8.20 
22967 Uniball 6mm £2.90 24172 Magika XS front UJs £41.30 
22974 Radio post £2.90 24173 Magika XS body £19.95 
22979 Circlip 6mm £2.90 24176 Saloon body support £11.25 
22982 One way bearing 6x10x12mm £13.18 24177 Rally Bumper £9.95 
22983 Wing fixing £8.20 24178 Ball raced servo saver £28.47 
22987 Engine nut manguster £6.53 24180 Central one way transmission £82.69 
23102 Circlip 10mm £2.90 24182 Centre gear 50T  £8.69 
23104 Pin 3x19.8 £2.90 24187 Tank fixing brackets £14.26 
23122 Clutch bell 25T £13.18 24188 Reciever radio box £11.25 
23210 CZ Chassis £43.55 24198 Silicone oil 50,000 £8.94 
23211 CZ engine plate £10.89 24199 Magika decals £6.53 
23213 Rear Axle Classic Z £13.18 24208 Diff pin for plastic diff £4.91 
23216 CZ - Disco freno £4.91 24209 Diff gear £9.52 
23218 CZ Distance Spacer £4.11 24210 Diff axle with gear £10.76 
23219 Classic Z rear wheels £6.40 24211 Pinion gear & washer £8.20 
23220 CZ Front hubs £6.40 24212 Grease for differential £7.60 
23222 Classic Z R&L Knuckle arm £4.91 24213 Crown gear 56T £7.95 
23223 CZ Plastic knuckle arm £4.91 24214 Middle diff & brake support £16.46 
23224 CZ Axle holder £6.40 24215 Middle torsion diff £62.08 
23225 CZ Wheel axle £7.03 24216 Brake cam £5.38 
23226 CZ  front wheel bushes £2.07 24217 Hard diff grease £7.46 
23227 CZ Fuel tank £15.77 24218 Brake drive cup £6.95 
23229 CZ Exhaust wire £3.59 24219 Brake disc ergal £8.69 
23230 CZ Exhaust  £13.89 24220 Brake pads £6.95 
23231 CZ Engine mounts £5.25 24221 Drive cup diff input Magika £6.53 
23250 CZ Lexan body £19.80 24222 Front UJ drive shafts £24.99 
23260 CZ Body stickers £6.53 24224 Rear wheel axle £9.84 
23261 Decals Audi TT 1/10th £7.57 24225 Standard shock absorbers £16.95 
23262 Classic CL 1/01th decals £7.57 24226 Shock absorbers spring £3.40 
23263 Decals F50 1/01th Decals £7.57 24227 Shock absorber piston rods £7.44 
23264 Classic L stickers £7.57 24229 Roll bar pillar £7.90 
23270 Audi Body TT 1/10th £22.44 24230 Roll bar Wire £4.15 
23272 Classic CLK 1/0th Body £19.86 24231 Chassis £49.58 
23273 Classic F50 1/10th Body £19.80 24232 Exhaust support £3.32 
2361 Remote glow supply 5 amp battery £28.47 24234 Main gear 60T £7.95 
23797 2 Shoe Clutch £7.95 24235 Central diff. STD £50.91 
24006 20132 Front Bumper rally 1/10th £5.95 24236 Disc brake carbotec £6.99 
24008 Extra large body clips £4.11 24237 Middle diff casing Magika £21.44 
24020 Mantua tyre box £33.04 24238 Middle diff output gear £6.22 
24120 Futura Chassis £52.56 24243 Front to middle drive shaft £9.52 
24121 Futura engine plate £5.94 24244 Rear to middle drive shaft £8.94 
24122 Servo saver pillar £8.94 24245 Rear drive shaft £6.95 
24123 Futura radio plate piller 35mm £8.94 24247 Servo saver £10.44 
24124 Futura tank piller £8.69 24248 Servo saver post £4.43 
24125 Side protectors £11.18 24253 Magika body £33.04 
24127 Rear centre axle £49.48 24255 Decals for diff casings £2.90 
24128 Front to middle UJ coupler £7.20 24260 Front wishbone set  £13.75 
24129 Rear to middle UJ coupler £7.20 24261 Rear wishbone set  £15.20 
24130 Futura Support axle £14.94 24262 Differential housing £16.47 
24131 Upper suspension support £9.68 24263 Front axle & rear axle supports £11.95 
24132 Body locking support £7.14 24264 Front stub axle support £10.12 
24133 Suspension arm £16.95 24265 Axle support £12.00 
24134 Axle 4x50mm £8.94 24266 Upper suspension support £10.95 
24135 Lower pivot rod for wishbones £6.22 24267 Front bumper & body supp £8.95 

24 January 2019 Page 26 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
24268 Magika top plate £30.41 24448 Washer 4x14x2 mm £2.94 
24269 Front or rear diff casing £18.15 24449 Front axle £8.94 
24270 Reinforcing ring £6.22 24450 H/duty rear axle comp £18.40 
24271 Differential unit £42.05 24451 H/duty drive shaft £9.84 
24276 Conversion Kit 4x4 Magika £141.84 24452 Drive cup 6 mm £6.53 
24278 New diff 20x10t £70.59 24453 One way transmission £43.55 
24279 New Differential 16x12t £66.15 24454 One way holder £22.44 
24301 Rear anti roll bar £16.90 24455 Axle for one way 6 mm £5.94 
24302 Rear ant-roll bar kit £18.40 24456 Short h/duty drive shaft to one way £5.94 
24310 Front diff with overdrive gears £67.58 24460 Long wishbone set £73.59 
24311 Set of four diff gears £34.54 24461 Extreme wishbones front or rear £15.95 
24312 Pin & spacers £8.94 24462 Stub axle supports £10.95 
24314 Ally diff casing £43.55 24463 Stub axle holders £15.95 
24315 Diff casing pins £8.94 24464 Pin 4x46 mm £8.94 
24316 12T diff output gear £15.38 24465 Screw 4x16 mm £2.90 
24317 12T planet gear £19.44 24466 Screw 5x20 mm £2.90 
24318 Spacer for 12T gear £3.22 24469 Ally ring 10 mm £2.90 
24320 New front shocks £48.06 24470 Uniball heads 6x12.5 mm £8.65 
24321 New rear shocks £27.95 24471 Ally mount for top mount £26.65 
24324 Rear progresive shocks  £48.06 24472 Uniball heads 6x13 mm £4.91 
24325 Front progresive shocks £48.06 24473 Rear camber adjuster screws £8.94 
24326 Front variable pitch spring 1.4x63mm £6.53 24474 Front camber adjuster screws £8.94 
24327 Rear variable pitch spring 1.4x78mm £6.53 24475 Direct anti-roll bar kit £19.44 
24328 Front shock barrel (tapered) £15.40 24476 Front ant-roll bar kit £17.05 
24329 Rear shock barrel (tapered)  £15.40 24477 Ally front shock mount complete £20.94 
24330 Front shocks (parallel barrel) £41.30 24478 Ally front mount only £14.95 
24331 Rear shocks (parallel barrel) £48.06 24479 Rear ant-roll bar kit £14.95 
24332 Front shock barrel (parallel) £15.40 24480 Magika 3.5mm chassis £64.58 
24333 Rear shock barrel (parallel) £15.40 24482 Wheel nut L/Hand £3.73 
24335 Upper s/monts for long shocks £10.95 24483 Wheel locking sleeve L/H £7.44 
24336 Mitika upp.sup.support £15.40 24484 Wheel locking sleeve R/H £7.44 
24338 New short barrels £18.14 24485 Knee chassis kit-Magika £140.73 
24339 New long barrels £8.22 24486 Servosaver kit knee chas. £26.96 
24348 Hubs 6 hole diam 7mm £8.84 24487 Side muffler protection £8.26 
24349 Hubs 6 holes diam 10mm £8.84 24488 5th shock-absorber kit £26.96 
24350 Mitika hubs diam 10mm £8.84 24489 Hard spring 5thshockabs. £2.90 
24351 Wheel nut conversion £39.67 24492 Rod 3x35mm £3.22 
24352 Wheel Nut & washer £3.95 24494 Rear ally shock support £19.44 
24353 Wheel locking axle £8.61 24550 3 Spoke hubs wide 10mm £10.25 
24355 Pin 3x25mm £4.43 24551 3 Spoke hubs narrow 10mm £10.12 
24356 Uniball head £3.22 24555 3 Spoke hubs wide 17mm hex £10.12 
24359 Standard wing kit £11.52 24556 3 Spoke hubs narrow 17mm hex £10.12 
24360 Adjustable spoiler supp. £17.50 24560 3 Spoke hubs wide 19mm hex £10.12 
24361 Double wing spoiler £15.50 24561 3 Spoke hubs narrow 19mm hex £10.12 
24362 Hexagonal head bolt 4x19mm £2.41 24570 Hexagonal axle holder (17mm x 10mm) £14.94 
24363 Screw 3x22mm £2.90 24572 Hexagonal axle holder £12.25 
24364 Ally shock support kit £15.40 24573 Futura wheel nut £5.75 
24365 Drive cups H/duty £22.44 24578 Centre support Ares £16.50 
24366 Grub screw 3x3 mm £2.46 24583 New set Shock pistons £7.44 
24370 Pro hubs wide £11.94 24597 New Shocks Chrome bore £48.06 
24371 Pro hubs narrow £11.94 24598 New Shock  53mm (chrome) £18.95 
24372 Tyre clamping rings (4 pieces) £2.07 24640 Evo 5 Front end conversion £105.04 
24373 Foam band Narrow £3.53 24710 Rally Race chassis £61.58 
24374 Foam band Wide £3.53 24711 Servo saver post £8.94 
24375 Foam for tyres 6mm £4.91 24712 Brake support £8.94 
24376 Foam for tyres (thin) £2.95 24714 Differential support £8.20 
24400 Complete plastic parts magika £114.22 24715 Servo saver      £4.91 
24420 Long shock shafts £7.25 24716 Cardano central £8.46 
24421 Short shock shafts £7.50 24718 Linkage rod 3x55mm £5.38 
24423 Shock pistons 6 pieces £3.22 24719 Uniball 4mm £5.17 
24424 Plastic shock parts £5.25 24720 Black spoke wheels 7mm hole £8.94 
24426 Rubber diaphram shocks £4.90 24722 Reciever power pack support £4.12 
24427 Shock end cap £10.44 24724 Central axle 7x76mm £8.94 
24428 Ride height adjustment nut £6.40 24728 Brace Kit £34.54 
24429 O ring & nut set shocks £2.75 24733 Uniball 6x35mm £3.40 
24430 Hinge kit £18.40 24734 Roll bar kit £11.25 
24431 Hinge chassis £64.58 24750 Steel bevel gear 43T £22.44 
24432 Mitika radio plate £29.96 24751 Steel bevel gear 45T £22.44 
24433 Drive joint for hinge chassis £6.53 24752 Pinion gear and shaft 15T £20.94 
24435 Rear pillar support £6.53 24754 Rear differential £64.58 
24437 Hinge pin £2.90 24755 Differential with diff gears inside £64.58 
24438 Short spring 1.5x63 mm £6.22 24760 New 51T gear £5.25 
24439 Short spring 1.3x63 mm £6.22 24761 New 52T gear £8.86 
24440 Long spring 1.6x78 mm £6.22 24762 New 53T gear £5.25 
24441 Long spring 1.5x78 mm £6.22 24763 New 54 t gear £5.25 
24442 Front torsion diff £206.96 24766 New Ferodo brake pads £8.94 
24443 Ergal gear front torsion £18.40 24775 Front drive shafts 5mm £25.90 
24444 Middle diff with overdrive gears £102.65 24776 Alluminuim servio saver posts £10.24 
24445 Middle ball diff £70.59 24778 Montanti suspension light £17.94 
24446 Rear axle £8.94 24780 Constant volume shock Futura £49.58 
24447 Main gear 60T £8.86 24781 Upper body shock £11.18 

24 January 2019 Page 27 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
24782 Shock mount for const vol shock £6.95 3303655 Silicone oil white 350wt £6.40 
24783 Shock rod Futura rear £13.04 3303656 Silicone oil green 500wt £6.00 
24788 New Ergal disc with ferodo pads £29.96 3303657 Silicone oil red 1000wt £7.14 
24790 Central support bolt 3x40 (10) £2.94 3303658 Silicone oil purple 1500wt £6.00 
24795 New Middle drive system £49.64 3303659 Silicone oil blue 2000wt £6.00 
24798 new brake cam £8.94 3303700 Torsion diff housing £58.50 
24804 Uniball joint 5mm. £10.63 3303701 Torsion output shaft £10.44 
24805 Plastic Uni-Ball 6mm ( laro) £7.44 3303702 O ring Torsen axle £2.64 
24808 Aluminium steering arm £6.91 3303703 Output gear £22.44 
24810 Bolts & coutersunk washers Ares £6.37 3303704 Middle gears £53.68 
24815 Front drive shafts for uj's £10.89 3303705 Pins for middle gears £3.75 
24822 Evo 5 Front wishbone top & bottom £12.75 3303706 Torsion diff outer sleeve £8.65 
24850 Shock springs 1.5mm £8.94 3303707 Large o ring £3.40 
24851 Shock Spring 1.5mm £8.94 3303716 Diff shims £3.40 
24870 Ares Body shell £19.95 3303717 Large pins £7.14 
25620 Inferno off-road body shell £36.05 3308002 Rear diff housing £16.50 
25700 Mclaren 1/8th body painted £43.55 3308008 White spoke wheels 7mm hole £8.75 
3132080 Washers 12x21x5mm £3.40 3309040 5th shock-absorber kit £36.78 
3205005 Nut 3 mm £2.24 3309050 Mitika hubs £8.94 
3206036 Uniball head 2 mm £3.75 3309055 Mitika linkage set £8.65 
3206038 Plastic ball joints £2.94 3309056 Mitika linkage complete £7.14 
3291000 Big bear pick up body £28.31 3309060 Mitika body decals £5.95 
3296050 Golf 1/10th scale body £21.57 3310008 Brake disc holder £7.44 
3296100 Alpha 155 1/10th scale body £21.57 3310011 Rear to middle shaft £10.14 
3296101 Alpha decal set £7.57 3310012 Drive cup diff input (rear) £7.44 
3296200 BMW  two door 1/10th scale body £21.57 3310014 Starting gear 56T £9.95 
3296300 Porche 911 1/10th scale body £21.57 3310021 Amika chassis £49.94 
3296301 Porche 911 1/10th Stickers £7.57 3310022 Front wheel axle 7 mm £7.90 
3296400 Opel calibra 1/10th scale body £21.57 3310023 Front to middle shaft £7.95 
3296500 Mercedes 1/10th scale body £21.57 3310024 Rear to middle shaft £6.99 
3296501 Mercedes D2 1/10th stickers £7.57 3310040 Exhaust support £4.43 
3296600 Renualt Clio 1/10th body £15.31 3310050 Yellow spoke wheels 7mm hole £8.94 
3296601 Clio 1/10th scale decals £7.57 3310052 Off-Road Spring body £31.54 
3296700 Audi avus 1/10th body £21.57 3310053 Wolf body £24.95 
3296800 Ferrari 330 1/10th body £21.57 3310054 Spring 1/8th off road body £33.04 
3301005 Diff gear £8.25 3310068 Radio plates carbotec £33.04 
3301006 Diff input gear £12.40 3310071 Differential front or rear £57.96 
3301007 Pin 3x21.8 mm £3.40 3310072 Starting strap device £29.00 
3301010 Rear pinion £16.50 3310073 Set of strap plastic part £18.14 
3301014 Drive cup 5 mm £6.75 3310074 Body mount extensions £7.75 
3301015 Drive shaft £10.14 3310075 Needle bearing pull start £7.69 
3301020 Brake lever £1.89 3310094 Linkage set £6.53 
3301028 Lower wishbone Garbo £6.55 3310103 Diff internal gears £38.08 
3301029 Top wishbone Garbo £5.95 3310104 Centre diff Lancia / Amika £64.58 
3301032 Front spindle £6.75 3310105 Gear for middle diff £6.22 
3301033 Rear hub carrier £10.14 3310166 Carry handle Lancia / Amika £9.84 
3301034 Steel wheel axle Garbo £6.95 3332001 Ball bearings 5x11x3 mm £13.18 
3301043 Support shock absorbers £9.84 3333000 32 Gear Ghibli £16.58 
3301044 Shock absorber pin support £3.40 3334000 Ergal gear Garbo £19.40 
3301045 Shock absorber £19.99 3339000 Garbo 32T Diff Bevel Gear £16.58 
3301046 Shock absorber spring £3.40 3339001 33 Gear Ghibli £16.58 
3301048 Shock adjusting nut £3.16 3341000 UJ Ghibli £39.73 
3301050 Track rod & ends £5.95 3349000 Ribbed front tyres £16.58 
3301053 Toe in/out adjuster £7.44 3361000 Clutch bell 15T for bearings £14.49 
3301054 Steering linkage 3x50mm £8.25 3361002 Clutch bell 16T for bearings £14.49 
3301055 Steering arms £6.75 3390000 Ghibli 1/8th off road body £33.04 
3301060 Servo mounts £4.43 3396000 Mitika body £22.00 
3301063 Front bumper £7.14 3890000 Monster truck Wheels & tyres £22.44 
3301064 Rear bumper £6.75 3910000 Rally tyres & hubs Red /Soft17mm hex £17.76 
3301071 Ball bearing 7x19x6mm £11.65 3911000 Rally Tyre & hubs glued V2 Blue £17.76 
3301072 Bearing 12x21x5mm £11.65 3914000 Rally tyres & hubs Black thermic £24.11 
3301083 Body post 30mm £5.25 3926000W Rally tyre & hubs Front/hard 17hex £14.95 
3301085 Servo arm h/duty Sanwa £2.64 3926000Y Rally tyres & hubs  front/ hard 17mm hex £14.95 
3301091 Central diff housing 2wd ghibli £8.94 3927000W Rally tyres & hubs Rear/Soft 17 hex £14.95 
3301522 50T centre gear £7.50 3927000Y Rally tyres & hubs Rear/soft 17mm hex £14.95 
3301574 Ghibli hubs £13.51 3928000W Rally tyres & hubs  rear/ soft pin drive £13.95 
3302150 Ball bearing set £26.42 3929000W Rally tyres & hubs  front/ hard pin drive £13.95 
3303027 Ghibli wishbone supports £11.94 3929300 Set 4 Wheels & Tyres for 10th road £29.00 
3303028 Ghibli bottom wishbone £8.25 3940000W Star pin eco hub & tyre 17mm hex £14.95 
3303029 Ghibli front upper wishbone £8.25 3940000Y Star pin eco hub & tyre 17hex £14.95 
3303030 Ghibli rear upper wishbone £8.25 3944000W Start pin evo hub & tyre pin drive £14.95 
3303048 Adjuster ring for shock absorber £3.40 3945000W Star pin B comp  hub & tyre 17 hex £17.76 
3303050 Uniball 6mm £2.24 3945000Y Star pin B comp hub & tyre 17hex £17.76 
3303054 Track rods £8.25 3945500W Double pin hub & tyre 17hex £17.76 
3303057 Linkage set £6.40 3945500Y Double pin hub & tyre 17hex £17.76 
3303058 Steering linkage servo £6.40 3950000Y Double pin Off-Road £16.77 
3303083 Body posts 65mm £4.25 3999010 1/10th Road tyres eco front £7.04 
3303650 Springs 1.3mm £5.64 3999011 1/10th Road tyres eco rear £7.04 
3303652 Silicone oil yellow 200wt £6.00 3999015 1.10th Tyres pro A compound £9.95 
3303653 Silicone oil orange 750wt £6.00 3999016 1/10th Tyres Pro B compound £7.04 
3303654 Set 3 silicone oils £67.57 3999017 1/10th Tyres Pro C compound £21.57 

24 January 2019 Page 28 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
685047 Buggy air filter £9.75 746001300 Front axle F40 £10.35 
700002322 Collar 3.2 mm £3.98 747000200 Bearing 5x16x5mm £9.78 
700002422 Rubber bands £10.35 747000300 Bearing 5x11x3 £11.52 
700002696 Washer 2.6 mm £2.56 747000400 Bearing 5x13x4mm £8.20 
700020363 McLaren body £34.76 747000500 Bearing 10x22x6mm £9.84 
700020370 Camaro body £34.76 747001300 Ally needle bearing 5x8x10 mm £6.53 
700020950 Tyre truer £115.82 747001600 Ball bearing 7x19x6 mm  £8.26 
700020951 Adapter fro Manta Indy £11.37 747001700 1 way pin-bearing 6x10x12mm £14.83 
700020952 Adattatore Space £16.46 747002100 Ball bearing 10x19x5mm £8.20 
700020953 Adaptor SG PB Blitz £16.46 747002300 Ball bearing 12x21x5 mm £9.84 
700020955 Adaptor Serpent £16.46 747008000 One way bearing 10x14x12mm £18.62 
700024213 Crown Gear 56T £7.95 74751000 Ergal Disc £7.08 
702500000 Plastic tie wraps £3.08 748070500 Grub screw 4mm £3.75 
703301044 Shock absorber pin 15 mm £5.18 748072500 Grub screw 4mm £4.90 
703301083 Rear pillar £3.10 748090100 Circlips 3mm £2.94 
703301089 Self tapping screw 3 £2.57 748090200 Circlip 4 mm £2.94 
703662000 Shock absorber oil £3.10 748090500 Circlip 5 mm £2.94 
707200000 Calibra Circuit body £28.06 748091000 Circlip 6mm £2.94 
707300000 Black One Circuit Body £28.06 748091500 Circlip 7mm £2.94 
707320000 Spoiler benetton £6.53 748092500 Circlip 8 mm  £2.94 
707330000 Front nose benetton £6.53 748093000 Circlip 10mm £2.94 
707340000 Benetton body £28.06 748093700 Circlip 8 mm £2.94 
707360000 Ferrari body £28.06 748100100 Washer 4 mm £2.94 
707370000 Front wing Ferrari £6.53 748101100 Washer 5 mm £2.94 
707380000 Rear spoiler £6.22 748101500 Washer 3 mm £2.94 
707390000 Porsche 962 body £33.04 748101700 Washers 10x16x0.3 mm £7.90 
707580000 SG Lola lexan 1/8 £18.92 748101900 Steel washer 5x10x0.2 mm £2.94 
708130000 Antenna tubing £1.65 748102500 Washer 7x14x0.5 mm £2.64 
708230000 Front shocks Space kit £49.58 748110500 Pin 2.5x15.8 mm £2.99 
708240000 Rear shocks Space kit £49.58 749009000 Crown gear 48T £5.44 
708320000 Filter aria £7.50 749009100 50T Gear £8.25 
708800003 Pinna -timone Saphir £13.18 749505100 Uniball 6 mm £6.95 
708800004 Venus plastic sprue set £13.18 749505200 Steering rod 3x60 mm £5.64 
708800006 Vele saphir £30.00 749505300 Rod 3x10  mm £4.90 
709240000 Decals Renault Turbo £2.98 751003100 Front stub axles Tiger £13.41 
709310000 Extreme stickers £6.53 751005600 Front stabilizer £11.25 
709330000 Decal  Unika £5.79 751010000 Tank £21.44 
709340000 Red-pro decal £6.53 751120400 Ball for uniball 6x17 mm £10.14 
709350000 Delta stickers £4.55 753000300 SG Tiger front lower wishbones £9.09 
709360000 Ferrari Stickers £6.53 753000400 SG Tiger front upper wishbones £9.09 
709360100 Ferrari Decals F1 £7.57 753002101 Bearing 7x19x6mm £4.43 
709380000 Benetton stickers £6.53 754000800 Front suspension pins £8.65 
709390000 Williams stickers £6.53 754002000 Front springs £8.65 
709670000 Decals Space £3.10 754002100 Rear spring £8.57 
709680000 Decal F40 £8.26 754003200 Ball housing £5.25 
709690000 Spring Decal Set £7.44 754007300 Belt 90 £6.55 
709700000 Calibra stickers £6.53 754007400 Belt 80 025 xl £7.14 
723000200 Energy fron Bumper £4.91 754007500 Belt 170 025 xl £7.14 
723000300 Energy front post £3.22 754009500 Front tyres £10.44 
723001400 Energy rear hubs £8.20 754009600 Rear tyres £11.94 
723001600 Energy rear tyres £11.52 754051000 Planet gears £13.89 
723003300 Energy pinion gear 14T £9.84 754210000 Torsen differential space £190.41 
723003400 Energy pinion gear 15T £9.84 754220001 Small flywheel nut £3.40 
723003600 Energy main gear 52 £4.91 754250000 Torsen differential space europa £190.41 
723003800 Energy servo saver set £6.95 755000100 Chassis Space Europa £49.58 
734500600 Stub axle £21.44 755000300 Low upper front axle £22.44 
734506100 Servo mounts £6.53 755000400 Central axle support £10.44 
734506200 Servo mount £5.38 755000500 Front axle 10x74 mm £14.99 
734561700 Rear hubs £8.20 755000600 Front axle spacers £6.40 
734563400 Front hubs £8.20 755000700 Front drive shafts £13.43 
735002000 Engine mounts £12.00 755000701 Hub axle £11.94 
735006100 12T Clutch bell  £8.69 755001000 Rear hub axle £13.43 
735006800 OPS flywheel £7.28 755001100 Rear swivel £10.14 
737007100 Low threaded nut 1/4x28 £4.91 755001200 Disk brake £4.14 
740000300 Starter wheel £9.00 755001300 Brake axle set £10.14 
745003701 Front pillar £3.22 755001400 Brake plate £5.64 
745003900 Front bumper £6.53 755001500 Pulley set £8.84 
745004800 Tank £10.27 755001600 Front lower arm £9.00 
745005200 Main gear 44T £8.20 755001700 Front upper arm £10.50 
745007700 Spacer 10x16x2 mm £2.90 755001800 Rear arm £13.51 
745008200 Kette £9.12 755001900 Rear suspension pin £12.00 
745009200 Rx pillar £5.38 755002000 Rear support £13.51 
745150000 Circlip 13mm £2.90 755002010 Front shocck absorber £28.52 
745751401 Camber tuning cam £5.38 755002020 Front shock absor.spring £3.75 
745752200 Roll bar £5.38 755002030 Front tuning nut £3.75 
745755900 rear suspension pins £3.75 755002040 Rear shock absorber £28.47 
745757000 P.T.F.E Clutch £7.87 755002050 Rear shock absor. spring £2.94 
745757001 Clutch springs £2.90 755002100 Shock ab.pin support 21 £2.94 
745757200 Pin 3x30mm £4.91 755002110 Shock ab.pin support 24 £2.94 
745757600 Quick change linkage £8.20 755002200 Body plate support £8.25 
745801600 Collar 6x13x6 mm £3.10 755002300 Radio plate £18.40 

24 January 2019 Page 29 of 68 



Mantua Model Retail Price List Part No. Product Description Retail 
755002400 Linkage set £8.94 782001900 Shock absorbers UNIKA £48.06 
755003000 Diff.support right-left £19.90 782002000 Central shock absorber UNIKA £17.95 
755003100 Front stub axle £14.99 782002300 Unika side shock parts £17.28 
755003200 Rear stub axle £10.14 782002400 Tuning washer for shockab £6.75 
755003300 Spacer 6x10x2 mm £2.94 782002500 Red spoiler UNIKA double wing £16.50 
755010100 Gear box axle 6x132 mm £13.43 782002600 Tank UNIKA £15.95 
755050000 Gear box engine brake sp. £187.99 782002700 Linkage set £6.95 
755050001 50T Crown gear £7.64 782002800 Red hubs UNIKA £9.39 
755050004 46T Crown gear £8.25 782002900 Unika Body £24.00 
755050005 Spacers 6x8x13 mm £8.25 782003500 Hard f&r shock absorber support £16.43 
755050006 Spacers 6x14x2 mm £4.90 782003600 Shock absorber support ally front £13.43 
755050007 Red-pro gear box poles £33.04 782003700 Side guards £14.94 
755050008 2nd gear holder £28.47 782003800 Servosaver ball £6.30 
755050009 1st gear holder £28.47 782500100 Delta chassis £63.07 
755050010 G.Box special axle 6x140 mm £28.47 782500200 Delta gear saver £5.94 
755050011 Small G.Box pulley £5.25 782500300 Delta main shaft £11.94 
755050012 13T pulley £5.25 782500400 Delta main gear holder £10.44 
755050013 14T Pulley £9.76 782500500 Delta brake support £10.44 
755050014 Pulley holder £9.08 782500600 Delta body pillars £8.65 
755050020 Speed box gear 43t. £7.64 782500700 Delta Roll bar pillars £8.65 
755050021 Speed box gear 47t. £7.64 782500800 Delta radio plate pillar £7.44 
755050100 Differential  crown gear 32 T. £5.64 782500900 Delta differential rear £63.07 
755050200 Complete differential £69.55 782501000 Delta pair of shockabsorbers £42.05 
755060000 Stabilizer £16.50 782501100 Delta tuning collars £4.43 
755070000 Front univ.joint space eu £41.38 782501200 Shock absorber top cap £3.95 
755080000 ball bearing pinion 15-18 £16.50 782501300 Gehaeuse lang £12.76 
755090000 Ball bearing pinion 15-19 £16.50 782501400 Circlip shocks £3.02 
755100000 Ball bearing pinion 16-19 £16.50 782501500 Plastic sprue £9.76 
755110000 Ball bearing pinion 16-20 £16.50 782502700 Delta gas linkage set £10.89 
755120000 Ball bearing pinion 17-20 £16.50 782502800 Delta hubs £10.44 
755130000 Ball bearing pinion 17-21 £16.50 782502900 Delta lexan body £33.04 
755200000 Shock absorbers for Space £22.00 782503100 Exhaust support £5.38 
755210000 Shock absorbers  £22.00 782503500 Axle 7x132 mm £9.95 
755220000 Front ergal ball joints £16.43 783000100 Red one pro chassis £126.08 
755230000 Rear ergal ball joints £14.94 783000200 Red rear stabilizer kit £8.25 
755240000 Third support space europ £12.95 783000300 Red rear support pair £17.94 
755250000 Ergal 75 milled chassis £129.15 783000400 Red pro plate support £8.95 
755260000 Ergal drive shaft £14.94 783000500 Red central shaft £11.94 
755290000 Spoiler kit £8.25 783000600 Red roll-bar £6.75 
756000200 Right & Left  Axle support £10.97 783000700 Red brake holder £8.65 
756000500 Brake pole F40 £3.40 783000800 Red front stabilizer £10.14 
756000700 F40 axle £11.94 783000900 Spacer 4x5x33 mm £5.25 
756000800 56T gear £8.25 783001000 Red rear axle £10.14 
756001500 Stub axles F40 £7.14 783001100 Red outcenter axle £8.11 
756002100 Roll bar F40 £6.40 783001200 Red steering rod kit £6.75 
756002200 Washer for piller £2.24 783001300 Red brake axle £10.14 
756002300 Rear hub £6.40 783001400 Red front axles £14.94 
756002400 Front hub £5.94 783001500 Red front wheel nuts £5.25 
756002800 Quick change £5.25 783001600 Red front lower arms £7.95 
756002900 Ball race set £10.14 783001700 Red front upper arms £8.65 
756003000 Kit aletone F40 £8.65 783001800 Red rear 4 arms £14.94 
763210000 Servo horn sanwa £2.24 783001900 Red shock absorbers £52.98 
781000100 Extreme Chassis £61.58 783001901 Red shock absorber cylinder £11.94 
781000200 Engine plate £12.76 783001902 Red shock absorber shafts £7.14 
781000500 Extreme 60T centre gear £8.65 783001903 Red shock absorber valves £4.43 
781000600 Extreme front to middle shaft £11.94 783002000 Red metal shock absorber support £8.65 
781000700 Extreme upper support £11.94 783002100 Red front joint £10.14 
781000800 Extreme rear axle £10.14 783002200 Red rear support plate £6.95 
781000900 Spacer £2.99 783002300 Red radio plate £41.96 
781001100 Roll bar pillar £6.99 783002400 Red/ Black one  front bumper £11.65 
781001200 Gear £6.40 783002500 Red metal body supports £17.28 
781001300 Glass fibre disc brake £10.89 783002600 Red steering linkage £8.25 
781002900 Extreme body £33.04 783002700 Red uniball body 6 pieces £8.25 
782000100 Knee chassis UNIKA £63.07 783002800 Red muffler support £5.64 
782000200 Front bumper UNIKA £12.00 783002900 Red 2x6x16 sheets £4.43 
782000300 Ergal disk-brake UNIKA £7.50 783003000 Red front support £21.78 
782000400 Support for brake cam £7.50 783003100 Red front spindles £13.43 
782000500 Shock support UNIKA £14.95 783003200 Red rear spindles £8.25 
782000600 U support centr.shockUNIK £6.75 783003300 Red-pro front hub £7.14 
782000700 Rear arms UNIKA £11.95 783003400 Red-pro rear hubs £7.14 
782000800 Antiroll-bar UNIKA £12.76 783003500 Red rear stiffening £7.14 
782000900 Antiroll-bar rods UNIKA £8.65 783003600 Red linkage kit £8.25 
782001000 Front arms UNIKA £11.95 783003700 Red rx-p.p supports £5.25 
782001100 Wheel adaptor tube £10.14 783003800 Red front wheel holder+bearing £18.02 
782001200 Nut+spacer UNIKA £5.94 783003900 Red front spacers £4.14 
782001300 Roll-bar pillars UNIKA £8.65 783004000 Red side body supports £6.40 
782001400 Radio plate UNIKA £48.06 783004100 Red spoiler supports £6.40 
782001500 Servosaver UNIKA £7.98 783005000 Red belt tensioner £12.66 
782001600 Uniball 6x17 mm £4.43 783005100 Red solid axle kit £41.30 
782001700 Antenna holder UNIKA £4.43 783005200 Red fiberglass disk £10.44 
782001800 Body holder UNIKA £7.44 783005300 Red ferodo disk £11.94 

24 January 2019 Page 30 of 68 


